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Chapter 0O
Real Numbers

Mathematics deals with different types of numbers:
N ={1,2,3,...}, the set of natural (counting) numbers;
Z=A{..,-3,-2,—-1,0,1,2,3,...}, the set of integers;
Q= {%:m,n € Z, n # 0}, the set of rational numbers (fractions);
R, the set of all real numbers.

Notice that NC Z € Q C R.

Remark: The decimal expansion of a rational number ends in a repeating pattern
of digits:
1/2 =0.5000...=0.50

1/3=10.3333...=0.3
2/7 = 0.285714285714 ... = 0.285714

Remark: The real numbers are those numbers like /2 = 1.414213562373 ... and
m = 3.1415926535897 . .. that do not end in a repeating pattern and thus cannot
be represented as a ratio of two integers.

0.1 Open and Closed Intervals

Let a,b € R and a < b. There are 4 types of (finite) intervals:

[a,b] ={z :a <z < b}, < closed (contains both endpoints)
(a,b) ={x:a < x <b},< open (excludes both endpoints)
[a,b) ={x:a <z <b},
(a,b] ={z:a <z <b}.
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It is convenient to also define:

0.2 Inequalities

e a<b=a+t+c<b+c

a<bandc<d=a+c<b+d

a<band c>0= ac < be

a<band c< 0= ac > be

O<a<b=1/a>1/b

e To determine the set of  values for which 22 — 5z 4+ 6 < 0, we factor 22 — 5z + 6 =
(x — 2)(x — 3) and consider the following table:

Interval |z —2 |2z —3 | (z —2)(x — 3)
T <2 - — +
2<r <3| + — —
x> 3 + + +

We thus see that 22 — 5z + 6 = (x — 2)(z — 3) < 0 if and only if 2 < z < 3, in
other words, when x € (2, 3).
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0.3 Absolute Value

The fact that for any nonzero real number either x > 0 or —x > (0 makes it convenient
to define an absolute value function:

2] = r if >0,
=Y —zif z<o.

Properties: Let x and y be any real numbers.
(A1) [a] = 0.
(A2) || =0 <= z=0.
(A3) |—z| = Ja].
(A4) |zy| = |z|[yl.

(A5) If a > 0, then
lz] <a<= —a <z <a.

Proof: First note the equivalence
z| <a <= 0<z<a or 0<—-z<a
<— —a<z<a.
(A6) —lz| < <|af.
Proof: Apply (A5) with a = |z|.

(AT)
|z +y| < |z|+|y|. (Triangle Inequality)

Proof:

—lz] <2 <]
— |yl <y <yl

(A6) = {

= —(lz|+y)) <z +y<|z|+ |yl =a
(A5) = |z +y| < |z|+ |yl

Remark: On letting y — —y, we can use (A3) to rewrite the Triangle Inequality as

lz —y| <z + |yl



10 CHAPTER 0. REAL NUMBERS

o If ju —1|< 0.1 and |v — 1] < 0.2 then

ju—vl=[(u=1) = (v =1 < Ju—1|+]v -1
<0.1+0.2=0.3.

Remark: For all real #, Va2 = |z| > 0. By definition, \/z and 2'/? denote the
non-negative square root of z. For example, v/4 = 2, not +2.

Remark: Note the following equivalences:

o |z2| =a < z=+q
o z|<a <= —a<z<uq

o [z|>a <= x< —aorz>a.

Problem 0.1: Find the set of z such that |z — 1| < x.

To handle the absolute value, we must break the problem into cases:
We know that the argument x — 1 of the absolute value is non-negative when x > 1. In
this case, the inequality reduces to
r—1<uz,

which always holds. The solutions set for this case is thus [1, 00).
In the remaining case, where x < 1, the inequality becomes

—x+1<zx,

which means that 1 < 2z, or equivalently, x > 1/2. But this is still under the restriction
that 2 < 1 so our solution set for this case is the interval [1/2,1).

The complete solution to the original inequality |z — 1] < z is the union of our two
solutions sets, namely [1,00) U [1/2,1) = [1/2,00).
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Functions

1.1 Examples of Functions

Definition: A function f is a rule that associates a real number y to each real
number x in some subset D of R. The set D is called the domain of f.

Definition: The range f(D) of f is the set {f(x) : x € D}.

e f(z) = 2% on domain D = [0, 2):
f(D)={2* :2€[0,2)} =10,4).
An equivalent definition is:

Definition: A function is a collection of pairs of numbers (z,y) such that if (x,y;)
and (z,ys) are in the collection, then y; = y,. That is,

Ty =23 = f(x1) = f(a2).

This can be restated as the vertical line test: an set of ordered pairs (z,y) is a
function if every vertical line intersects their graph at most once.

Definition: If a function f has domain A and range B, we write f : A — B.

Definition: Constant functions are functions of the form f(z) = ¢, where ¢ is a
constant.

e f(x) =1 1is a constant function.

11
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Definition: Polynomials are functions of the form
f(@) = anz™ + ap_12" "+ .. 4 ag2® + arz + ao.

When a,, # 0, we say that the degree of f is n and write deg f = n. While a
nonzero constant function has degree 0, it turns out to be convenient to define the
degree of the zero function f(x) =0 to be —oco.

o f(z) =2+ 1 and f(x) = 322 — 1 are polynomials of degree 2.

Note that a polynomial f(x) with only even-degree terms (all the odd-degree coef-
ficients are zero) satisfies the property f(—z) = f(z), while a polynomial f(z) with
only odd-degree terms satisfies f(—x) = —f(z). We generalize this notion with the
following definition.

Definition: A function f is said to be evenif f(—x) = f(z) for every z in the domain

of f.

Definition: A function f is said to be odd if f(—x) = —f(x) for every z in the
domain of f.

e The functions z, 22, and sinz are odd.

e The functions 1, 22, and cosz are even.

e The functions = + 1, logx, €* are neither even nor odd.

Problem 1.1: Show that an odd function f with domain R satisfies f(0) = 0.

P(z)

Definition: Rational functions are functions of the form f(x) = 0@’ where P(x)
T

and Q(z) are polynomials. They are defined on the set of all = for which Q(z) # 0.
e — and ————— are both rational functions.

Composition Once we have defined a few elementary functions, we can create new
functions by combining them together using +, —, -, =, or by introducing the
composition operator o.
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Definition: If f : A — B and g : B — C then we define go f : A — C' to be the
function that takes z € A to g(f(z)) € C.

(r) =2 +1 f:R —=[1,00),
(l‘) :2\/5 g: [1700) - [2700)7
g(f(x)) =2va?+1 gof:R—[200).

Note however that f(g(x)) =4z + 1, so that fog:[0,00) = [1,00).
flz)=a*+1 f:R—[1,00),

g(x):% g: [1700)%(071]:
g(f(x) ==  gof:R—(0,1].

One can also build new functions from old ones using cases, or piecewise definitions:

0 =<0,
flx) = % x =0,
1 z>0.

z x>0,

f("r):'x':{—a: z < 0.

Cases can sometimes introduce jumps in a function.

Problem 1.2: Graph the function

z ifo<z <1,
f(x)_{z—x ifl<z<2

Definition: A function is said to be increasing (decreasing) on an interval I if

vyel,x<y= f(z) < fly) (f(x) > f(y))

and strictly increasing (strictly decreasing) if
vy el <y= flx) <fly) (f(z)> fy)).

Note that a strictly increasing function is increasing.

1.2 Transformations of Functions

Transformations can be used to obtain new functions from old ones:
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e To obtain the graph of y = f(z) + ¢, shift the graph of f(z) a distance ¢ upwards.
e To obtain the graph of y = f(z —c), shift the graph of f(z) a distance ¢ rightwards.

e To obtain the graph of y = c¢f(x), stretch the graph of f(z) vertically by the factor
c> 0.

e To obtain the graph of y = f(z/c), stretch the graph of f(x) horizontally by the
factor ¢ > 0.

e To obtain the graph of y = — f(z), reflect the graph of f(x) about the z axis.
e To obtain the graph of y = f(—x), reflect the graph of f(x) about the y axis.

Problem 1.3: Sketch the graphs of |x — 1| and x on the same axes and use your
graph to verify the results of Prob. 0.1.

1.3 Trigonometric Functions

Trigonometric functions are functions relating the shape of a right-angle triangle to
one of its other angles.

Definition: If we label one of the non-right angles by 6, the length of the hypotenuse
by hyp, and the lengths of the sides opposite and adjacent to x by opp and adj,
respectively, then

sinf = opP
hyp’
adj

cosf = —J,
hyp
opp

tanf = —.
adj

Note here that since 6 is one of the nonright angles of a right-angle triangle, these
definitions apply only when 0 < 6 < 90°. Note also that tanf = sinf/cos6.
Sometimes it is convenient to work with the reciprocals of these functions:

1
0 —
¢ sinf’
1
0=
sec cosf’
1
cotd =

tan 6
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a

A
A
A

a b

Figure 1.1: Pythagoras’ Theorem

Pythagoras™ Theorem states that the square of the length ¢ of the hypotenuse of
a right-angle triangle equals the sum of the squares of the lengths a and b of the
other two sides. A simple geometric proof of this important result is illustrated in
Figure 1.1. Four identical copies of the triangle, each with area ab/2, are placed
around a square of side ¢, so as to form a larger square with side a + b. The area c?
of the inner square is then just the area (a + b)? = a® + 2ab + b* of the large square
minus the total area 2ab of the four triangles. That is, ¢? = a® + b%.

Remark: If we scale a right-angle triangle with angle ¢ and 90° — 6, so that the
hypotenuse ¢ = 1, the length of the sides opposite and adjacent to the angle
are sin @ and cos 6, respectively. Pythagoras’ Theorem then leads to the following
important identity:

Pythagorean Identities:
sin?@ + cos* 0 = 1. (1.1)

Other useful identities result from dividing both sides of this equation either by
sin? 6:
1 + cot? 0 = csc? b,

or by cos? §:
tan?6 + 1 = sec? .

Note that Eq. (1.1) implies both that |sin#| <1 and |cosf| < 1.

Definition: We define the number 7 to be the area of a wunit circle (a circle with
radius 1).
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Definition: Instead of using degrees, in our development of calculus it will be more
convenient to measure angles in terms of the area of the sector they subtend on
the unit circle. Specifically, we define an angle measured in radians to be twice'
the area of the sector that it subtends, as shown in Figure 1.2. For example, our
definition of 7 says that a full unit circle (360°) has area ; the corresponding angle
in radians would then be 27. Thus, we can convert between radians and degrees
with the formula

7 radians = 180°.

(x,y) = (cosf,sin )

--+— area ¢

(1,0) 2

Figure 1.2: The unit circle

The coordinates x and y of a point P on the unit circle are related to 6 as follows:

adj =«
cos = — =—=uz,

hyp 1
sinf = PP _ Y =y

hyp 1 ’

Complementary Angle Identities:

cos ) = sin <g —9),

cos <g — 9) = sin 6.

!The reason for introducing the factor of two in this definition is to make the angle = expressed in
radians equal to the length of the arc it subtends on the unit circle, as we will see later using integral
calculus, once we have developed the notion of the length of an arc. For example, the circumference
of a full circle of unit radius will be found to be precisely 2.
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Supplementary Angle Identities:
sin(m — ) = sin 6,
cos(m — 0) = — cos 0.

Symmetries:
sin(—f) = —sin 4,
cos(—0) = cos b,
sin(f + 27) = sin 0,
cos( + 2m) = cos 6.

Problem 1.4: We thus see that sinf is an odd periodic function of # and cos# is
an even periodic function of 8, both with period 2. Use these facts to prove that
tan @ is an odd periodic function of € with period .

Special Values:
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Addition Formulae:

Claim:
cos(A — B) = cos A cos B + sin Asin B.

Proof: Consider the points P = (cos A,sin A), @ = (cos B,sin B), and R =
(1,0) on the unit circle, as illustrated in Fig. 1.3. We can use Pythagoras’ Theorem
to obtain a formula for the length (squared) of a chord subtended by an angle:

@2 =(1—cosB)? +sin? B=1—2cos B +cos’ B +sin’ B=2—2cos B.

For example, since the angle subtended by PQ is A — B,

P_Q2 =2 —2cos(A — B).
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P = (cos A,sin A) Q = (cos B, sin B)

Figure 1.3: The unit circle with points P = (cos A,sin A), @ = (cos B,sin B), and
R=(1,0)

Alternatively, we could compute mz directly:

P_Q2 = (cos A — cos B)? + (sin A — sin B)?
= cos® A — 2cos Acos B + cos® B + sin® A — 2sin Asin B + sin® B
=2 — 2(cos Acos B + sin Asin B).

On comparing these two results, we conclude that

cos(A — B) = cos A cos B + sin Asin B.

The claim thus holds.

Remark: Other trigonometric addition formulae follow easily from the above
result:

cos(A+ B) = cos(A — (—B))
= cos A cos(—B) + sin Asin(—B)

= cos Acos B — sin Asin B.

sin(A + B) = cos [g —(A+ B)}

coS [(g — A> — B]

= cos <g — A) cos B + sin (g — A) sin B
= sin A cos B + cos Asin B.
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sin(A — B) =sin(A — (—B))
= sin A cos(—B) + cos Asin(—B)

= sin Acos B — cos A sin B.

sin(A+ B)  sin Acos B 4 cos Asin B
cos(A+ B)  cos Acos B — sin Asin B
(sin A cos B + cos Asin B) - —

cos Acos B

- (cos Acos B — sin Asin B) - —

cos Acos B
tan A + tan B ided A, B, A+ B t odd multiples of T
= roviae s s are not o multiples o1 5.
1 —tan Atan B’ prov P 2

tan(A + B) =

Double-Angle Formulae:

sin2A = sin(A + A)
=sinAcosA +sin Acos A
= 2sin Acos A.

cos2A = cos(A + A)
=cosAcos A —sin Asin A
=cos’ A —sin’ A

=cos® A — (1 —cos® A)

=2cos’A—1
=(1—sin®?A) —sin® A
=1—2sin? A.

Also, if A is not an odd multiple of 7/4 or 7/2,

tan2A = tan(A + A)
_ tanA+tan A

1 —tanAtan A
2tan A

Tl _tan? A’

Inequalities: We have already seen that [sinz| < 1 and [cosz| < 1. Our develop-
ment of trigonometric calculus will rely on the following additional key result:

sine <z <tanz forall x € [O, g) .
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B D

A I3 C

Figure 1.4: Geometric proof of sinx < z < tanx

We establish this result geometrically, referring to the arc of unit radius in
Fig 1.4. The shaded area of the sector ABC' subtended by the angle = (measured
in radians) is /2. Since BE = sinz and DC' = tanz, we deduce

Arean , . < Areagector,pe < Arean , .

1 1
= 5(1)sinx < g < 5(1)tanx

=sinz <z <tanzx forall z € [O,g) .

Problem 1.5: Verify that the graphs of the functions y = sinz, y = cosx, and
y = tanx are periodic extensions of the illustrated graphs.

) sin

1
_ _T s
™ D) 5 T v

—1

1 COS T
™ T xZ
-1
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‘tanw
_ T X
2 2

Problem 1.6: Verify that the graphs of the functions y = cscz = 1/sinz, y =
secx = 1/cosx, and y = cotx = 1/tanz are periodic extensions of the illustrated
graphs.

Y

cscx/

T

—T T
y sec x

E
NE
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cotx

1.4 Exponential and Logarithmic Functions

The graph of the natural exponential function e*, sometimes written exp(x), is shown
below:

Remark: Notice that ¢* > 0 for all real .

The inverse of the exponential function is the natural logarithm log x, sometimes
written Inx. It is defined for all positive x:
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Y log x

Remark: There are other exponential function (e.g. 10* or 2%) corresponding to other
choices of the base (e.g. 10 or 2). The natural logarithm corresponds to the base

e ~ 2.718281828459. . ..

Definition: The general exponential function to the base b is defined as

h* = ¥ logb

(We use the symbol = to emphasize a definition, although the notation := is more

common. )

Remark: For a positive base b and real x and y:

1. b+ = bobY.,
L, b

Z.b 'y:@'

3. (b)Y = by,

4. (ab)® = a®b®.

Remark: We can also define a logarithm function to the base b:

Remark: If z, y, and b are positive numbers,
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1. log,(zy) = log, x + log, y.

2. log, <£> = log, x — logy .
Y

3. log, (") = rlog, .

1.5 Induction

Suppose that the weather office makes a long-term forecast consisting of two state-
ments:

(A) If it rains on any given day, then it will also rain on the following day.
(B) It will rain today:.

What would we conclude from these two statements? We would conclude that it
will rain every single day from now on!

Or, consider a secret passed along an infinite line of people, P/ P ... P,Pyyq ...,
each of whom enjoys gossiping. If we know for every n € N that P, will always pass
on a secret to P,,1, then the mere act of telling a secret to the first person in line
will result in everyone in the line eventually knowing the secret!

These amusing examples encapsulate the axiom of Mathematical Induction:
If a subset S C N satisfies
(i) 1 €S,
(i) keS=k+1€S,
then § = N.

For example, suppose we wish to find the sum of the first n natural numbers.
For small values of n, we could just compute the total of these n numbers directly.
But for large values of n, this task could become quite time consuming! The great
mathematician and physicist Carl Friedrich Gauss (1777-1855) at age 10 noticed that
the rate of increase of the terms in the sum

1+24+...4+n
could be exactly compensated by first writing the sum backwards, as

n+n—1)+...+1,
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and then averaging the two equal expressions term by term to obtain a sum of n

identical terms:

n+1+n+1+ +n+1 n+1
=n .
2 2 2 2

[\ J/
-~

n terms

We will use mathematical induction to verify Gauss’ claim that

n

1+2+...+n52¢:

=1

n(n+1)
—

Let S be the set of numbers n for which Eq. (1.2) holds.
Step 1: Check 1 € S:

| — 1(1+1) _1
2
Step 2: Suppose k € S, i.e.
Ek:@'— k(k + 1)
2

Then

Hence k+1 € S.
That is, ke S=k+1€S.

By the Axiom of Mathematical Induction, we know that S = N.

In other words,
n

1
Zi:@, for all n € N.

i=1

e Prove that for all natural numbers n,

Zn:i3 ~ nP(n+1)?
1 =1 N 4 '

(1.3)
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Step 1: We see for n = 1 that 1 = 1%(1 4 1)?/4.

Step 2: Suppose

Then

S it = (if’) +(n+1)°

i=1 =1

2 1 2 1 2
(n+1)%(n +2)?

Hence by induction, Eq. (1.3) holds.

Problem 1.7: Use induction to prove that 22" — 15 is a multiple of 7 for every natural
number n.

Step 1: We see for n = 1 that 22 — 15 = 7 is a multiple of 7.
Step 2: Assume that 22" — 15 is a multiple of 7, say 7m. We need only show that
227+l _ 15 is also a multiple of 7:

22" 15 =922".22 — 15 = (Tm +15)-22 — 15 = Tm - 22+ 15-21 = 7(m - 22 + 15 - 3),

which is indeed a multiple of 7. By mathematical induction, we see that 22™ — 15 is multiple
of 7 for every n € N.

1.6 Summation Notation

Recall
n(n+1)

2

k=n
k=14+24...4+n=

k=1

k=n
Q. What is » k?
k=0

A.
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k=n-+1
Q. How about » ~ k?
k=1

A.

_2”: k:(_nk>—|—(n+1):w+n+1:(n+l)(n+2).

k=1 k=1

k=n

Q. How about Z(k +1)?

A.
Method 1
k=n k=n k=n
n(n+1) n(n + 3)
E+1) = k l=—— S
D (k4D =D ket ;=
k=1 k=1 k=1
Method 2: First, let &' =k + 1
k=n =n+1
NI
k=1
Next, it is convenient to replace the symbol &’ with & (since it is only
a dummy index anyway):
=n+1 k=n+1 k=n+1
(n+1)(n+2) n(n + 3)
K = k= El-1= —1= .
DI N ;
In general,
k=U k=U+m
S = Y
k=L k=L+m
Verify this by writing out both sides explicitly.
Problem 1.8: For any real numbers ay, as, ..., a,, by, b2, ..., b,, and ¢ prove that

Z ak—i-bk —cZak+chk

k=1
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e Telescoping sum:

n

n n
E (@k+1 - ak) = E Qp4+1 — E Qg
k=1 k=1

k=1
n+1 n
=2 =D
k=2 k=1

= ¥Gk+an+l - <a1 ‘f‘gak)
Lo Lo

= Qp41 — A7



Chapter 2
Limits

2.1 Sequence Limits

Definition: A sequence is a function on the domain N. The value of a function f at
n € N is often denoted by a,,

a, = f(n).

The consecutive function values are often written in a list:

{an}o2, ={ai,as,...} < Repeated values are allowed.

a, = f(n) =n?
{an}2, ={1,4,9,16...}.

The Fibonacci sequence,
{1,1,2,3,5,8,13,21, ...},

begins with the numbers 1 and 1, with subsequent numbers defined as the sum of
the two immediately preceding numbers.

{cos(nm)}o2 s ={(—=1)"}y ={1,—-1,1,—1,...}.

{sin(nm)}>>y =1{0,0,0,0,...}.

(=)™ ™ 1 11
P S ={-1,=,—=, = ...\
n 1 27 34
Notice that as n gets large, the terms of this sequence get closer and closer to
zero. We say that they converge to 0. However, a,, is not equal to 0 for any n € N.

We can formalize this observation with the following concept:

29
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Definition: The sequence {a,}22, is convergent with limit L if, for each € > 0, there
exist a number N such that
n>N=la,—L| <e.
We abbreviate this as: lim a,, = L.
n—0o0

If no such number L exists, we say {a, }°°, diverges.

Remark: The statement lim a, = L means that |a, — L| can be made as small as
n—o0

we please, simply by choosing n large enough.

Remark: Equivalently, as illustrated in Fig. 2.1, lim a, = L means that any open
n—oo

interval about L contains all but a finite number of terms of {a, }5°;.

Remark: If a sequence {a,}>°, converges to L, the previous remark implies that
every open interval (L — €, L + ¢€) will contain an infinite number of terms of the
sequence (there cannot be only a finite number of terms inside the interval since a
sequence has infinitely many terms and only finitely many of them are allowed to
lie outside the interval).

2k
|
ay, !
|
L. i ap =141 e=1
,,,,,:4,,,,,,,,,,,,§ct€,,
L : .....’00.0000
|
|
: L—c¢
|
|
|
|
o
2 isz n

Figure 2.1: Limit of a sequence

o Leta,=1, forallneN
e {1,1,1,...}.
Let € > 0. Choose N = 1.
n>1=la,—1=1-1=0<e.
That is, L = 1. Write lim a, = 1.

n—oo
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Remark: Here N does not depend on €, but normally it will.

e The sequence a, = — converges to 0 since given € > 0, we may force |a, — 0] < €
n

1
for n > N simply by picking N > —:
€

SRS
AN

n>N = |a,—0|=

® , —
n
1" 1
1iman:Osince|an—0\:‘( ) =—<—ifn>N.
n—00 n n N
1
So, given € > 0, we may force |a,, — 0| < € for n > N simply by picking N > — :
€
1 1
>N=la,—0l=—-—<—=<e
" la | n N_E

1 . .
e The sequence a,, = converges to 0 since given € > 0, we may force |a,, — 0] < €
n

1
for n > N simply by picking N > —:
€

>N = | 0] ! <1<1<
n - _ ~ €
" “ n+1 n N
Problem 2.1: Show that the sequence
n
ay =
n+1

converges to 1.

1
Given € > 0, we may force |a, — 1| < € for n > N simply by picking N > — :
€
n n n+1 1 1 1
>N =lan — 1] = -1 = - = <-<—-<e
" [an | ’n+1 ’ n+1 n+1‘ n+l n N_E

Thus lim,, oo nL-I—l =1.
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Remark: Such limit calculations can quickly become quite technical. Fortunately,
many limit questions can be greatly simplified using the following properties.

Properties of Limits: Let {a,} and {b,} be convergent sequences. Denote
L = lim a, and M = lim b,.

n—o0 n—oo

lim (a, + b,) = L + M,

n—oo

lim a,b, = LM,
n—o0
. a, L.
g, T M A

e An easier way to show that lim = 1 is to use the fact that the limit of a
n—oo 1, +

difference is the difference of limits, provided that each individual limit exists:

. n n+1-—-1 . n—+1 1
lim = lim ——— = lim —
1
~ fim 2 — lim 1 — lim —1-0=1.
n—)oo?’L—I—l n—oo 1, + n—o00 n—)oon—{—l

e Another way to show that lim
n—oo 1, +

the highest power of n appearing (in this case, n') and use the fact that the ratio
of limits is the limit of the ratio, provided that each individual limit exists:

= 1 is divide numerator and denomator by

lim 1
. . 1 n—oo
lim = lim = —
n—oom + 1 n—><>01—l—1/n lim 1+1/n

n—00
1 1 1
p— N pr— " pr— p— 1'
1+ lim1l/n 1+ lml/n 140

Problem 2.2: Show by first dividing numerator and denominator by n? that

2n?—5 2

m —-—-——————- = .
n—oo 3n? +n + 1 3
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Problem 2.3: Find lim (\/n—i- - \/ﬁ>

s
We find
. . n+1++vn
i (VT = vi) = i (Va1 - yan YT
1
:nli)n;o(n+l—n) . —\/m+\/ﬁ
) 1
RV Y

=0
since the final fraction is less than ¢ whenever n > 1/¢2.

Remark: The Squeeze Theorem states that if x, < z, < y, for all n € N and the
sequences {z,} and {y,} both converge to the same number ¢, then {z,} is also
convergent to c.

—1)"
e The Squeeze Theorem provides an alternative means to show lim a, = ) =0
n—o00 n
Since
(=™ 1
n n n
. 1 .1 .1
and lim —— = — lim — = —0 = 0 = lim —, the Squeeze Theorem guarantees
n—o00 n n—oo N, n—oo N
_1)
that lim u = 0 too.

n— o0 n
Definition: A sequence is bounded if there exists a number B such that
la,| < B forall n € N.

Recall that this means that a,, lies within some interval (—B, B).

Definition: A sequence {a,}>°, is increasing if
a <ays<az< ..., ie a, <apyq forallneN

and decreasing if

ay > as >az > ..., ie. a, > a,yq forallm € N.

Definition: A sequence is monotone if it is either (i) an increasing sequence or (ii) a
decreasing sequence.

The following theorem can be helpful in establishing the convergence of monotone
sequences:
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Remark: Every bounded, monotone sequence is convergent.

e The sequence a, = 22_1“ =141/2+1/4+...41/2" is bounded below by 1

and above by 2. Since each new term in the sum is positive, a,, is also a monotone
(increasing) sequence and is thus convergent.

Problem 2.4: Let x € [0, 1]. Consider the sequence {a,}>° ; defined inductively by
a; =z, and a,11 = a,(l — a,) for n > 1.

(a) Show that {a,}5%, is a decreasing sequence.

An+1 — Qp = —ai <0.

(b) Prove that {a,}52, is bounded.

We show that 0 < a,, < 1 for all n. For n = 1, we are given that a; = x € [0, 1]. Suppose
that 0 < a, < 1. Then 0 < 1 —a, < 1 and hence a,4+1 = a,(1 — a,) is also in [0,1]. By
induction, we see that a,, € [0,1] for all n.

(c) Does {a,}>, converge? Why or why not? If it does converge, find its limit.

The sequence converges because it is a decreasing bounded sequence. To find the limit,
let

L= lim a,.
n—oo

The sequences {a,+1} and {a,} converge to the same limit since n + 1 — 0o as n — 0.
Hence

L= nh_}ngo pt1 = nli_g)lo[an(l —ap)] = nh_{r;o an nli_}ngo(l —ap)=L(1-L)=L-L"

This implies that L? = 0, from which we deduce lim a,, = 0.
n—oo

2.2 Function Limits

Consider the function f(z) = 1 (z #0).

Notice that as x gets large, f(x) gets closer to, but never quite reaches, 0, very
much like the terms of the sequence {%} as n — o0o. In fact, at integer values of z, f
evaluates to a member of the sequence {1}:

1
f(n)=——0 asn— oc.
n
Unlike a sequence, f is defined also for nonintegral values of x. We therefore need to

generalize our definition of a limit:
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Definition: We say lim f(z) = L if for every ¢ > 0 we can find a real number N
Tr—r00

such that
r>N=|f(z)-L|<e

o Let f(x) =1/z. Given any € > 0, we can make

1

T

-1
N

= €

|f(z) = 0] =

1
for x > N simply by picking N = —.
€

Hence lim f(z) =0.

T—00

. 1 77'
lim tan™" 2z = —.
T—r00 2

Remark: As with sequence limits, we have the following properties:

Properties: Suppose L = lim f(z) and M = lim g(x). Then
T—r00 T—00

lim (f(2) +g(x)) = L+ M,

lim f(x)g(x) = LM:;

Tr—r00

. f(x) L .

lim 2 = = if M +£0;
shoo g(z) M 7 0;

Remark: We can also introduce the notion of a limit of a function f(x) as x ap-
proaches some real number a.

e Cnsider the function f(z) = sinx. Notice for all real numbers near x = 0 that sinx
is very close to 0. That is, if § is a small positive number, the value of sin z is very
close to zero for all z € (—4,d). Given € > 0, we can in fact always find a small
region (—d,0) about the origin such that

xr € (—0,0) = |sinz| < e.

For example, we could choose d = € since we have already shown that |sinz| < |z|
for all real x:
|z] < = |sinz| < |z| <d=e.

We express this fact with the statement lir% sinx = 0.
T—
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Definition: We say lim f(x) = L if for every ¢ > 0 we can find a § > 0 such that
T—a

O<l|z—al<d=|f(z)—L|<e

Remark: In the previous example we see that a = 0 and the limit L is 0. Notice in
this case that lin% f(z) = 0 = f(0). However, this is not true for all functions f.
T—

The value of a limit as * — a might be quite different from the value of the function
at r = a. Sometimes the point a might not even be in the domain of the function,
but the limit may still be defined. This is why we restrict 0 < |z — a| (that is,
x # a) in the above definition.

Remark: The value of a function at a itself is irrelevant to its limit at a. We don’t
need to evaluate the function at * = a any more than we need to evaluate the
function f(z) = 1/x at x = oo to find lim f(x) = 0.

T—r 00

o Let
f(x):{x if x >0,

—x ifz<O.

When we say lin% f(z) = 0 we mean the following. Given € > 0, we can make
z—

|[f(x)] < e

for all z satisfying 0 < |x| < & just by choosing 6 = e. That is,

0< 2| <8 |f(2)|=|z| <b=e

e How about

z if x >0,
f(x):|x|:{0 if =0,
—zr ifx <O,

Is lir% f(z) =07 Yes, the value of f at z = 0 does not matter.
T—

e Consider now
x if x >0,
f(!E):{l if x =0,
—x ifx <.

Is lir% f(z) = 0?7 Yes, the value of f at x = 0 does not matter.
T—
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0 ifz <0,
f(x)Z{l if =0,

o Let

2
1 ifz>0.

This function is defined everywhere. Does lim, o f(z) exist?

No, given € = =, there are values of x # 0 in every interval (—§,d) with very

1
29
different values of f:

Thus lir% f(z) does not exist.
T—

e Let f(z) = 7x — 3. Show that lin% f(z) =4.
T—r
Let € > 0. Our task is to produce a § > 0 such that

O<lz—1]<d=|f(z)—4| <e.

Well, |f(z) —4| = |Tx =7 =T]z — 1] < 76.
How can we make |f(z) — 4| < €?
No matter what € we are given, we can easily choose § = €/7, so that 7§ = e.

Q. Suppose

f(x):{7x—3 x # 1,

) r =1
What is lim f(x)?
z—1

A. The limit is still 4; the value of f(x) at z = 1 is completely irrelevant. The
function need not even be defined at x = 1.

Remark: lim describes the behaviour of a function near a, not at a.
r—a

o Let f(z)=2% z €R.
Show 1iII:13 f(z)=09.

|z =3[ <d=|f(z) =9 =|2>—9| =z —3||z+ 3] = |z — 3||z — 3+ 6]
< (6 +6) from the Triangle Inequality.
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We could solve the quadratic equation (04 6) = €, but it is easier to restrict § <1
so that .
3(0+6)<o(1+6)=T0<e if §< =

Note here that we must allow for the possibility that § < €/7 instead of just setting
d = €/7, in order to satisfy our simplifying restriction that ¢ < 1.
Hence
|z — 3| < min (1,;) = |f(z) —9| <e

o Let f(x) =12, 2#0.
1
Show lim f(x) = —.
r—2 2

Given € > 0, try to find a § such that

1
O<|x—2|<5:>'f(x)—§ < €.
1 1 1 2 —
Note f(a:)—i‘: 5—5‘: Qxx becomes very large near x = 0.

Is this a problem? No, we are only interested in the behaviour of the function
near r = 2.

Let us restrict 6 < 1, to keep the factor 2z in the denominator from getting really
small (and hence the whole expression from getting really large). Then

1
lzr-2|<1l=-1<zr-2<1=1<zx<3=-<L1
xr

1
2

1 1

if we take § = min(1, 2e).

2—x
2x

Properties: Suppose L = lim f(z) and M = lim g(z). Then
Tr—a

r—a

lim(f(z) + g(z)) = L + M,

T—a

lim f(x)g(x) = LM;

T—a
_flx) L '
ill}}bg(l') _]\4lf]w?é07

Remark: If M = 0, we need to simplify a result before we can use the final property:
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r—1 r—1 1 lim 1 1

lim —— = lim = lim = = —.

e=o122—1 2=l (x—1)(z+1) =21 (x+1) lirr%(x +1) 2
T—

Remark: The Squeeze Theorem for Functions states that if f(z) < h(z) <

when z € (a — §,a + 0), for some § > 0, then

lim f(z) = lim g(z) = L = lim h(z) = L.

T—ra T—a T—ra

Remark: If a > 0, then lim v/z = v/a. To see this, consider

Tr—a

0< |VE - val = |VE - val - Y- 2o kol

The Squeeze Theorem then implies that
lim }\/_ —Va ‘ =0,
Tr—a

or equivalently,

lim (vz —+/a) = 0.

r—a
Thus

lim v/z = lim v/a.

r—a r—a

Remark: Similarly, it can be shown that

lim /g ‘ /hm g(x
r—a

for any non-negative function g(z).

39

9()

Problem 2.5: Let f(z) > 0 be a positive function, defined everywhere except perhaps

at x = 0. Suppose that

916% (f(:c) + ﬁ) = 2.

Prove that liH(l] f(z) exists and equals 1. Hint: First note that
T—

1 1\
im T = 4| lim T .
i%( o= f(:v>> M( o= f(x))

Then sum these two expressions to find liH(l) Vv f(x).
T—
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Definition: If for every M > 0 there exists a § > O such that z € (a — d§,a + 6) = f(x) > M,
we say lim f(z) = oc.
Tr—a

Definition: We say lim f(z) = oo if for every M > 0 we can find a real number N

r—r00
such that
x> N = f(x) > M.

lim e* = oo.
Tr—r 00

2.3 Continuity

Definition: Let D C R. A point ¢ is an interior point of D if it belongs to some
open interval (a,b) entirely contained in D: ¢ € (a,b) C D.

1
._

1 9
1072’

)70 2T interior points of [0, 1] but 0 and 1 are not.

[GVIN )

e All points of (0,1) are interior points of (0, 1).

Recall that the value of f at x = a is completely irrelevant to the value of its limit
as r — a. Sometimes, however, these two values will happen to agree. In that case,
we say that f(x) is continuous at x = a.

Definition: A function f is continuous at an interior point a of its domain if

lim f(z) = f(a).

r—a

Remark: Otherwise, if

(a) the limit fails to exist, or

(b) the limit exists and equals some number L # f(a),

the function is said to be discontinuous.
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Remark: f is continuous at a <= for every € > 0, there exists a 6 > 0 such that
[z —a| <d=[f(z) - fla)| <e

Note that when = = a we have |f(a) — f(a)]| =0 <e.

e f(z) = x is continuous at every point a of its domain (R) since limx = a = f(a)
T—a
for all @ € R.

e f(x) = 2? is continuous at all points a since
lim f(z) =lim2? = limz - limx = a-a = a® = f(a).

Tr—a r—a Tr—ra r—a

e Likewise, we see that every polynomial is continuous at all real numbers a.

Remark: Suppose f and g are continuous at a. Then f + g and fg are continuous
at a and f/g is continuous at a if g(a) # 0.

Remark: A rational function is continuous at all points of its domain.

1
e f(r) = — is continuous at all x # 0.
x
I .
o f(z)=— s continuous everywhere.
x
| .
o f(z)=— T i continuous on (—oo, —1) U (—1,1) U (1, c0).
2 —

e We have seen that lim /z = v/a. This means that f(z) = /7 is continuous at all
Tr—a
a> 0.

Remark: If g is continuous at a and f is continuous at g(a), then f o g is continuous
at a.

2.4 One-Sided Limits
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Definition: We write lim f(x) = L if for each € > 0, there exists § > 0 such that

z—at

O<z—a<d=|f(z)—L|<e
—_———

1.e. a<z<a+6

e For the function
1 ifx >0,

H@):{o if x <0,

we see that lim H(z) = 1.

z—0t

Definition: We write lim f(z) = L if for each € > 0, there exists § > 0 such that

T—a—

O<a—z<d=|f(z)—L|<e

e In the above example, we see that lim H(z) = 0.
z—0~

Remark: lim f(z) = L <— lim, f(z) = lim f(x)=L.

r—a T—a r—a~

Definition: A function f is continuous from the right at a if

lim f(z) = f(a).

z—a™t

Definition: A function f is continuous from the left at a if

lim f(z) = f(a).

Tr—a—

e f(x) = /x is continuous from the right at = = 0.

Remark: A function is continuous at an interior point a of its domain if and only if
it is continuous both from the left and from the right at a.

Definition: A function f is said to be continuous on |a,b] if f is continuous at each
point in (a,b) and continuous from the right at a and from the left at b.

e f(r) = \/x is continuous on [0, c0).
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Remark: Continuous functions are free of sudden jumps. This property may be
exploited to help locate the roots of a continuous function. Suppose we want to
know whether the continuous function f(z) = z® + 2? — 1 has a root in (0,1). We
might notice that f(0) is negative and f(1) is positive. Since f has no jumps, it
would then seem plausible that there exists a number ¢ € (0,1) where f(c) = 0.
The following theorem establishes that this is indeed the case.

Theorem 2.1 (Intermediate Value Theorem [IVT]): Suppose
(i) f is continuous on [a,b],

(ii) f(a) <y < f(D).

Then there ezists a number ¢ € (a,b) such that f(c) =y.

Problem 2.6: Show that f(z) = 2" + 2° + 2z — 1 has at least one real root in (0, 1).

Since f is a polynomial, it is continuous. Noting that —1 = f(0) < f(1) = 3, we then
know by the Intermediate Value Theorem that there exists an ¢ € (0, 1) for which f(c) = 0.

Problem 2.7: Let f(x) = 22% + 22 — 1. Show that there exists z € (0,1) such that
flw) = o

Consider the continuous function g(z) = f(z) —x. We see that g(0) = —1 and g(1) = 1.
By the Intermediate Value Theorem, there exists a point ¢ € (0,1) for which g(¢) = 0, so
that f(c) = c.
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Differentiation

3.1 Tangent Lines

Definition: Given a function f and a fixed point a of its domain, we can construct
the secant line joining the points (a, f(a)) and (b, f(b)) for every point b # a in the
domain of f. The precise equation for this line depends on the value of b:

y = fla) +m(b) - (z - a),

where the slope m(b) is
£(6) ~ f(a)

m(b) = b—a

o If f(x) = 22, the equation of the secant line through (3,9) and (b, b?) for b # 3 is
b’ -9
b—3

y=9+ (x —3).

Definition: The tangent line of f at an interior point a of its domain, is obtained as
the limit of the secant line as b approaches a:

y=fla)+m-(z—a),
where the limiting slope m is a number (independent of b):

T~ f@)

b—a b—a

o If f(x) = 22, the slope of the tangent line through (3,9) is

-9 . (b—3)(b+3)
m=lim s = lm—

The equation of the tangent line to f through (2,4) is thus
y=9+6(x—3).

— lim(b 4 3) = 6.
b—3

44
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3.2 The Derivative

Definition: Let a be an interior point of the domain of a function f. If
L) = f()
T—a T —a

exists, then f is said to be differentiable at a. The limit is denoted f’(a) and is
called the derivative of f at a. If f is differentiable at every point a of its domain,
we say that f is differentiable.

Written in this way, we see that the derivative is the limit of the slope

f(x) — f(a)

r—a

m(z) =

of a secant line joining the points (a, f(a)) and (z, f(x)), where  # a. The limit is
taken as x gets closer to a; that is,

f'(a) = lim m(z).

r—ra

Remark: Using the substition h = x — a, we see that

limm(x) =L <= limm(a+h) = L.

T—a h—0
This subsitution allows us to rewrite the definition of a derivative as

) — i 1) @) St h) = f(a)

T—a Tr— a h—0 h

e Let f(t) be the position of a particle on a curve at time ¢. The average velocity of
the particle between time ¢ and ¢ + h is the ratio of the distance travelled over the
time interval, h:

change in position  f(t + h) — f(t)
change in time h

(h #0).
The instantaneous velocity at t is calculated by taking the limit A — 0:

ft+h) - f(#)

: _
. h = [0
e If f(x) = ¢, where ¢ is a constant, then
. flath)—fla) .. c—c
/ _ . —
f(a)—}LlL% 7 —}ILILI%) : =0 forallaeR.
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e The derivative of the affine function f(x) = ma + b, where m and b are constants,
(the graph of which is a straight line) has the constant value m:
fla+h)— f(a) m(a+h) —

(Y — 1% — 1 —
fla=m=—— ~m— % "

In the case where b = 0, the function f(x) = mx is said to be linear. A function
that is neither linear nor affine is said to be nonlinear.

Remark: The derivative is the natural generalization of the slope of linear and affine
functions to nonlinear functions. In general, the value of the local (or instantaneous)
slope of a nonlinear function will depend on the point at which it is evaluated.

e Consider the function f(z) = 2. Then

iy Jlat+h) = f(a)
fa) —;133%) h
2
i @ER =0
h—0 h
. @ +2ha+ W= ¢
= lim
h—0 h
= lim(2a + h) = 2a.
h—0

We see here that the value of the derivative of f at the point a depends on a. Note
that

f'(a) <0 for a<0,
f'(a)=0for a=0,
f'(a) >0 for a > 0.

It is convenient to think of the derivative as a function on its own, which in general
will depend on exactly where we evaluate it. We emphasize this fact by writing
the derivative in terms of a dummy argument such as a or x. In this case, we can
express this functional relationship as f’(a) = 2a for all a, or with equal validity,
f(x) =2z for all .

o If f(z) = +/x, we find that

f/(x):hm—m'h_\/z:h (V:IH_ — VT Vath +\/_>
h—0 h h—0 h \/F_‘_\/_

. ($+h—$ 1 ) lim 1 1
= lim : = = .
h—0 h Vr+h+z =0T+ h+x 2T
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o Let f(x) = 2", where n € N. Then

h—0 h
" — "

= lim (z+h) *

h—0 h
e 7" 4na"th 4+ @m"”iﬂ +.. R — "
a0 h

—1

= lim |nz" ' + M:vn_Qh + ...+ ht

h—0 2
=nz"

Remark: An alternative proof of the above result relies on the factorization

" —a" = (v —a) (" 2" Pa+ 2" B 4 wd™ i a™ Y,

which may be established either by long division, summing a geometric series, or by

multiplying out the right-hand-side, exploiting the collapse of this Telescoping sum
to just two end terms:

n—1 n—1 n—1 n
(CL’ . a) a1k gk an—kak . an—l—kak—&-l _ Z 2Rk — Z L
k=0 k=0 k=0 k=1
=z" —a".

For example, when n = 2 we recover the result 22 — a? = (x — a)(z + a) and when

n = 3 we obtain 2% — a® = (v — a)(2? + azx + d?).

o If f(z) = 2", we then find that

f’(a) o }:E\I}l f(x:Z : 5((1)
= lim v

= lim (x”_l + 2" 204+ 2" 3+ .+ rad" T+ a”_l)

e We can compute the derivative of the function f(z) = 2'/" where > 0 and n € N



48 CHAPTER 3. DIFFERENTIATION

by applying the above factorization to z — a = (/)" — (a'/™):

F(a) = lim LD = 1@
r—a Tr — a
) wl/n _ al/n
= lim
T—a Tr—a
Il/n _ al/n
= lim
T—a (;Ul/n _ al/n)(x(n—l)/n + r(=2)/nql/n + ..+ rl/ng(n—2)/n + a("—l)/")
_ 1
lim 2=V 4 lim 2=/t 4 4 lim o/
T—a T—a T—a .
n t;?ms
_ 1 1
= hat—om "
1
= —ai_l
n

Remark: The derivative of an exponential function f(z) = b* can be found by using
the properties of exponentials:

. flx+h) = f(x) . b " |
/ T
f(x)_}blg(l) h —}lgr(l) h b }lzlg(l)

bﬂ?f/(o) ,

on noting that f'(0) = bhh_ L This emphasizes the important property that the

slope of an exponential function is proportional to the value of the function itself.

Remark: For the special choice of base b = e, this proportionality constant equals
one; that is, f/(0) = 1. That is, if f(z) = €”, then f'(x) = e”. The natural
exponential function is thus its own derivative.

Problem 3.1: At what point on the graph of f(z) = e” is the tangent line parallel
to the line y = 227
On setting f'(x) = e* = 2 we find that 2 = 2. The required point is thus (log 2, 2).
Q. Are all functions differentiable?
A. No, consider

_JOo ifx <O,
f(x>_{1 if 2> 0.

@) =10y 12y O,
0 z—0t X z—=0t T

We see that

lim
z—0t T —
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but

— f(0 0—1
lim M = lim does not exist.
z—0~ z—0 z—0~ x
-1
So liII(l) % does not exist. It appears, at the very least, that we must avoid
r—r xr —

jumps, as the following theorem points out.

Theorem 3.1 (Differentiable = Continuous): If f is differentiable at a then f is
continuous at a.

Proof: For x # a, we may write

@) = fla) + Oy
If il_rg w exists, then
i 1(0) = i g0+ iy P e )
— f(@)+ f(@)-0

= f(a),
so f is continuous at a.
Q. Are all continuous functions differentiable?
A. No, consider f(z) = |z|:

M@= 10 _[=0_d_(1 a0
z—0 z—0 T -1 ifz<O.

Hence liy &) = f(0)
z—0 xr —
1s continuous at 0.

does not exist; f is not differentiable at 0, even though f

Derivative Notation

Three equivalent notations for the derivative have evolved historically. Letting
y=f(z), Ay = f(x+h) — f(x), and Az = (x + h) — x = h, we may write

To help us remember this, we sometimes denote the derivative by dy/dx (Leibniz
notation).

The operator notation D f (or D, f, which reminds us that the derivative is with
respect to x) is also occasionally used to emphasize that the derivative D f is a function
derived from the original function, f.
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Remark: When the derivative f’ of a function f is itself differentiable we will use
either the notation f” or f® to denote the second derivative of f. In general,
we will let ™ denote the n-th derivative of f, obtained by differentiating f with
respect to its argument n times (the parentheses help us avoid confusion with
powers). It is also convenient to define () = f itself.

Remark: Observe that f"*) = (f()" and that if f("*V) exists at a point x, then
f™ and all lower-order derivatives must also exist at .

3.3 Properties

Theorem 3.2 (Properties of Differentiation): If f and g are both differentiable at a,
then

(@) (f +9)(a) = f'(a) + ¢'(a),
(b) (f9)'(a) = f'(a)g(a) + f(a)g'(a),

© (1) 0 = LKL JOT 31 2
Proof: We are given that f'(a) = lim w exists and ¢'(a) = lim w
exists.
(a)
(0@~ +a)@) _ @)+ el@) — fla) — gla)
i S0 S0 o0 =gt
= f'(a) + 4'(a).

(b)
i F9)(@) = (F9)(@) _ | f(@)g(a@) = fa)g(a)

T—a Tr —a T—a T — a

_ i L®)9(=) — fa)g(@) + fla)g(x) — fla)g(a)

r—a r—a

— lim f(@) — fla) lim g(x) +/(a) lim g(x) — g(a)

T—a r—a r—a T—a Tr— a

exists =g(a) by Theorem 3.1

= f'(a)g(a) + f(a)g'(a).
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(c) Let h(z) — ——. Then

g(z)
1 1
h(z) —h 9@ " 9@
h,(a/) — llm ($) (a) — llm g( ) g( )
Tr—a xrT—Q Tr—a xr—aQa
g(a)—g(x)
— lim g(z)g(a)
Tz—=a T — @
g -l gle)
Ga) e z-a ¢(a)

Then from (b),

g(a) 9*(a
f'(a)g(a) — f(a)g'(a)
9*(a)

Remark: Any polynomial is differentiable on R.
Remark: A rational function is differentiable at every point of its domain.
Problem 3.2: If f(z) =e® —x, find f" and f” = (f').

Since f'(z) = e — 1, we see that f”(z) = e®.

Problem 3.3: Use the quotient rule to show that the rule dz"/dz = nz"! is valid
for all n € Z, including n = 0 and n < 0.

1-1
For n = 0, the derivative evaluates to lim —— = 0. For n < 0, we have

h—0
A d 0 et
dx dx x=" (x=m)2 (x=m)2

Problem 3.4: Use the following procedure to show that the derivative of sinx is
cos .
(a) Use the inequality sinz < 2 < tanz for 0 <z < /2 to prove that
i s
3

For 0 < z < 7/2, we know that both = and cosx are positive, which allows us rewrite
the inequalities © < tanx and sinx < = as

sin
cosr < —— < 1for0<|z| <
x

sinx
cosr < — < 1.
T

Since each of these expressions are even functions of xz, the inequality also holds for —7/2 <
x < 0.



52 CHAPTER 3. DIFFERENTIATION

(b) Prove that
sin x

lim
z—0 2

exists and evaluate the limit.
Since cosx is a continuous function, we know that lim cosz = cos0 = 1. We then

z—0
deduce from the Squeeze Theorem that
lim B2 .
z—=0 X
(c) Prove that
72
1 —cosz < 5 for all z € R.
Hint: Try replacing = by 2x.
| 25in? = = 2 si $‘2<2m2 v
— = 2sin“ — = in — - = —.
cos sin” 5 sing| <25 5
(d) Prove that
. l—cosz
lim
x—0 x

exists and evaluate the limit.
Since cosx < 1 for all z, we know for x # 0 that

1 —cosz _ |z
= < —
[ 72

'1—cosx

X

and hence

lz| 1—cosz _ |z
L Qi g bt
2 = T - 2

As z — 0, we deduce from the Squeeze Principle that

1—
lim —— %% _ .
x—0 X
Alternatively,
. 1l—cosxz . (1—cosx)(l+ cosx) ) sin? x
lim ——— = lim = lim ———
a—0 X 2—0 z(1 + cosx) z—0 (1 + cos x)
sinz sinz 0

= lim lim =1-—=0.
z—0 x 2z—01 -4 cosx 2
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(e) Use the above results to prove that sin x is differentiable at any real number a
and find its derivative. That is, show that

. sin(a + h) —sina
lim
h—0 h

exists and evaluate the limit.

. sinacosh +cosasinh —sina . . cosh—1 . sinh
lim =sinag im ———— +cosa lim —— = 0+cosa = cos a.
h—0 h h—0 h h—0 h

i otan (1)
lim ztan | —
T—00 xX

Hint: let y = 1/z. As x — oo, what happens to y?

Problem 3.5: Compute

t i 1
= lim ay _ lim (Smy> lim < > =1-1=1.
y—0t Y y—0+ Yy y—0t \ COSYy

Theorem 3.3 (Chain Rule): Suppose h = fog, i.e. h(x) = f(g(x)). Let a be an
interior point of the domain of h and define b = g(a). If f'(b) and ¢'(a) both exist,
then h is differentiable at a and

h'(a) = f'(b)g'(a).
That is, if y = f(u) and u = g(x), then

du

dy
b dx

dx

_dy
a_du

e Consider that %(IQ +1)* = %f(g(x)), where v = g(z) = 22 + 1 and f(u) = v
We let h(z) = f(g(x)):
() = f'(u)g'(z)
=2u -2z
=2(x? + 1) - 20 = 42° + 4.

As a check, we could also work out this derivative directly:

d d
—((2?+ 1) = y (z* + 207 + 1) = 42® + 4z

dx dz
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e The Chain Rule makes it easy to find

d
d—(:c3 + 1)1 =100(2® + 1)%32?

X
= 3002°(z* + 1)*.

1
o Letf(u) = un = f(u) = EU%A and g(x) = 2™ = ¢'(z) = ma™ L.

Then h(z) = f(g(z)) =z = h'(z) = f'(u)g'(x) where u = g(x). Thus

d
Hence d—xq = qz7 ! for all ¢ € Q.
T

.. d 1
e Find iz 7(2) (cf. Theorem 3.2(c)).
Let f(z) ="', f/(x) = —2 2, and h(z) = ﬁ = f(g(x)). Then
W(z) = f'(g(x))d (z)

1 !
e

1
We may express this using an alternative notation. Letting y = — and u = g(x), we
u
find
dy  dydu 1, g'(z)
dx  dudx u g% (x)

d 1 1 ] 1 33:2}
dx 1+x3_2 1 | (14 23)?

1423
30%(1+4%)2 3, 3\—3
Ty 2R 0T
Here is an even easier way to find this derivative:
d 1 d 1
— ) ——=—(1 N2
de V 1+ a3 dx< +7)
1
=—(1+ 353)_% - 327,

2
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d . . )
. sin(sin(z)) = cos(sin(z)) cos(x).
’ d o .
e sin(sin(sin(z))) = cos(sin(sin(x))) cos(sin(z)) cos(z).

Remark: To prove the Chain Rule it is not enough to argue

. Y _ Ay . Au
Ao Ar  Anto Au anto A

because Au = g(x) — g(a) might be zero for values of z close to (but not equal to)
a. However, we can easily fix up this argument as follows.

Proof (of Theorem 3.3):
Let b = g(a) and define

f(u) = f(b)
m(u) = u—>b

F(b)  ifu=0.

if u#0b,

Then
f'(b) exists = lirré m(u) = f'(b) = m(b) = m is continuous at b
u—
and
¢'(a) exists = g is continuous at a = m o g is continuous at a,
= lim m(g(2)) = m(g(@)) = m(b) = £/(b).
Note that

f(u) — f(b) = m(u)(u —b) for all u.
Letting u = g(x), we then find that

r—a T — a T—a T—a Tr—a

= f'(b)g'(a).

e With the help of the Chain Rule, the derivative of cosz can be calculated as:

s (5 ) <o (5 ) -
d$COS$—deIH 9 T ) = COS 5 T = s,
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e We can also find the derivative of tan z:

d sinz  cosxcosz — sinx(—sinz) 1 9
—tanx = — = 3 = 5 = sec” .
dx dx cosx cos? x cos? x

Problem 3.6: Compute

d
%(aj COS )

=cosx — xsinx.

Problem 3.7: Find

d 1
dx \ coszx
— 1 3
= C052 - SN x.

Problem 3.8: Let f be a differentiable function. Find the following derivatives

(a)

d
P (@)

Problem 3.9: If f(z) = b* = e*'°8® show that f’(z) = b*logb. Note for b = e that
this reduces to f'(z) = e” since loge = 1.
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Problem 3.10: Calculate the following derivatives:
(a)
d 2?
dr z3 + 1

2z(z® + 1) — 2%(32?)  —2*+ 2z

(23 +1)2 C (24 1)2°

4 (v2)

dx sinx
sinx\/ﬁ — 2z + 1cosz _sinw — (22 + 1) cosa
sin® - 2z +1Isinfz
(c)
d 1

dz sin®(sin z)
cos(sin x) cos x

e sin~3(sinx) = —3sin~*(sinz) cos(sinz) cosz = —3
x

sin(sin )

Problem 3.11: Let f: R — R be a differentiable function. Consider g(x) = f(—x).

(a) Compute ¢’ in terms of f’.

Using the Chain Rule, we find that ¢'(z) = —f'(—x).

(b) If f is an even function, show that f’ is odd.

If f is even then g(x) = f(—z) = f(x); that is, g and f are the same function. From
part (a) we then see that f is odd: f/(z) = —f'(—x).

(c) If f is an odd function, show that f’ is even.

If fis odd then g(x) = f(—xz) = —f(z). From part (a) we then see that f is even:
J(2) = f/(~a).
Problem 3.12:

(a) A spherical balloon is being inflated at the rate of 10 cm?/s. Given that the
volume V of the balloon is related to the radius by V = %777"3, use the Chain Rule to
compute how fast the radius of the balloon is growing when the volume has reached
100 cm?.

The rate of inflation r(t) must equal the rate of volume increase: dV/dt = 10cm3/s.
We will need to know the formula for r in terms of V,

gAY
— (= /3
T (47r) Ve,
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dr_ (3N o (1N
dVv A 3 367 ’

When the volume of the balloon is 100 cm?, we can use the Chain Rule to determine that
the radius is growing at the rate

and its derivative,

dr drdV_(l

1/3 cm? cm
T 367T> (100 cm®)~2/3 x 10 —— = 0.096—.

Incidentally, the derivative of r with respect to V can also be calculated by first calcu-
lating dV/dr = 4mr?, taking the reciprocal to get dr/dV, and finally expressing the result
in terms of V. (What justifies that one can calculate dr/dV in this way?)

(b) Suppose now that the (constant) inflation rate of the balloon is unknown, but
it is known that when the volume is 100 cm?, the radius is growing at a rate of 1
cm/s. How fast is the radius of the balloon growing when the volume has reached
1000 cm??

We are given that at a time ¢1, the volume V(¢1) = 100 cm?® and %tﬂ =1 cm/s. By
the Chain Rule,

@tﬂ:ﬂtl‘d—v

dt dV ' dt
and

@t ‘ — ﬁt |ﬂ

de 2 av ae

since the inflation rate % is constant. Hence
d dr 4o\ d )\ 2%d 1\2%3
dry (vt ydr, (V)T (LN em g e
dt drty) ) dt V(t1) dt 10 s s

Problem 3.13: Let

0 ifz=0.

Prove that f is differentiable for all z € R and find f’(x). A graph of f is shown
below, including an inset where the y axis is stretched to show more detail around

the origin.
Nw {x%:osi if x #£0,
0 if x =0.

flz) = {xzcos (1) ifa#0,
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Since cos(z) is differentiable at all z and 1/x is differentiable on (—o0,0) U (0, 00), the
composite function cos(1/x), and hence f, is differentiable on (—oo,0) U (0, 00). Moreover,
f is also differentiable at x = 0, with derivative O:

) :EQCos( )—0 . 1
lim ——% =limzcos| — | =0
z—0 x—0 x—0 x

by the Squeeze Theorem since
1
zcos | — || < |z
x

0<

and lim 0 =0= hm |z].
z—0 z—0

Hence f is differentiable on R and

1 — 2xcos( )—i—sm(l) if x #0,
Jlw) = {0 if x =0.

Problem 3.14: Suppose that two functions f and g are differentiable n times at the
point a. Use induction to prove Leibniz’s formula:

n

1)) = 3 (1)1 o)

k=0

3.4 Implicit Differentiation

Suppose that a variable y is defined implicitly in terms of  and we wish to know dy/dzx.
For example, given the implicit equation

VP43 3y + 1 =2+, (3.1)

we could solve for y to find
(y+1)°=2"+u
=y+1= (:705—|—x)%
= @ = l(yc{)—l-x)_%(Sx‘l—i-l) (3.2)
de 3 ' '
But what happens if you can’t (or don’t want to) solve for y? You might try first
to solve for x in terms of y and then find the derivative dx/dy of the inverse function.
But what if this is also difficult?

It is often easier in these cases to differentiate both sides of Eq. (3.1) with respect
to z, noting that y = y(z):

L3 [y3($) + 3y2(x) + 3y(x) + 1}

o —(z° + ).
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By the Chain Rule, we find
(3y* + 6y + 3)y'(x) = ba' + 1,
which we can easily solve to obtain dy/dx as a function of x and v,

dy Srt 41 _5x4+1
dr 32 +6y+3  3(y+1)%

(3.3)

Once we know an (z,y) pair that satisfies Eq. (3.1), we can immediately compute the
derivative from Eq. (3.3).
It is instructive to verify that Egs. (3.2) and (3.3) agree:
dy 5zt + 1 S5zt + 1

de  3(y+172 3(a5 + x)5

Problem 3.15: If 2% + y? = 25, find dy/dx. Then find an equation for the tangent
line to this circle through the point (3,4).

On implicitly differentiating both sides with respect to z, we find
dy

2 +2y— = 0.
v Yix
When y # 0 we can then solve for %:
dy _
de  y’

Since the slope of the tangent line at (3,4) is —3/4, an equation of the tangent line is

Problem 3.16: Find dy/dz if 23 + y3 = 6zy.

3.5 Inverse Functions and Their Derivatives

This section addresses the question: given a function f, when is it possible to find a
function g that undoes the effect of f, so that

y=f(z) &= z=9(y)?

Recall that a function is a collection of pairs of numbers (z,y) such that if (z,y;) and
(x,y2) are in the collection, then y; = ys.
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Definition: A function f: A — B is one-to-one on its domain A if, whenever (21, y)
and (zg,y) are in the collection, then x; = xo. That is,

Ty =1y <= f(x1) = f(x2).
We say that such a function is 1-1 or nvertible.

This can be restated using the horizontal line test: a set of ordered pairs (x,y) is
a one-to-one function if every horizontal and every vertical line intersects their graph
at most once.

Remark: Equivalently, a 1-1 function f satisfies

T # 1y = f(21) # [(22).
o f(x) =x and f(x) = 23 are 1-1 functions.
e f(x) =2? and f(x) = sinz are not 1-1 functions.

Remark: Sometimes a noninvertible function can be made invertible by restricting
its domain.

e f =sinx restricted to the domain [-7, 7] is 1-1.

Remark: If f : A — B is 1-1 then the collection of pairs of numbers (y, z) such that
(x,y) belong to f is also a function.

Definition: The function defined by the pairs {(y,z) : (z,y) € f} is the inverse
function f~': B — A of f.

Problem 3.17: Show that the inverse of a 1-1 function is itself an invertible function;
that is, it satisfies both the horizontal and vertical line tests.

e The inverse of the function sin z restricted to the domain [—~7, 7] is denoted arcsin x
or sin~! z; it is itself a 1-1 function on [—1, 1], yielding values in the range [—3, Z].

Remark: Do not confuse the notation sin™! z with Sirlm; they are not the same func-

tion! Because of this rather unfortunate notational ambiguity, we will use the
short-hand notation f"(z) to denote (f(z))" only when n > 0; in particular, we
reserve the notation f~!(z) for the inverse of f.
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Problem 3.18: Suppose that f and g are inverse functions of each other. Show that
g(f(x)) = x for all z in the domain of f and f(g(y)) = y for all y in the range of f.

Theorem 3.4 (Continuous Invertible Functions): Suppose f is continuous on I.
Then f is one-to-one on I <= [ is strictly monotonic on I.

Theorem 3.5 (Continuity of Inverse Functions): Suppose f is continuous and one-
to-one on an interval I. Then its inverse function f~' is continuous on f(I) =

{f(x):x€l}.

Theorem 3.6 (Differentiability of Inverse Functions): Suppose f is continuous and
one-to-one on an interval I and differentiable at a € I. Let b = f(a) and denote
the inverse function of f on I by g. If

(i) f'(a) =0, then g is not differentiable at b;

(ii) f'(a) # 0, then g is differentiable at b and ¢'(b) = fla)’

e The inverse of the function f(z) = 2% is f~'(y) = y'/3 since y = 2% = z = y%.
Notice that f'(z) = 3z* # 0 for x # 0 (i.e. y # 0). We can then verify that

1 1 1

(V1N

d .y, _ 1 _
@ W= TSR T FUW)

3

<

1

e What is the derivative of y = arctanx (or y = tan™'z, the inverse function of

r = tany?
d 1 dx 1
Theorem 3.6 = & -y Where x = tany and — = ———. That is,
dx d—z dy  cos?y
dy 1 9
— = = cos
dx L Y
cos?y
Normally, we will want to re-express the derivative in terms of x. Recalling that
tan?y + 1 = cos12y and x = tany, we see that
dy 1 1

dr  1+tany T 142

on (—o0,00).

1
— arct =
iz arctan x 1522
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Remark: Although f(x) = tanz does not satisfy the horizontal line test on R, it does

if we restrict tanx to the domain (-7, 7). We call tanx on (—7%, 7) the principal
branch of tan x, which is sometimes denoted Tan x. Its inverse, which is sometimes
written Arctanz or Tan™ 'z, maps R to the interval (=5, %)

e Consider f(x) =+/1 — 22, which is 1-1 on [0, 1].
Note that f'(z) = — 7= exists on 0,1).
Nowy=vVi-22=z=\/1—-y2=z= [y = fly).
In this case f and f~! are identical functions of their respective arguments!

d _1 _
V1—a?

T
=ginx is 1-1 [——,—]
e y=sinx is on |-,

dy r o
5 = C0sT #0on (—5,7%).
The inverse function (as a function of y) is

x = arcsiny (or x = sin"'y),

with derivative

de. 1 1
dy_fl—gyg_cosx'

We can express cosx as a function of y:

cosz =1V 1—sin’z
=V 1_y27
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noting that cosz > 0 on (-7, ), to find

1
—arcsiny = ———on (—1,1).
i V= (=1,1)
That is,
d ) 1 (—1,1)
—arcsine = ——— on (— .
dx V1—22 ’

e y=cosx is 1-1 on [0, 7].

Z—z = —sinz # 0 on (0, 7).

The inverse function & = arccosy (or x = cos™!y) has derivative
dr 1 1
dy B % T sing’

which we can express as a function of y, noting that sinz > 0 on (0, 7),

sinz = V1 —cos?z = /1 — 32

o d 1
. d_y arccosy = —1—_y2,
le.
1
- Arccos T = i on (—1,1).
It is not surprising that % arccos r = —% arcsin z since arccosz = 7 — arcsin x,

as can readily be seen by taking the cosine of both sides and using cosy = sin(§ — y).

e Prove that cos™'z +sin" 'z = 7 for all z € [—-1,1]. Let

f(z)=cos 'z +sin"'x
—1 1

") — +

f(w) V1i—22 /1 -—22
= f(z) =c¢, a constant.
Set =0 to find ¢:

c=f(0)=cos 10 = g

L f(x) = g for all x € [-1,1].
Problem 3.19: Let f(z) = sin"*(2? — 1). Find
(a) the domain of f;

The inverse function y = sin~'z has domain [~1,1], and 2 — 1 € [~1,1] implies
22 € [0,2]. Hence, the domain of f is [—v/2,v/2].
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(b) f'(z);

Letting y = sin~! (22 — 1), we first find the derivative for = > 0:

22 —1=siny

=2 =+/siny+1

N dr cos Yy
dy — 2y/siny + 1
B \/1—(372—1)2 B V222 — 24

2V x? 2z
dy 2x
de /222 — 2%

Since the derivative of an even function is odd (and vice-versa) we see that the same
result holds for z < 0 as well.

Alternatively, one could use the formula for the derivative of sin~! z together with the
Chain Rule.

(c) the domain of f’.
The domain of f' = dy/dx is the set of x such that 222 — 2 > 0:

22 > a2t = 2> 2% ifx#£0.

. domain of fis {z:0 < |z| < V2} = (—v/2,0) U (0,V2).

Problem 3.20: Verify that the graphs of the functions y = sin™'z, y = cos™! z, and
y = tan~! x are as shown below.

NIE]

w3
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T
)
COSi1 X
-1 T
s
2
Yy
tan~ !z
X
_ T
2

Remark: We may use the fact that the derivative of the exponential function y =
f(x) = e”is f(x) itself to find the derivative of the inverse function x = g(y) = log y.
Since

dy
! = — =
we see that
J(y) = dr_1
dy vy’
Thus for 2 > 0 we find that .
—1 = —.
dx 08 x T

That is, the derivative of the natural logarithm is the reciprocal function.

Remark: The derivative of the logarithm to the base b follows immediately:

dlogz 1

— log, =

dz ~ drlogh  zlogh’
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e Consider |
ogx x>0,
Flz) = log x| = {log(—x) x < 0.
Then
— x>0,
x
Fl(z) =
1
—(—1 0
—x( ) x <

1
= — for all x # 0.
x

That is, for z # 0 we find that
d

log |z] = ~
— 10g (x| = —.
dmg T

Problem 3.21: Suppose that f and its inverse g are twice differentiable functions
on R. Let a € R and denote b = f(a).

(a) Implicitly differentiate both sides of the identity g(f(x)) = x with respect to x.
By the Chain Rule,

g (f(@)f(z) =1

(b) Using part(a), prove that f’(a) # 0.

If f’(a) = 0, we would obtain a contradiction:

0=4g'(f(a))f'(a) =1.

(c) Using parts (a) and (b), find a formula expressing ¢’'(b) in terms of f’(a).

, - 1
(d) Show that
i f//(a')
b) = — .
AL T

On differentiating the expression in part (a), we find that

9"(f@)f' (@) + g (f(2) f"(z) = 0.
On setting = = a and using part(c), we find that

/" / 2 f”(a)
g F@ @ + 5

from which the desired result immediately follows.

=0,
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3.6 Logarithmic Differentiation

Because they can be used to transform multiplication problems into addition prob-
lems, logarithms are frequently exploited in calculus to facilitate the calculation of
derivatives of complicated products or quotients. For example, if we need to calculate
the derivative of a positive function f(z), the following procedure may simplify the
task:

1. Take the logarithm of both sides of y = f(x).
2. Differentiate each side implicitly with respect to x.

3. Solve for dy/dz.

e Differentiate y = xV* for = > 0.

We have
logy = logzV*® = \/zlog .
Thus
ldy 1 1
B — | - .
ydr  2\/x ng+\/z<x>
dy log 1
= 2 = _
dx y(2\/§+\/5)
_VE logx + 2 .
2\/x

Problem 3.22: Show that the same result follows on differentiating y = ev®!og®
directly.

e For x > (0 differentiate

B 1:%\/:1:2 +1
V= (3z 4+ 2)>
Since . .
log(—y) = Jlogz + 5 log(z? + 1) — 5log(3x + 2),
we find

ldy 3/1\ 1/ 1 5
2z - 27) —
ydx 4(x> +2<x2—|—1)( z) 3x+2(3)

dy :L‘i\/m2+1(3 x 15 )

- w211 3212

de 3z +2)p
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Remark: We can use logarithmic differentiation to show that if y = f(x) = 2™ for
some real number n, then f'(z) = nz""!. First, we take the absolute value of y to

ensure that the argument of the logarithm is non-negative:

log |y| = log|a|" = nlog|z|.

We then implicitly differentiate both sides with respect to x:

ldy n
ydr
from which we find that
dy ny na® 1
— =—= =nz"" .
dx x x

Problem 3.23: Alternatively, show directly from the definition 2™ = €"!°6% that the
rule dz"/dx = nz™ ! is valid for any real n.

1

d n __ d nlogz _ _nlogz, ~ __ n—1

—dxm = —dxe =e nx =nz" .
Remark: Recall that

1 d s log(y + h) — log(y)

y = s = T

In particular, at y = 1/x we find

= log lim (1 + £>n
n

n—oo

=

1
+ = lim log(x +h) + log x

i S — fmos(1 -+ 1)

We thus obtain another expression for e*:

e’ = lim <1 + f)n
n

n—o0

Remark: In particular at z = 1 we obtain a limit expression for the number e:

1 n
e = lim (1 + > .
n—00 n
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3.7 Rates of Change: Physics

Problem 3.24: The position at time ¢ of a particle in meters is given by the equation
= f(t) =t —6t> 4 9t.
Find (a) the velocity at time t.

d
=Y ) =32 12t 9.

v(t)—a—

(b) When is the particle at rest? Setting
0=uv(t)=3t>—4t+3) =3t -3)(t—1),

we see that the particle is at rest when ¢t =1 or t = 3.

(c) When is the particle moving forward?

The particle is moving forward when v(¢) > 0; that is when ¢ — 3 and ¢ — 1 have the
same sign. This happens when ¢ < 1 and ¢ > 3. For ¢ € (1,3) we see that v(t) < 0, so the
particle moves backwards.

(d) Find the total distance travelled during the first five seconds.

Because the particle retraces it path for ¢ € (1,3), we must calculate these distance
travelled during [0, 1], [1,3], and [3,5] separately. From ¢t = 0 to t = 1, the distance
travelled is |f(1) — f(0)|= |4 — 0|]= 4m. From t = 1 to t = 3, the distance travelled is
|f(3) — f(1)|= 10 — 4]= 4m. From t = 3 to t = 5, the distance travelled is |f(5) — f(3)|=
|20 — 0|= 20m. The total distance travelled is therefore 28m.

(e) Determine the acceleration a = dv/dt of the particle as a function of ¢.

a(t) = 6t — 12.

3.8 Related Rates

The Chain Rule is useful for solving problems with two variables that are related to
one another. In this, the rate of change of one variable may be related to the rate of
change of the other.

Problem 3.25: A boat is pulled into a dock by a rope attached to the bow of the
boat and passing through a pulley on the dock that is 3m higher than the bow of
the boat. If the rope is pulled in at a rate of 2m/s, how fast is the boat approaching
the dock when it is 4m from the dock?

Let r denote the length of the rope, from bow to pulley, and = the (horizontal) distance
between the bow and the dock. Then r(z) = va? + 32 so that dr/dz = z/v2? + 3%2. Thus

de dx dr 42+ 32 9 5

S = = X zim/s.
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Problem 3.26: A stone thrown into a pond produces a circular ripple which expands
from the point of impact. When the radius is 8m it is observed that the radius is
increasing at a rate of 1.5m/s. How fast is the area increasing at that instant?

Problem 3.27: Water is leaking out of a tank shaped like an inverted cone (pointed
end at the bottom) at a rate of 10 m3/min. The tank has a height of 6m and a
diameter at the top of 4m. How fast is the water level dropping when the height
of the water in the tank is 2m?

3.9 Hyperbolic Functions

Hyperbolic functions are combinations of e and e™*:

. ¥ —e® et +e* sinh z
sinhy = ——— coshe = ——— tanhx =
) ) )
2 2 cosh x
cschx = — sechx = cothx = .
sinhz’ coshz’ tanh x

Recall that the points (x,y) = (cost,sint) generate a circle, as t is varied from 0
to 27, since 22 + y% cos?t + sin®t = 1. In contrast, the points (z,y) = (cosht,sinht)
generate a hyperbola, as t is varied over all real values, since 2> — y?> = cosh®t —
sinh?t = 1 (hence the name hyperbolic functions). That is,

er 4+ e ® 2 et — e T 2_62$+2+€—2z e2z_2+€—2z_1
2 2 N 4 4 o
Note that
ex _I__ e*ﬁ?
—sinhe = ——— = coshz
dx 2 ’
but
eT — et
%coshx = — = sinh z
without any minus sign). Also,
y g
tonh cosh? r — sinh® x 1
dx cosh? r cosh? z

Note that sinhx and tanhx are strictly monotonic, whereas coshx is strictly
decreasing on (—oo, 0] and strictly increasing on [0, 00).

Just as the inverse of e” is log x, the inverse of sinh x also involves log z. Letting
y = sinh ™! z, we see that
eV — Y

r =sinhy = 7
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sinh z

Y|l tanhz

cosh x ‘

so that e — e ¥ — 2x = 0. To solve for y, it is convenient to make the substitution
z=eY:

1
z2———2x=0
z

=22 2r2—1=0.

Thus

20+ /(20)? +4

= > ’
so that eV = o + 22 + 1. But since e¥ > 0 for all y € R, only the positive square
root is relevant. That is, for all real x,

sinh™! z = log(z + Va2 + 1).

Problem 3.28: Prove that the two solutions for cosh™' z are given by log(z +

V2 —1). Show directly that log(z + v22 — 1) = —log(z — Va? — 1).

Problem 3.29: Show that

1 1
tanh ™'z = —log( +$>.
11—z



3.9. HYPERBOLIC FUNCTIONS 73

Problem 3.30: Show that

d d 1
—ginh 'z = d—log <$+V:C2—|—1> =
T

dz 22 + 1

Also verify this result directly from the fact that

i sinh y = cosh y.
dy

e Thus

/01 \/% _ [sinh_1 x}(l) = [log(:c +Va?2 + 1)}(1) = log (1 + \/§>

e To find % cosh™" z, we can use the relation cosh? y — sinh?y = 1:

y =cosh™ z

= x = coshy

d
= d—x:sinhy: cosh’y —1=+va2—1

Yy
dy 1
- %Y _
dx 2 —1
y y
sinh ™! 2 cosh !z
T
T
Problem 3.31: Prove that
(a)
W2 cosh2t +1
cos = —
2
(b) h2t —1
cos —
inh?t= —— ~
sin 5

2sinh t cosh t = sinh 2¢



74

CHAPTER 3. DIFFERENTIATION

tanh™' z




Chapter 4

Applications of Differentiation

4.1 Maxima and Minima

Definition: f has a global mazimum (global minimum) at c if

fl@) < fle) (f(x) = f(e)

for all x in the domain of f. A global maximum or global minimum is sometimes
called an absolute mazimum or absolute minimum.

Definition: A function f has an interior local maximum (interior local minimum) at
an interior point ¢ of its domain if for some 6 > 0,

re(c—9,c+6)= f(x)

f(e)
(f(x) = f

())-

<
>

Definition: An eztremum is either a maximum or a minimum.

Remark: A global extremum is always a local extremum (but not necessarily an
interior local extremum).

Remark: The following theorem guarantees that a continuous function always has a
global maximum over a closed interval.

Theorem 4.1 (Extreme Value Theorem): If f is continuous on [a, b] then it achieves
both a global mazimum and minimum value on |a,b|. That is, there exists numbers
c and d in |a,b] such that

fle) < f(x) < f(d) for all x € [a,b].

5
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Theorem 4.2 (Fermat’s Theorem): Suppose
(1) f has an interior local extremum at c,
(i) f'(c) emists.

Then f'(c) = 0.

Proof: Without loss of generality we can consider the case where f has an interior
local maximum, i.e. there exists § > 0 such that

r€(c—0d,c+9)= f(z) < f(o)

f(x) = f(c) (>0 ifze(c—960),
MY <0 ifze(cc+)
= fif) = i D=1 5

ey = Jim T <o

#f’(c):limM:O.

Tr—cC Tr — C

Remark: Theorem 4.2 establishes that the condition f’(¢) = 0 is necessary for a
differentiable function to have an interior local extremum. However, this condition
alone is not sufficient to ensure that a differentiable function has an extremum at c;
consider the behaviour of the function f(z) = 23 near the point ¢ = 0.

Remark: If a function is continuous on a closed interval, we know from Theorem 4.1
that it must achieve global maximum and minimum values somewhere in the inter-
val. We know from Theorem 4.2 that if these extrema occur in the interior of the
interval, the derivative of the function must either vanish there or else not exist.
However, it is possible that the global maximum or minimum occurs at one of the
endpoints of the interval; at these points, it is not at all necessary that the deriva-
tive vanish, even if it exists. It is also possible that an extremum occurs at a point
where the derivative doesn’t exist. For example, consider the fact that f(z) = |z|
has a minimum at z = 0.

Extrema can occur either at
(i) an end point,
(ii) a point where f’ does not exist,

(iii) a point where f’ = 0.
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e ['ind the maxima and minima of
f(z) =22° — 2%+ 1 on [0, 1].

Since f is continuous on [0, 1] we know that it has a global maximum and minimum
value on [0,1]. Note that f'(z) = 62? — 2z = 2z(3z — 1) = 0 in (0,1) only at the
point z = 1/3. Theorem 4.2 implies that the only possible global interior extremum
(which is of course also a local interior extremum) is at the point x = 1/3. By
comparing the function values f(1/3) = 26/27 with the endpoint function values
f(0) = 1 and f(1) = 2 we see that f has an (interior) global minimum value of
26/27 at x = 1/3 and an (endpoint) global maximum value of 2 at = 1. Hence
26/27 < f(x) <2 for all x € [0, 1].

4.2 The Mean Value Theorem

Theorem 4.3 (Rolle’s Theorem): Suppose
(1) f is continuous on [a,b),

(ii) f’ exists on (a,b),

(i) (a) = F(B)

Then there ezists a number ¢ € (a,b) for which f'(c) = 0.

Proof:
Case I: f(x) = f(a) = f(b) for all x € [a,b] (i.e. f is constant on [a, b])
= f'(¢) =0 for all ¢ € (a,b).

Case II: f(zg) > f(a) = f(b) for some zg € (a,b). Theorem 4.1 = f achieves its
maximum value f(c) for some ¢ € [a,b]. But

f(e) = f(wo) > f(a) = f(b) = c € (a,).

.. f has an interior local maximum at c.
Theorem 4.2 = f'(c) = 0.

Case III (Exercise): f(xy) < f(a) = f(b) for some zy € (a,b).

o f(x)=2®—z+1.
f(0) =1, f(1) =1 = there exists ¢ € (0,1) such that f'(c) = 0.
In this case we can actually find the point ¢. Since f'(z) = 3z% — 1, we can solve

1
the equation 0 = f’(c) = 3¢ — 1 to deduce c = —= € (0,1).

V3
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e Recall that sinnm = 0, for all n € N. Rolle’s Theorem tells us that % sinx = cosx
must vanish (become zero) at some point = € (nm, (n+1)7). Indeed, we know that

1 2 1
CoS [(n+§)ﬂi| :cos( n;— 7r) =0 forallneN.

e We can use Rolle’s Theorem to show that the equation

flx)=2° =322 +k=0

never has 2 distinct roots in [0, 1], no matter what value we choose for the real
number k. Suppose that there existed two numbers a and b in [0, 1], with a # b
and f(a) = f(b) = 0. Then Rolle’s Theorem = there exists ¢ € (a,b) C (0, 1) such
that f'(c) = 0. But f'(z) = 32? — 62 = 3z(x — 2) has no roots in (0,1); this is a
contradiction.

Q. What happens when the condition f(a) = f(b) is dropped from Rolle’s Theorem?
Can we still deduce something similar?

A. Yes, the next theorem addresses precisely this situation.

Theorem 4.4 (Mean Value Theorem [MVT]): Suppose
(1) f is continuous on [a,b),

(ii) f’ exists on (a,b).

Then there ezists a number ¢ € (a,b) for which

F) = fla)

O

Remark: Notice that when f(a) = f(b), the Mean Value Theorem reduces to Rolle’s
Theorem.

Proof: Consider the function

p(x) = f(x) = M(z - a),
where M is a constant. Notice that p(a) = f(a). We choose M so that ¢(b) = f(a)

as well:
f(0) — f(a)
b—a
Then ¢ satisfies all three conditions of Rolle’s Theorem:

M =
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(i)  is continuous on [a, b],
(i) ¢’ exists on (a,b),

(iii) ¢(a) = @(b)-

Hence there exists ¢ € (a,b) such that

fla) = 1)

0=(c) = J'(e) = M = '(e) - =~

Q. We know that when f(z) is constant that f’(x) = 0. Does the converse hold?

A. No, a function may have zero slope somewhere without being constant (e.g. f(z) =
z? at x = 0). However, if f'(z) = 0 for all = € [a,b], where a # b, we may then
make use of the following result.

Theorem 4.5 (Zero Derivative on an Interval): Suppose f'(x) =0 for every x in an
interval I (of nonzero length). Then f is constant on I.

Proof: Let z,y be any two elements of I, with x < y. Since f is differentiable at
each point of I, we know by Theorem 3.1 that f is continuous on /. From the MV'T,

we see that

for some ¢ € (z,y) C I. Hence f(x) = f(y). Thus, f is constant on I.

Theorem 4.6 (Equal Derivatives): Suppose f'(z) = ¢'(z) for every x in an interval
I (of nonzero length). Then f(x) = g(x)+ k for all x € I, where k is a constant.

Theorem 4.7 (Monotonic Test): Suppose f is differentiable on an interval I. Then
(i) f is increasing on I <= f'(x) >0 on I;
(ii) f is decreasing on I <= f'(z) <0 on I.

Proof:
“=" Without loss of generality let f be increasing on I. Then for each z € I,
Fle) = tim LW =@ o
y=r Y —T

“<” Suppose f/ > 0on I. Let z,y € I with z < y. The MVT = there exists
¢ € (z,y) such that

Hence f is increasing on I.
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Remark: Theorem 4.7 only provides sufficient, not necessary, conditions for a func-
tion to be increasing (since it might not be differentiable).

e Consider the function f(z) = [2], which returns the greatest integer less than or
equal to z. Note that f is increasing (on R) but f/(z) does not exist at integer
values of x.

Q. If we replace “increasing” with “strictly increasing” in Theorem 4.7 (i), can we
then change “>” to “>"7

A. No, consider the strictly increasing function f(z) = z3. We can only say f'(z) =
3z% > 0 since f'(0) = 0.

Problem 4.1: Prove that if f is continuous on [a,b] and f'(z) > 0 for all = € (a,b),
then f is strictly increasing on [a, b)].

4.3 First Derivative Test

We have seen that points where the derivative of a function vanishes may or may
not be extrema. How do we decide which ones are extrema and, of those, which are
maxima and which are minima? One answer is provided by the First Derivative Test.

Definition: A point where the derivative of f is zero or does not exist is called a
critical point.

Theorem 4.2 = Local interior maxima and minima occur at critical points.
Remark: Not all critical points are extrema: consider f(x) = z* at z = 0.

Q. How do we decide which critical points ¢ correspond to maxima, to minima, or
neither?

A. If f is differentiable near ¢, look at the first derivative.

Theorem 4.8 (First Derivative Test): Let ¢ be a critical point of a continuous func-
tion f. If

(i) f'(x) changes from negative to positive at c, then f has a local minimum at ¢;

(i) f'(x) changes from positive to negative at ¢, then f has a local mazximum at c;

(iii) f'(x) is positive on both sides of ¢ or negative on both sides of ¢ then f does not
have a local extremum at c.

Proof: (i) This follows directly from the fact that f is then decreasing to the left
of ¢ and increasing to the right of c.
(ii)-(iii) Exercises.
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Problem 4.2: Give examples of differentiable functions which have the behaviours
described in each of the cases above.

4.4 Second Derivative Test

In cases where the second derivative of f can be easily computed, the following test
provides simple conditions for classifying critical points.

Theorem 4.9 (Second Derivative Test): Suppose f is twice differentiable at a critical
point ¢ (this implies f'(c) =0). If

(i) f"(c) > 0, then f has a local minimum at c;

(ii) f"(c) <0, then f has a local mazimum at c.

Proof:

/ o /
(i) f”(c)>0:limM>O:>limM>0

T—c r—cC z—=c L — C

<0 forallxz e (c—d,c),
>0 forall z e (c,c+9)

= f has a local minimum at ¢ by the First Derivative Test.

= there exists ¢ > 0 such that f'(z) {

(ii) Exercise.
Remark: If f”(c) = 0, then anything is possible.

o fz) =27
f(z)=32>=0at z =0,
f'(x) =6z =0atz=0,
f has neither a maximum nor minimum at x = 0.

o f(x)=a"
f(z) =423 =0at x =0,
f"(z) =122 =0 at x = 0,
f has a minimum at x = 0.

e f(x) = —2* has a maximum at x = 0.

Remark: The First Derivative Test can sometimes be helpful in cases where the
Second Derivative Test fails, e.g. in showing that f(x) = z* has a minimum at
xz=0.
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Remark: The Second Derivative Test establishes only the local behaviour of a func-
tion, whereas the First Derivative Test can sometimes be used to establish that an
extremum is global:

<0 forall z <0,
>0 forall z>0.

fo = flo) =2

Since f is decreasing for x < 0 and increasing for x > 0, we see that f has a global
minimum at x = 0.

4.5 Convex and Concave Functions

Definition: A function is convex (sometimes called concave up) on an interval I if
the secant line segment joining (a, f(a)) and (b, f(b)) lies on or above the graph
of f for all a,b € I.

Definition: A function f is concave (sometimes called concave down) on an interval
I if —f is convex on [.

Definition: An inflection point is a point on the graph of a function f at which the
behaviour of f changes from convex to concave. For example, since f(z) = z3 is
concave on (—o0, 0] and convex on [0, 00), the point (0,0) is an inflection point.

Remark: Since the equation of the line through (a, f(a)) and (b, f(b)) is

f(b) — f(a)

b—a (I_a)7

y=fla)+
the definition of convex says

f(x) < fla)+ W(x —a) for all z € [a,b], foralla,bel. (4.1)

The linear interpolation of f between [a,b] on the right-hand side of Eq. (4.1) may
be rewritten as:

fl2) < (z_ z)f(a)+<z:z>f(b) for all @ € [a,b], foralla,be I (4.2)

or as

(x —b) for all z € [a,b], foralla,bel. (4.3)
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The convexity condition may also be expressed directly in terms of the slope of a
secant:

f@) = f@) _ JO)=f(a) _ 1)~ J()

T —a b—a b—=x

for all x € (a,b), for all a,b € I.

(4.4)
The left-hand inequality follows directly from Eq. (4.1) and the right-hand inequality
follows from Eq. (4.3).

Theorem 4.10 (First Convexity Test): Suppose f is differentiable on an interval I.
Then

(1) f is convex <= [’ is increasing on I;
(ii) f is concave <= [’ is decreasing on I.

Proof: Without loss of generality we only need to consider the case where f is
convex.

“=" Suppose f is convex. Let a,b € I, with a < b, and define
LT ey, ) = TOZIED oy
From Eq. (4.4) we know that
m(z) < m(b) = M(a) < M(x)
whenever a < x < b. Hence

f(a) = limm(z) = lim m(z) <m(b) = M(a) < lim M(z) =lim M(x) = f'(b).

T—a r—at r—b— z—b
Thus f’ is increasing on 1.

“<” Suppose f’ is increasing on I. Let a,b € I, with a < b and = € (a,b).
By the MV'T,

fb) — f()
r—a b—=x

= f'(c2)

for some ¢; € (a,z) and ¢y € (x,b). Since f’ is increasing and ¢; < ¢y, we
know that f’(c;) < f'(cz). Hence

fx) = fla) _ f(b) = f(=)
r—a - b—x
1 1 fo)  fla) _ f()(x—a)+ fla)(b—x)
if(x){x—a—kb—llgb—x—'—m—a_ (b—z)(x — a) ’

which reduces to Eq. (4.2), so f is convex.
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Theorem 4.11 (Second Convexity Test): Suppose f” exists on an interval 1. Then
(i) f is convex on I <= f"(z) >0 forallz € l;
(ii) f is concave on I <= f"(x) <0 forallz € I.

Proof: Apply Theorem 4.7 to f’.

Theorem 4.12 (Tangent to a Convex Function): If f is convex and differentiable on
an interval I, the graph of f lies above the tangent line to the graph of [ at every
point of I.

Proof: Let a € I. The equation of the tangent line to the graph of f at the
point (a, f(a)) is y = f(a) + f'(a)(x — a). Given x € I, the MVT implies that

f(z) — f(a) = f'(c)(z — a), for some ¢ between a and x. Since f is convex on I, we
also know, from Theorem 4.10, that f’ is increasing on I:

r<a=c<a= f'(c) < f'(a),

r>a=c>a= f'(c) > f'(a).

In either case f(z) — f(a) = f'(¢)(x —a) > f'(a)(x — a). Hence

f(xz) > fla)+ f'(a)(x —a) forall z e l.

e Consider f(x) = o2 0 R.
T
Observe that f(0) = 1 and f(x) > 0 for all x € R and hI:El f(z) = 0. Note
T—r00
that f is even: f(—z) = f(z). Also, 1 +2*> > 1= f(z) < 1= f(0), so f has a

maximum at z = 0. Alternatively, we can use either the First Derivative Test or
the Second Derivative Test to establish this. We find

o) = 2%
f (Q?) - _<1 —|—.’13‘2)2
and,
yo =2 22z)2x  —2—22%+81% 2(32® — 1)
L ) ey R ) R s

f'(x) >0 on (—o0,0) = f is increasing on (—o0,0),
f'(x) < 0on (0,00) = f is decreasing on (0, 00)
= f has a maximum at 0.

First Derivative Test: {

Second Derivative Test: f'(0) =0, f”(0) = =2 < 0 = f has a maximum at 0.
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( 1 1 1

"(x) > 0 for || > —, i.e. fisconvexon [ —oo,——| U |—,00 |,
Fia) 20 for el > e | ( Ju|5)
1 1}

VERRVELD

. 1
Convexity: ¢ f”(x) <0 for |z|] < —=, i.e. f is concave on [—

V3

1
f"(z) = 0 at =—=; these correspond to inflection points.
\

V3
Problem 4.3: Consider the function f(z) = (z + 1)*? on [-1,1].
(a) Find f'(x).

On rewriting f(z) = 2%/ + 22/3, we find
~1/3

3 (5bz+2) (z#0).

(b) Determine on which intervals f is increasing and on which intervals f is de-

creasing.
Since
> 0, —1<z<-2/5,
=0, x = —2/5,
f(z) 4 <0, —2/5b <z <0,
does not exist x =0,
> 0, O0<x <1,

we know that f is increasing on [—1,—2/5] and [0, 1]. It is decreasing on [—2/5,0].

(c) Does f have any interior local extrema on [—1, 1]7 If so, where do these occur?
Which are maxima and which are minima?

Note that f has two critical points: x = —2/5 and x = 0. By the First Derivative Test,
f has a local maximum at x = —2/5 and a local minimum at x = 0.

(d) What are the global minimum and maximum values of f and at what points
do these occur?

On comparing the endpoint function values to the function values at the critical points,
we conclude that f achieves its global minimum value of 0 at x = —1 and at x = 0. It has
a global maximum value of 2 at x = 1.

(e) Determine on which intervals f is convex and on which intervals f is concave.

Since f"(x) = %0:15_1/3 — 25743 = %x_4/3(5:1c — 1), we see that

< 0, -1 <z <0,

does not exist, x =0,
f"(z)< <0, 0<x<1/5,

=0, x =1/5,

> 0, 1/6 < < 1.

Thus, f is concave on [—1,0] and [0,1/5] and convex on [1/5,1]. Note that f is not concave
on the interval [-1,1/5].
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(f) Does f have any inflection points? If so, where?
Yes: f has an inflection point at 2z = 1/5.
(g) Sketch a graph of f using the above information.

f@) 2]

| | | Lo | | | | |
-1 —-0.8-0.6-0.4-0.2 U0 02 04 06 08 1

4.6 L’Hopital’s Rule

Theorem 4.13 (Cauchy Mean Value Theorem): Suppose
(i) f and g are continuous on [a,b],
(i) f’ and ¢ exist on (a,b).
Then there exists a number ¢ € (a,b) for which
F'(©)lg(b) = g(a)] = ¢'()[f(b) = f(a)].
Proof: Consider
¢(x) = [f(z) = f(a)]lg(b) = g(a)] = [F(b) = fla)]lg(x) — g(a)].

Note that ¢ is continuous on [a, b] and differentiable on (a,b). Since ¢(a) = ¢(b) = 0,
we know from Rolle’s Theorem that ¢'(¢) = 0 for some ¢ € (a,b); from this we
immediately deduce the desired result.
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Theorem 4.14 (I.’Hopital’s Rule for
g(x) #0 for all x € (a,b), hrgl f(x
T—

8) Suppose f and g are differentiable on (a,b),
) =0, and hm g(x) = 0. Then

lim M:Lé lim@ L.

e—b— g'(z) e—b— g(x)
This result also holds if

(i) hm is replaced by hm

z—a™t

(ii) hrlr)l_ is replaced by hm and b is replaced by oo;

(iii) llril_ is replaced by hm and a 1s replaced by —oo.

Proof: Theorem 3.1 = f and g are continuous on (a,b). Consider

= {0 15

G(x):{g(x) a<xz<b,
0 x =D.
Since lim, - f(z) = 0, and lim, ,,- g(z) = 0, we know for any = € (a,b) that F' and
G are continuous on [z,b] and differentiable on (z,b). We can also be sure that G
is nonzero on (a,b): if G(z) = 0 = G(b) for some z € (a,b), Rolle’s Theorem would
imply that G’, and hence ¢', vanishes somewhere in (x,b).

Given € > 0, we know there exists a number § with 0 < 0 < b — a such that

f'(z)

€ (b—4,0) = 7(2)

—L'<e.

If x € (b—9,b), Theorem 4.13 then implies that there exists a point ¢ € (z,b) such

that
) flx) _F(z) _Fl@)—F(b) _F(c) _ f(o)
glz)  G(x) Gx)-GOb) G() ¢(o)
so that fa) (0
D8 =82 )<«
'g(x) ‘ g'(c) ’ -
That is, lim M = L.
e—b— g(x)
e Using [L’Hopital’s Rule, we find
lim tan z =1 <« lim sec” =1

x—0 X x—0



88 CHAPTER 4. APPLICATIONS OF DIFFERENTIATION

" —1 o onxtt

z—1 pr — 1 x—1 1

Remark: [L’Hopital’s Rule should only be used where it applies. For example, it

should not be used for when the limit does not have the (9) form. For example,
r—1 1
# lim - = 1.

T z—1 1

0= lim
r—1

Theorem 4.15 (L’Hopital’s Rule for 22): Suppose f and g are differentiable on (a,b),
g (x) #0 for all z € (a,b), and lirlr)l f(z) = o0, and liril g(x) = oco. Then
z—b— z—b—

(@) _

lim f/(a:) =L= lim —
z—b— g'(x) z—=b- g(x)

This result also holds if

(i) lim is replaced by lim ;

T—b— r—a™t

(ii) liril is replaced by lim and b is replaced by oo;
r—b— T—00

(iii) lim s replaced by lim and a is replaced by —oo.
T—b— T——00

Proof: We only need to make minor modifications to the proof used to establish
Theorem 4.14. Choose ¢ such that f(z) > 0 and g(x) > 0 on (b — 6,b) and redefine

F(z) = Glz) = "

g b—d<z<b {A-b—5<x<a
0 x =0,

0 x =Db.
Problem 4.4: Determine which of the following limits exist as a finite number, which

are oo, which are —oo, and which do not exist at all. Where possible, compute the
limit.

(a)
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(b)

ef—-1—x
lim
r—1 [);‘2
e e“—l_l_ e“’_l

z—r00 2
e .er
= lim — = lim — = oo.
z—12x  z—1 2
(d)
lim z*
z—0
. : . logx : 1/x :
— lim emlogz _ 6hmzﬁomlogm — ggo g — eggo / — eggo R — 60 - 1.
-0 1/x —1/x?

(e)

. 99 .
sin(x”?) — sin(1
L sin(a®) — sin(1)
r—1 €xr — 1
One could use L’Hopital’s Rule here, but it is even simpler to note that this is just the
definition of the derivative of the function f(z) = sin(z%) at z = 1. Since

f'(z) = cos(2”)992%,

the limit reduces to f'(1) = 99 cos(1).

(f)
. tanx —1
hm —_—
z—ow/4 T — 7T/4

Letting f(x) = tanx, we see that this is just the definition of f'(7/4) = sec?(n/4) = 2.

(2)

. tanx —x
lim ——
z—0 $3
2., 3 . 2,2 2
. sectx —1 . 2sec’xsinx . 6sec” xsin®x + 2sec” xcosx 1
:hm72:hm7:hm = -,
x—0 3x x—0 6x z—0 6 3

on applying the 0/0 form of L’Hopital’s Rule three times. Alternatively, after the second

application of L’Ho6pital’s Rule, one can use the fact that lir% sinz/z = 1.
T—
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4.7 Slant Asymptotes

Definition: A function f is asymptotic to a slant asymptote y = mx + b if

lim [f(z) — (mx + b)] = 0.

T—00

or

lim [f(z) — (mx+b)] =0

T—r—00

This means that the vertical distance between the function f and the line y = mx+b
approaches zero in the limit as x — co or x — —o0, respectively.

Remark: If
i [(2) = (ma +)] =0,
then
fim (L&) = (me £0),

T—00 €T

We also know that lim,_, % = 0. On adding these equations we find that

tim (2 ) 0.
r—00 x
Hence
m = lim LI)
Tr—r00 X

Once we know m then we can find

b= lim [f(x) — mx].

T—00

If both of the limits for m and b exist, then f has a slant asymptote.

e The function f(x) = 2/(2* 4+ 1), has no vertical asymptotes (since the denomi-

nator is never zero) and no horizontal asymptotes since lim,_, ., f(z) = —oo and
lim,_,~, f(z) = co. However, it does have a slant asymptote y = mx + b where
2
m = lim M — lim — =
and X . 2,
b= lim g LDy T
T—00 (xQ + 1) — T x>0 (1;2 + 1) T—00 (1;2 + 1)

So f has a slant asymptote of y = x as * — o0o. Note that f also has a slant
asymptote of y = x as r — —o0.
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Problem 4.5: Show that the function f(z) = x+ % has a slant asymptote of y = x
as r — 00.

4.8 Optimization Problems

e Determine the rectangle having the largest area that can be inscribed inside a right-
angle triangle of side lengths a, b, and v/a? + b2, if the sides of the rectangle are
constrained to be parallel to the sides of length a and b.

Let the vertices of the triangle be (0,0), (a,0), (0,b) and those of the rectangle be
(0,0), (0,2), (x,y), (0,y), where 0 < 2 < a. By similar triangles we see that

y —_—
a—x a

The area A of the rectangle is given by

b b
(x) ==y ax(a x) =bx R
so that ; ;
2
Allz)=b——x=—(a—2x).
(@) =b-2a="a—2m)

Since A is continuous on the closed interval [0,a] we know that A must achieve
maximum and minimum values in [0,a]. Since A’(z) exists everywhere in (0, a),
the only points we need to check are x = a/2, where A’(x) = 0, and the endpoints
xr = 0 and x = a; at least one of these must represent a maximum area and one
must represent a minimum area. Since A(a/2) = ab/4 and A(0) = A(a) = 0 we
see that the maximum area is ab/4 and the minimum area is 0. Thus, the largest
rectangle that can be inscribed has side lengths a/2 and b/2.

Problem 4.6: A canoeist is at the southwest corner of a square lake of side 1km.
She would like to travel to the northeast corner of the lake by rowing to a point
on the north shore at a speed of 3km/h in a straight line at an angle § measured
relative to north. She then plans to walk east along the north shore at a speed of
6 km/h until she arrives at her destination.

At what angle # should the canoeist row in order to arrive at her destination in
the shortest possible time? What is this minimum time? Prove that your answer
corresponds to a minimum.

The time to reach her destination is

1 +1—ta1r19
~ 3cosfh 6

7(0)
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The continuous function 7" must achieve global minimum and maximum values on [0, §].
First, we look for critical points of this function on (0, §):
sin 0 1

1
0=T'(0) = — = sinf = —.
() 3cos26 Gcos20 St 2

™
)
endpoint value T'(0) = 1/2 is an exterior global maximum, the endpoint value (%) = v/2/3
IERVE]
6

The only critical point in (0, %) is at § = §. By simply comparing values, we see that the

is an endpoint local maxima, and T'(§) = is the global minimum value. Thus the
canoeist should row at an angle & relative to north.

Problem 4.7: Maximize the total surface area (including the top and bottom) of a
can with volume 1000cm?® and the shape of a circular cylinder.

The total surface area of cylinderical can of radius r and height h is given by 2772 +277rh,
where the volume is constrained to be 7r2h = 1000. We can use the volume constraint to
eliminate one variable, say h, from the problem:

1000
h="—F,
wr

allowing us to express the area A solely as a function of r:

2
A(r) = 2mr® + OTOO.

We need to maximize A(r) on the interval (0,00). On noting that A’(r) = 4xr —2000/7? =

4r(m — 500/73), we see that the only critical point of A occurs at ¢ = {’/@. Since (0, 00) is
not a closed interval, we cannot use the Extreme Value Theorem. Instead, we note that the
first derivative of A is negative for r < ¢ and positive for ¢. This means that A is decreasing
on (0, ¢| and increasing on [¢,00). Thus A has a global minimum at r = c.

4.9 Newton’s Method

In 1823, Abel proved that no general algebraic solution (involving only arithmetic
operations and radicals) exists for finding roots of fifth-degree polynomials. This
result was generalized by Galois to all degrees above four.

If we need to find the roots to a polynomial of degree five or higher, or to a
transcendental (non-algebraic) equation like

cost —z = 0,

then we must resort to a numerical method.

Newton’s method (also called the Newton-Raphson method for finding a root to
a function f(z) with a continuous derivative begins with an initial guess z;. The
equation for the tangent line to the graph of f at (z1, f(z1) is

y— f(x1) = f'(@1)(x — 21).
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This line intersects the x axis when y = 0, at a point (x9,0):
0— f(z1) = f/($1)(372 — 7).

On solving for x, we find
- f(z1)

frla)
Newton’s method doesn’t always work, but when it does, the point x5 will be closer
to the root of f than z;. On repeating this procedure using zo as initial guess, we
obtain our next guess x3 for the root:

To =T

f(x2)
f(xa)

T3 = T2 —

Inductively, we define

n

If lim,, .o =, exists and equals ¢ then we see that

L . o f) . flaa) f(o)
0= e B M ) T B B S F©)

since f and f’ are continuous. Thus f(c) = 0 so we have determined that ¢ is a root

of f f(c) = 0.

e To find a root of f(x) = cosx — z, first compute f'(x) = —sinz — 1. The Newton

iteration appears as
coST —

Tnt1 = Tn sinz+1°

Starting with an initial guess z; = 1, we find
xo = 0.750363867840,

x3 = 0.739112890911,
x4 = 0.739085133385,
x5 = 0.739085133215,
xe = 0.739085133215,

from which it appears that there is a root of f very close to x = 0.739085133215.
Indeed we verify that cosz — x is about 2.7 x 10713,



Chapter 5

Integration

5.1 Areas

Suppose, given a function f(z) > 0 on [a,b] that we wish to determine the area of
the region bounded by the graph of f(x), the x axis, and the lines z = a and = = b.
That is, we want to find the area of the region

S={(z,y):a<z<b 0<y< f(x)}.

We could approximate the area as a sum of areas of rectangles as in Figure 5.1
or as in Figure 5.2, determining the height of each rectangle by the function value at
the left or right endpoint of each subinterval, respectively.

f(fIz)Z f@)
/o /

a b a b

Figure 5.1: Left-endpoint approximation. Figure 5.2: Right-endpoint approximation.

Definition: Let f be a function on [a,b]. Divide the interval [a, b] into subintervals
[z;_1, ;] for i =1,2,...n. A Riemann sum of f is any sum of the form

Zf(l’f)(xz‘ —Ti1),

94



5.1. AREAS 95

where the sample points x} are arbitrarily chosen from [x;_1, z;]. Here f(x}) refers to
the height of a rectangle of width x; —z;_; that approximates the contribution to the
area coming from the ith subinterval [z;_1, z;]. On summing up these contributions

from all n subintervals, we obtain an approximation to the total area under the
function f from x = a to x = b.

Definition: The left Riemann sum

Z f(ﬂfz—l)(xz - xz’—l)

is obtained by choosing =] = x;_;.

Definition: The right Riemann sum

Zf(a%‘)(%' — Ti-1)

is obtained by choosing z} = z;.

Definition: A common choice for the subinterval endpoints is z; = a + i(b — a)/n,
which generates subintervals with a uniform width:

Xy — XTj—1 =
n

e The right Riemann sum corresponding to f(z) = z on [0, 1] partitioned into n
uniform subintervals [z;_1, z;], where z; = i/n, is

n

ﬁéi 11 . 1nn+1) n+l
—_ — = — 7 =
—~n n n?

n? 2 2

=1

1-0

1
since the subinterval widths x; — x;,_1 = —.
n n

We now use the concept of a Riemann sum to obtain a precise definition for the
notion of the area under a function.
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Definition: The area of the region bounded by the graph of a positive function f(z),
the x axis, and the lines ©* = a and x = b is given by the Riemann Integral

Jim o f() (@ — i),
=1

whenever this limit exists and is independent of the choice of sample points x} and
subintervals [z;_1,x;], provided the subinterval widths x; — z; 1 approach zero as
n — oo. In this case we say that f is integrable on [a,b] and define the definite
integral of f on [a,b] as

b n
[ 7=t Y s - )
a =1

The next theorem tells us that the Riemann integral of any continuous function
on a bounded interval [a, b] always exists.

Theorem 5.1 (Integrability of Continuous Functions): If f is continuous on |a,b]

then fabf exists.

Remark: By the definition of integrability, all uniform Riemann sums of a continuous
function f on [a, b] will converge to f; f as the width of the subintervals approaches
7Z€ro.

e The definite integral of the continous function f(z) =z on [0, 1] can be computed
as the limit of its right Riemann sum:

b n .
1 1 n—+1 1

= i — . == =_.
IR D D T

Notice that this result agrees with the area of a right triangle with two sides of
length one.

e The definite integral of the continous function f(x) = z on [0, 1] can also be com-
puted as the limit of its left Riemann sum:

b n . n n—1
. 1—1 1 1 1 _
/afw A 2 =l )

(n—1mn\ . n—-1 1
,}LI%O@(MZ) i () = =

This result agrees with the definite integral computed using the right Riemann
sum.
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Definition: If a < b, define fba f=- fab f.

Remark: This implies that [ f = 0.

Theorem 5.2 (Piecewise Integration): Let ¢ be a real number. If f; f and fcb f exists
then f;f exists and equals f:f + fcbf.

Remark: Using piecewise integration, we can integrate any function with a finite
number of jump discontinuities over a closed interval.

Theorem 5.3 (Linearity of Integral Operator): Suppose f: f and fabg exist. Then

(i) fab(f + g) exists and equals fabf + fab g,

(ii) f;(cf) erists and equals cf; f for any constant c € R.
Theorem 5.4 (Integral Bounds): Suppose for a < b that

(i) f;f exists,
(i1) m < f(x) < M for x € [a,b].
Then )
m(b—a) §/ f<M(b-—a).
Theorem 5.5 (Preservation of Non-Negativity): If f(x) > 0 for all x € [a,b], where
a<b, and fabf exists then fabf > 0.
Proof: Set m = 0 in Theorem 5.4.
Theorem 5.6 (Absolute Integral Bounds): If |f(x)| < M for all x between a and b
and f;f exists then ’f;f‘ < M|b—al.
Proof: Set m = —M in Theorem 5.4.
Theorem 5.7 (Triangle Inequality for Integrals): Let f be an integrable function on

la,b]. Then b b
/af‘é/a .

Proof: Consider the integrable functions f(z), —|f(z)| and |f(z)|. For every
x € [a,b],

—|f@)| < flz) < [f(2)].

—/ab|f|s/abfs/ab|f|.

This means that ‘fabf) < fab | f]-

Thus
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Remark: When we write [ f we understand that f is a function of some variable.
Let’s call it . We want to partition a portion of the z axis into {xg,z1,...,2,}
and compute Riemann sums based on function values f(z}) and interval widths
x; — x;_1. Similarly, when we write f’) it is clear that we mean the derivative
of f with respect to its argument, whatever that may be. However, if we want to
differentiate the function y = f(u), where u = z?, it is important to know whether
we are differentiating with respect to u or with respect to z. Likewise, suppose
we wish to calculate the integral of f. It is equally important to know whether
we are calculating the integral with respect to u or with respect to x, because the
area under the graph of y = f(u) with respect to uw will in general differ from the
area under the graph of y = f(2?) with respect to z. Since we can differentiate
with respect to different variables, it is only reasonable that we should be able
to integrate with respect to different variables as well. It will often be helpful to
indicate explicitly with respect to which variable we are integrating, that is, which
variable do we use to construct the differences x; — x;_; in the Riemann sums.

Definition: We can specify the integration variable by writing fol f(z) dx instead of

just fol f. The notation f(z)dzr reminds us that the Riemann sums consists of
function values multiplied by interval widths, x; — x;_1.

5.2 Fundamental Theorem of Calculus

Definition: A differentiable function F' is called an antiderivative of f at an interior
point z of its domain if F'(z) = f(z).

Remark: If F(x) is an antiderivative of f, then so is F'(z) + C' for any constant C.

Theorem 5.8 (Families of Antiderivatives): Let Fy(x) be an antiderivative of f on
an interval I. Then F is an antiderivative of f on I <= F(x) = Fy(x) + C for
some constant C'.

Proof:
“<” Let F(x) = Fy(x) + C. Then F'(z) = Fj(z) = f(x); that is, F' is an
antiderivative of f on I.
“=" Since

d

F(x) — Fo(w)] = F'(w) = Fi(x) = f(2) = f(z) =0,

we see by Theorem 4.5 that F'(z) — Fy(z) is constant on [.
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Theorem 5.9 (Antiderivatives at Points of Continuity): Suppose

(i) fabf exists;
(i1) f is continuous at ¢ € (a,b).
Then f has the antiderivative F(z f fatx=c.

Proof: Given € > 0, we know from the continuity of f at c that there exists a

6 > 0 such that
[z —c[ <d=|f(z) - f(c)] <e

We use this bound in Theorem 5.6 to conclude for |h| < ¢ that

<elc+h—c|=¢€lh|.

c+h
/ f(x) - F(O) de

Consider F(z) = [ f for z € [a,b]. Then for 0 < |h| < § we see that

U [
:ﬁ/ fla d:c—()/ 1 dz

=—/ [£(&) — £(0)] da| < e

F(c+h)— F(c)
\ ;

But this is just the statement that the limit

F(e) = }Lli% F(c+h) — F(c)

exists and equals f(c).

Remark: In particular, Theorem 5.9 says that, at any point = € (a,b) where an
integrable function f is continuous,

o=@

Thus we see that differentiation and integration are in a sense opposite processes.
The actual situation is slightly complicated by the fact that antiderivatives are not
unique, as we saw in Theorem 5.8. However, note that the arbitrary constant C' in
Theorem 5.8 disappears upon differentiation of the antiderivative.

Theorem 5.10 (Antiderivative of Continuous Functions): If f is continuous on |a, b|
then f has an antiderivative on [a,b].
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Proof: The antiderivative of f on [a,b] is just the antiderivative f;f of the
continuous extension f of f onto all of R:

fla) ifx<a,
fla) =4 flz) fa<z<b,
F(b) ifx>b.

Theorem 5.11 (Fundamental Theorem of Calculus [FTC]): Let f be integrable and
have an antiderivative F' on [a,b]. Then

AU:F@—F@.

Proof: Parition [a, b] into {xg,x1,...,x,}. Since F is differentiable on [a, b], the
MVT tells us that for each i = 1,...n there exists a ¢; € (z;_1, x;) such that

F(xi) = Flxio1) = F'(ei) (@i — wi-1) = flei)(@i — 3i-1).

Consider the Riemann sum

n

S fle) (@i — wia) =Y [Fla) — Faioy)] = F(z,) — Fla) = F(b) — F(a),
i=1 i=1

independent of n. Since f is integrable, the value of fab f must equal the limit of this

Riemann sum as n — oco. That is, fab f=F(@0)— F(a).

Remark: It is possible for a function to be integrable, but have no antiderivative.

But by Theorem 5.9, we know that such a function cannot be continuous. An
example is the function

-1 if-1<z<0,
-

1 ifo<z<1.

Being piecewise continuous, f is integrable. However, the FTC implies that f
cannot be the derivative of another function F. For if f = F’  then fom f =
F(z) — F(0), so that
v J(=1) if—1<z <0,
ﬂ@:ﬂm+/f:F@+
0 fo 1 ifo<x<l1,

—1(z—-0) if—-1<z<0,
=F(0) +

(z—0) if0<az<l,
= F(0) + |z,

which we know is not differentiable at x = 0, regardless of what F'(0) is.
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Remark: It is also possible for an integrable function f to be discontinuous at a
point but still have an antiderivative F'. Consider f = F’, where

F(z) = {x%in% %fazséo,
0 if x =0.

Although f is discontinuous at 0, is still integrable on any finite interval.

Theorem 5.12 (FTC for Continuous Functions): Let f be continuous on [a,b] and
let F' be any antiderivative of f on [a,b]. Then

/abf:F(b)—F(a).

Proof: This follows directly from Theorem 5.1 and the FTC.

Remark: The FTC says that a definite integral fab f is equal to the value of any
antiderivative F' of f at b minus the value of the same function F' at a. That is,
fab f= [F(x)]z, where the notation [F(x)]z or F(z)[® is shorthand for the difference
F(b) — F(a).

e Let f(z) =z. Then

! 271 1
/OfZ[x—+c] :§+c—(0—|—c):§.

Remark: We need a convenient notation for an antiderivative.

Definition: If an integrable function f has antiderivative F, we write F' = [ f and
say F'is the indefinite integral of f.

/f:Fmeansf:F'.

For example,
- d [«?
/xdx—g—i—C means x—%<?+0).

Remark: Remember that the definite integral fab f(z)dz is a number, whereas the
indefinite integral [ f(z)dx represents a family of functions that differ from each
other by a constant.
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e Since .
d P

il — P
drp—+1

Y

we know that

b p+1 |0 pptl _ gp+l
T a
Pdr = = if —1.
/a P dx pril, | if p #
e Also,
/ sinzdr = [—cosz|j = —[cosz|f = —[-1—1] = 2.
0
e But
2w
/ sinzdr = [~ cosz]3" = [-1 — (—1)] = 0.
0
[
1
/ e“dr = [e']; = e — 1.
0
[ ]
>1
2
/ —dx = [logz]] = log2 — log 1 = log 2.
LT
e Consider
- _ Jlogx x>0,
F(z) =log|z| = {log(—aj) x < 0.
Then
1
— x>0,
x
F'(z) =
1
—(—1 0
—x( ) x <

1
= — for all x # 0.
x

Therefore, we see that
1 0
/—dmzlog|m|+0 (not $—),
x 0

where C' is an arbitrary constant. Thus
O ifn £ -1,

n+1
/x"dl‘ =
log |z| +C if n=—1.
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-1 1
/ —dx = [log|z|]~3 = log1 — log2 = —log 2.
9 X

e Consider the inverse trigonometric function y = sin™* z for x € [~1, 1]. Recall that

d
ESiH_II = 1—_12 fOI' (—]_, 1)
and
%tan’l T= 1T for z € (—o0, 0).

These results yield two important antiderivatives:

dr =sin 'z +C

=

and

1
/ dr =tan"'z + C.
14 22

e The function

is differentiable for z € [0, ).

We don’t yet know F', but we do know its derivative. Thm 5.9 =

1
Fl(x) = .
(z) cos T

Furthermore, suppose
2

Glz) = /O L - e

cost

for x € [0, %) Then

G'(z) = F'(2*) 22 = ° by the Chain Rule.
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Problem 5.1: Suppose f is a continuous function and g and b are differentiable
functions on [a, b]. Prove that

d b(z)
f@)dt = f(b(z))b'(z) — f(a(z))d (x).

dx

Let F' be an antiderivative for f. Theorem FTC states that

Hence, using the Chain Rule,

b(z)
< f(t)dt = F'(b(x))V(z) — F'(a(x))d(z) = f(b(x))V(z) — f(a(z))d(z).
d
T Ja(x)

5.3 Substitution Rule

sin x
dx?

Q. What is [ tanxzdx :/

cos
A. On differentiating F'(z) = —log|cosz| + C, we see that [tanzdx = F(z).
Q. Are there systematic ways of finding such antiderivatives?

A. Yes, the following theorem Substitution Rule) is often helpful.

Theorem 5.13 (Substitution Rule): Suppose ¢’ is continuous on [a,b] and f is con-
tinuous on g([a,b]). Then

z=b u=g(b)

f(g<x))g%x)dxrzt/w F(u) du.
\/H/_/ u

2=a —g(a)

u du

Proof: Theorem 5.9 = f has an antiderivative [
F'(u) = f(u) for all u € g([a,b]).
Consider H(z) = F(g(z)). Then
H'(x) = F'(g(x))g'(x)

= f9(z))g'(2),
that is, H is an antiderivative of (f o ¢g)¢’. Letting u = g(x), we may then write
/f x)dr = H(x) = F(g(x /f ) du

and, using the FTC,

/f@ﬁﬂwzwum:ww@mzﬂwm—nwm:/ £(u) du
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e Suppose we wish to calculate fol (22 +2)% 2z dz. One could expand out this poly-
nomial and integrate term by term, but a much easier way to evaluate this integral
is to make the substitution u = g(z) = 2? + 2. To help us remember the factor
du — ¢/(x) = 22 we formally write du = ¢/(v) dx = 2z dx,

E —
z=1 u=3 100 |3 100 100
2 99 99 u 37 =2
LZO (@ +2) 2w do /u:2 T 100, 100

e To compute [zvz?+ 1dx, it is helpful to substitute u = 2? + 1 = du = 2z dx.

d 1

/x\/ 22+ 1ldr = /u1/2 ; = é/gugﬂ +C +— (don’t leave in this form)
L 5 3/2

Check:

%{gﬁ+ifﬁ+0}:§;ﬁ+ifﬂ2x:x%ﬁii

e The subsitution v = 2z + 1 reduces the integral f04 V2x + 1dz to

9 9
du 1 550" 1., 2%
ez _ (o) =2
/1\/52 {3“ ]1 5 ) =73

e The subsitution v = log x reduces the integral

e 1 271
/ logxda::/ udu = {u_} :1.
.z 0 2], 2

e The change of variables u = ¢! = du = €' dt allows us to evaluate

/ ¢ dt—/ du_ _, lu+ 1]+ C =log(e' +1) +C
17T Jurr B - o8l '

e The substitution v = £ = r = au = dr = adu, where a is a constant, allows us to
evaluate any integral of the form

1 1
/x2+a2d$:/a2($—2+1) e
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Problem 5.2: Find

/Cost Vsintdt.

2
:§sin3/2t+0.

Problem 5.3: Let o be a real number. Find

1
/x_ae“’“ (— + 1) dz.
x

We use the substitution v = log x + x to rewrite

_e;au + C lf o 7é O,
/ea(logx+w) (1 + 1> doe = /eau du = {
xr

u+C if « =0.
{I‘”;“Hc if @ # 0,

loge+x+C ifa=0.

Problem 5.4: Let f:]0,1] — R be a continuous function. Prove that

/2 /2
/ f(sinz) dx = / f(cosz) dux.
0 0

This follows on using the substitution u = 7/2 — x:

/Oﬂ/Qf(sinx)dw:/Oﬂ/zf(cos <g—x>> dx = — i f(cosu)du:/oﬂmf(cosu)du.

w/2

Problem 5.5:

(a) Show that any function f : R — R can be decomposed as a sum of an even
function f. and an odd function f,. Hint: Construct explicit expressions for f, and
fo in terms of f(x) and f(—z) and show that they are even and odd functions,

respectively.
Let
oy = L S20)
oy = 1@ S0)

Then f(z) = fe(x) + fo(x).
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(b) Show using Theorem 5.2 and an appropriate substitution that if f. is an even

integrable function on [—a, a|, then

/_Zfe=2/0afe.

_2fe(x)dx_/o fe(x)dx—l—/oafe(x)dx— —/aofe(—x)d:r—l—/oafe(x)dx

—a

~ [ o+ [ p@da=2 [ 4.

(c) Show that if f, is an odd integrable function on [—a, a| that

[

—a

o G T
/Oaf+/_2f=2/0afe
/Oaf—/_ifZQ/OGfo-
We find
/Oaf+/_(1fZ/OG(fe+fo)+/_i(fe+fo)2/_2fe+/_2fo=2/0afe

(d) Deduce that

and

" o) do = _Oa fofe)d+ [ ula)de = - [ ey + / (e do

and
/oaf_/_if:/oa(f”fo)_/_i(fﬁfo)=/Oafe—/Oafe+/0afo+/0afo=2/oafo.

e Since the integrand is even, we can simplify

2 2 25 2 95 96
/($4+1)d$=2/($4+1)dx:2{g+x} —2(€+2)_E+4
0
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e Since the integrand is odd, we can simplify

/2
/ cscxdx = 0.

—7/2

Problem 5.6: (a) Let f be an odd function with antiderivative F. Prove that F is
an even function. Note: we do not assume that f is continuous or even integrable.

We are given that f(—z) = —f(z) and F'(x) = f(z). Hence

—[F(z) = F(=z)] = f(z) + f(-2) = 0,

so that

for some constant C. Evaluating this result at = 0, we see that C = 0. Hence F(x) =
F(—x), that is, F' is even.

(b) If f is an even function with antiderivative F', can one always find an an-
tiderivative G of f that is odd? Are all antiderivatives of f odd? Prove or provide a
counterexample for each of these statements.

We are given that f(—z) = f(x) and F'(z) = f(x). Hence

d

() + F(=2)] = f(z) — (~2) =0,

so that
F(x)+ F(—z) =C,

where C' is a constant. Let G(z) = F(x) — C/2. Then G is an antiderivative of f and
G(—z)=F(—2)—C/2=—-F(x)+C/2 = —-G(z), so G is odd. However, not all antideriva-
tives of f are odd. Consider the even function f(x) = 1. The antiderivative x + 1 is not an
odd function, although the antiderivative G(x) = x is.

5.4 Numerical Approximation of Integrals

There are many continuous functions such as

-
e’ sinx 2
—, , and e*,
x T

for which the antiderivative cannot be expressed in terms of the elementary functions
introduced so far. For applications where one needs only the value of a definite
integral, one possibility is to approximate the integral numerically.
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To illustrate the numerical evaluation of definite integrals, it is helpful to consider
an integral for which we know the exact answer, such as fol fdx, where f(z) = 22
For the partition {0, %, 1} of [0, 1] we can find a lower bound

)92
1 1/1 1
L=0|= -{=)===0.12
0(2)+4<2) CRRES
1/1 1 5
=—|= 1{=)===0.62
U 4(2)+ (2) > 0625

1
LS/ 22de <U
0

and an upper bound

on the integral.
That is,

but neither L nor U provides us with a very good approximation to the integral.
Notice that the average of L and U, namely (L + U)/2 = 3/8 = 0.375, is much closer
to the exact value (1/3) of the definite integral and that since f is increasing, L is
identical to the left Riemann sum Sy = > " | f(2i—1)(z; — 2;-1) and U is the right
Riemann sum Sg = > | f(z;)(z; — x;—1). This suggests that it may be better to
approximate the integral by using the Trapezoidal Rule

T,

—$i—1),

L SLHSr N ) + flw)
SRR Pl e

Remark: For a uniform partition with fixed a, b, and f, T" depends only on the
number of subintervals.

Q. How accurately does T}, for a uniform partition of [a, b] into n subintervals, ap-
proximate fab f? How does the error depend on n?

A. First, we look at a special case of this question where there is only one subinterval.

Theorem 5.14 (Linear Interpolation Error): Let f be a twice-differentiable function
on [0, h] satisfying |f"(x)| < M for all z € [0,h]. Let

Then
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Proof: Let z € (0,h) and

p(t) = L(t) = f(t) = CUE = h),
where C' is chosen so that ¢(z) = 0. Then

(0) = L(0) = f(0) =0,
p(h) = L(h) = f(h) = 0.

From Rolle’s Theorem, we then know that there exists z; € (0,z) and x5 € (z,h)
such that

(1) = ¢'(x2) = 0.
Again by Rolle’s Theorem, we know that there exists ¢ € (21, x2) such that
0=¢"(c)=—f"(c) —2C,
noting that L is linear. Therefore C' = —f”(c)/2 and since ¢(x) = 0,

1

Lw) = [(x) = " (c)ale = h),

where ¢ € (0, h) depends on z. That is, for every x € [0, h] we have

L) ~ f(2)| < 5 Ma(h— ),

M[z2h 231" M3
L(z doe < — it e oA I .
/| z)| do / 2{2 BL 12

Theorem 5.15 (Trapezoidal Rule Error): Consider a uniform partition of [a, b] into
n subintervals of width h = (b — a)/n, and f be a twice-differentiable function on
la, b] satisfying |f"(z)] < M for all x € [a,b]. Then the error EL =T, — f f of
the uniform Trapezoidal Rule

SO

T - hzn: f(x¢_1)2+ f(xi)

satisfies

}ET|<th3_M(b—a)3
=12  12n2

Proof: We need to add up the contribution to the error from each subinterval.
If we temporarily relabel the endpoints of each subinterval 0 and h, we may apply

Theorem 5.14 to obtain a contribution, )foh L— foh f‘ < foh |L — f| < M~h3/12, from
each of the n subintervals.
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Remark: We can rewrite the Trapezoidal Rule as

h

T, = E[f(ﬂfo) +2f(z1) + . 2f (wn1) + flzn)]-

e We can use the Trapezoidal Rule to approximate ff % dx with n = 5 subintervals
of width h = 1/5:

/Hd op o L[L,2 .2 2 2 1
T T 01 T2 71416 T 18 2

~ (0.6956.
The exact value of the integral is log2 = 0.6931. . ..

Remark: Typically, a more accurate method than the Trapezoidal Rule is the Midpoint

Rule .
Ti—1 + €T;
M, = E S T e —
n — f( 9 >(xz X 1)7

which has the additional advantage of requiring one less function evaluation.

Problem 5.7: Show that the Midpoint Rule has an error EM = M,, — f: f satisfying

M —a)?
24n2

Notice that this bound is a factor of 2 smaller than the error bound for the Trape-
zoidal Rule.

|EY| <

e Let us use the Midpoint Rule to approximate ff %dx with n = 5 subintervals of
width h = 1/5:

21 171 1 1 1 1
l;px 5111713715 17 19

~ (0.6919,
which is indeed closer than T}, to the exact value of log 2 (by roughly a factor of 2).
Remark: Even better are the higher-order methods, such as Simpson’s Rule, which

fits parabolas rather than line segments to the data values f(xg), f(z1),..., f(zn),
where n is even. This approximation is given by

Sn = g[f(l"o) +4f(@1) +2f(w2) +4f(x3) + ... + 2f (@n—2) + 4f (@n-1) + f(z0)],
with an error £ = S, — fab f satisfying

Kb —a)’

s
‘En‘ = 180n*

if [fW(z)| < K for all z € [a,b)].
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Problem 5.8: Consider the function f(z) = 1/(1+?) on [0,1]. Let P be a uniform
partition on [0, 1] with 2 subintervals of equal width.

(a) Compute the left Riemann sum S7.
Since the partition is uniform,

o (1, 1y_1
E=2\s"2) " 20
(b) Compute the right Riemann sum Sg.
1 4 9

(c) Use your results in part (a) and (b) to find lower and upper bounds for 7.
We see that

13 m | 9
20 =1 /01+x2x_ =10

13 18
Thus — <7 < —.
us g = T < 3
(d) Use the Trapezoidal Rule to find a numerical estimate for 7.

We find that 7 is approximately

144 4,1
2 2 2 10 20 10

(e) Obtain a better rational estimate for 7 by using the Midpoint Rule.
We find that 7 is approximately

1 1 3 16 16 1 1 42 1344
4(2) <f<4) +f(4>) :2(17+25) :32(17+25) :32<425) VTR



Chapter 6

Areas and Volumes

6.1 Areas between curves

The area A between two continuous functions y = f(z) and y = g(z) on [a, b], where
f(z) > g(x), is given by the difference of the respective areas between these functions

and the x axis:
b
a

-/ ) - [ o= [ @) - g(a)] do.

2
1 A
o
a b x

e Find the area bounded by f(z) = 22+ 1 and g(x) = x between x = 0 and x = 1.
1 1
A:/ [f(z) —g(fﬁ')]dl‘:/ [2° 4+ 1 — z]dx
0 0

a:3+ 221" 1+1 1 5
= —_— xr — — = — _—_- = -,
3 2], 3 2 6

Sometimes we are not given a and b, but we can determine them from the points
of intersections of the two curves.

113
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e Find the area enclosed by the curves f(x) = 2z — 22 and g(x) = z*. Here a and b
are determined by the points of intersection of f(x) and g(z),

fz) = g(x)
2z — 2% = 22
= 2r =227 = 0=22" — 22 =2z(x — 1)

=z=0o0orx=1.

1 2 371
1 1 1
= — 22 DY S Y (S R
/O(x ) de {2 3], \273) "3

Q. What happens when f(x) > g(x) for some values of x but g(z) > f(z) for other
values?

A. We simply take the absolute value of the integrand before integrating. That is,
the general formula for the area A of the region bounded by two continuous
functions f and g and the vertical lines * = a and x = b is

A:/Wﬂ@—gwnw,

where £(2) — g(x) when f(z) > g(z)
B x) — g(x) when f(x) > g(x),
1766 =0l = { 162) Z 760) vhen 710) = o)
For continuous functions f and g, the regions where f(x) > g(x) and f(z) <
g(x) are separated by the points where f(x) = g(z).
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e To find the area of the region bounded by f(z) = z and g(x) = z*

, we first solve
for the intersection points:

£(z) = 9(a)

=z =27
=0=2’-a=z(’-1)=2(r—1)(z+1)
=x=-1,0,1.

On [—1,0] we see that f(x) < g(x) and on [0, 1] we see that f(x) > g(x). Thus
0

A= [ 1@ -s@ldr= [ o) = f@Nar+ [ (1) = glo)da

-1
0 1 4 270 2 471
:/(a:g—x)d:c—i—/(x—ﬁ)dx:[x__x_] _,_{ _ }
. 0 4 2]
B 1 1 N 1 1 _1+1_1
- 4 2 2 4 442

without first taking the absolute value of the integrand?

A. We would find
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In general, whenever f(x) — g(z) is an odd function we will find

[ )= g@ldz = [ (1@ =g+ [ (@) = gz =0,

1 -1

because the two contributions are of opposite sign, even though the geometric
area of the region bounded by the two functions will (normally) be positive.

e Find the area bounded by the curves y = sinz, y = cosz, z = 0 and = = 7/2.
f(z) =sinx
A

g(z) = cosz

0 71'/4 7T/2\ x

The intersection points occur when
) T
sinx =cosx = tanxr=1=x = T

We need to split the integration interval [0, 7/2] into two parts:

> T 3
A—/ |cos & — sin z| dx—/ (cosa:—sinx)dx+/ (sinx — cosx) dx
0 0 z

INEYSIE]

= [sinz + cos x]g + [~ cosx — sinz]
1 1 1 1

= ——0-1-0—-14—+—=2V2-2
V2 V2 V2 V2

e If the function is defined piecewise, we can integrate it in two pieces. For example,
to find the area bounded by y = h(z) and y = 0 between z = 0 and = = 2, where

T if0<z<1,
h@)_{z—x if1<z<2,

we would perform the integral over [0, 1] and [1, 2] separately:

/02|h(:v)|dx:/olxdx+/12(2—x)dx: [%2]}[_@]?:%%:1'
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However, it is even easier to determine the area of this region by finding the area
between the inverse functions x = f(y) =2 —y and = = ¢g(y) = y, where y varies
from 0 to 1:

! ! ' (1-9?]"
/ [f(y) —9(y)| dy:/ (2—y) -yl dy=2/ (1 —y)dy=2{—T] =1

0 0 0

0

6.2 Volumes by Cross Sections

Single-variable calculus can sometimes be used to calculate more than just lengths
and areas. If an expression for the cross-sectional area of an object is known, it is
possible to compute its volume by the method of cross sections (also known as the
method of slabs or slices).

For example, we can of course easily compute the volume of a loaf of bread, where
each slice has same shape and size, using the definition

volume = area x length.

But what if the slices of bread don’t all have the same size (or even the same shape)?
Maybe we have a conical loaf!

Q. What is the volume of such a strange loaf of bread?

A. Slice up the loaf and sum up the area (height x width) x thickness (x; — ;1)
of each slice to form the Riemann sum

ZA(@)(% — Ti1),

where A(x) is the area of a cross section at = obtaining by slicing perpendicular
to the z axis and z is a point in [z; 1, z;] Assuming that A(z) is integrable on
[a, b], we can take the limit as n — 0o to find the volume:

n b
V= 711;120 Z A(x))(x; — x4-1) = / A(z)dz.
i=1 a
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e For a conical loaf of bread of length L, the middle slice, at = L/2 has 1/2 the
height and 1/2 the width of the largest slice, so its area is 1/4 the area of the
largest slice. If we put the apex of the cone at z = 0 and the largest slice, with

area A, at x = L, we see by similar triangles that the slice located at x has area
A(x) = (x/L)*A. Thus

L L:L'2
V= /0 Ax)dz = i ﬁA dx
A [t Alz81" A3 1
== = || =22 =ZAL
), T L2{3L 23 3

We have thus established the formula:

1
Veone = 3 base area x length.

e We can compute the volume enclosed by a sphere of radius R, described by the
equation x? +y? + 22 = R?, by partitioning the x axis. This produces circular cross
sections of radius r = r(z) > 0. The value of r is the maximum possible value of vy,
which occurs when z = 0:

P+ =R =y=+VR? 22

That is, r(z) = VR? — 22, so that A(x) = 7r? = 7(R? — 2?). Thus

R R 3 R 4
V= / m(R* — 2*) dw = 27r/ (R* — 2% dx = 27 {R% - —} = -TR>.
. ; 3], 3

e Find the volume of the solid obtained by rotating the area bounded by the curves
y = +/z and y = 0 from 0 to 1 about the z axis.



https://www.math.ualberta.ca/~bowman/m101/fig/sqrtx01.html
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Since the radius of revolution is given by r(z) = y = \/z, the cross-sectional area
is given by

Az) = 7r* = W(\/E)z = 7.

1 1 21 o«
V:/ A(a:)dx:/ dexzﬁ[—] =—.
0 0 2 0 2

e We could instead compute the volume of the funnel-shaped object generated by
rotating the region bounded by y = \/x, = 0, and y = 1 about the y axis. For
the method of cross sections, we always slice the rotation axis (in this case the y
axis) and express everything else in terms of the corresponding variable (y). We
see that the radius of each circular cross section is r(y) = x = y?, so that the
cross-sectional area is A(y) = nr? = wy*. The resulting volume of revolution is

thus
1 1 571
V:/ A(y)dyzw/ y4dy:7r[y—] .
0 0 ) 0 5}

Thus

s

e We could also rotate the region bounded by the curves y = v/z, y =0, and x = 1
about the y axis. If we slice the y axis, each cross section is just an annulus of
outer radius rou(y) = 1 and inner radius 7,(y) = * = y?, with area A(y) =
Trout? — Trin> = m(1 — y*). The volume of the resulting object is then

5}1 A7
o D

VZ/OIA(y)dyZW/OI(l—y4)dy=7r{y—%


https://www.math.ualberta.ca/~bowman/m101/fig/sqrtx01y1.html
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Q3;4/y=\/E

(1,1)

Problem 6.1: Explain why the volumes calculated in the previous two examples add
up to 7, the volume of a cylinder of unit radius and unit height.

e If we rotate the region bounded by f(z) = z and g(x) = z? between x = 0 and
r = 1 about the z axis,

we need to find the area of the annular region with outer radius ro.(z) = f(z) = =

and inner radius ri,(z) = g(z) = 2%

A(@) = Trow” — 7 = m[2” — (2°)*] = 7(2® — 2*).

Thus


https://www.math.ualberta.ca/~bowman/m101/fig/sqrtx01y.html
https://www.math.ualberta.ca/~bowman/m101/fig/xxsq01.html
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e We could also rotate the same area about the line y = 2 instead of y = 0.

Now
Ax) = mrow’ — i = m(2 — x2)2 — (2 —2)* = w(z* — 52% + 4x).

The generated volume is then

Problem 6.2: Find the volume generated by rotating the region bounded by f(z) = x
and g(x) = 22 between z = 0 and z = 1 about the line x = —1.



https://www.math.ualberta.ca/~bowman/m101/fig/xxsq01y2.html
https://www.math.ualberta.ca/~bowman/m101/fig/xxsq01x-1.html
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e Consider the three-dimensional object formed by erecting an equilateral triangle,
with altitude perpendicular to the xy plane, on every chord x = const of the circle
2,2
x°+y° =1

To find the volume of this object, we only need to find the cross-sectional area A(z)
of each equilateral triangle obtained by slicing the object along the planes x = const.
The length of the base of this triangle, which has endpoints (x, —y) and (x,y), where
22 +1? = 1, is 2y. Pythagoras’ Theorem tell us that the altitude h of this equilateral

triangle is \/(2y)2 — 2 = v/3y. Hence
A(z) = %(2y)h =V3y? = V3(1 - 7).

The volume of the object is then easily computed:

vz/1 A(x)da;:/llx/§(1—x2)dxzz/olﬁ(l—ﬁ)dx:2ﬁ{x—x—}l:@.

1

e Consider the volume of one of the two wedge-shaped regions bounded by the cylinder
2?2 + y?> = 16 and the plane containing the z axis and oriented at an angle of
30° = /6 to the xy plane. If we slice this object in the x direction, we obtain
triangular cross sections with base length y and altitude y tan(7/6) = y/v/3. Thus


https://www.math.ualberta.ca/~bowman/m101/fig/equilchord.html
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so that

o 33

160 — —

Al

4 2 4 .2 374
V:/ 16 xdx:2 16 xd:):: az] 128
4 23 0o 2V3

6.3 Volumes by Shells

Suppose we wish to rotate the area under the curve y = f(z) = 222 — 23 about the y
axis. The method of cross sections requires that we slice the y axis and express all
quantities as functions of y. Finding the radii 7y, and 7., amounts to inverting the
equation y = 222 — 23 to find two distinct values of & for every y within the limits of
integration.

3

y =212 —2x

s

4
3

In general, performing this kind of inversion can be a difficult problem. In this
example, f has roots only at + = 0 and x = 2 and f(z) > 0 on (0,2). We can easily
see that the maximum value of f must occur at 4/3 since f/(z) = 4x—32? = z(4—3z).


https://www.math.ualberta.ca/~bowman/m101/fig/wedge.html
https://www.math.ualberta.ca/~bowman/m101/fig/washermethod.html
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However, it is much more difficult (although in this case not impossible) to find for
each y the two values 1y, and 7oy such that f(ri) = f(rou) = v-

For such cases, there is an easier alternative, the method of cylindrical shells, where
one computes the volume using Riemann sums of volumes of cylindrical shells:

1. Partition an axis that is perpendicular to the rotation axis. Then compute the
volume of the cylindrical shells generated by revolving the area within each
subinterval around the rotation axis.

2. To find the total volume, add up the volumes of all shells and take the limit as
the width of the subintervals goes to 0.

We readily see that the volume of a cylindrical shell of inner radius r; and outer
radius 7o and height A is given by

nrsh — wrih = wh(ry —r3) = wh(ry + 1) (ry — r1) = (277)hAr,

where r = (r; + r9)/2 is the mean radius and Ar = ry — r; is the width of the
subinterval. (We use the symbol = to emphasize a definition, although the notation
:= is more common.)

When the area under the curve y = f(x) is rotated about the y axis, we can
use a uniform partition to form a Riemann sum for the volume by approximating
the height h of the cylindrical shell on each subinterval [x; 1, z;] by the value of the
function f at the mean radius =} = (x;_; + x;)/2. Then

n b
V = lim Z 2ra} f (o] )(x; — xm1) = 27r/ xf(z)de.
i=1 @

Note here that 0 < a < b.

e We can compute the volume formed by rotating the region under y = f(x) =
222 — 2 about the y axis very easily now, using the method of cylindrical shells:



https://www.math.ualberta.ca/~bowman/m101/fig/shellmethod.html
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2 2
V= / 2w (22 — 2°) do = 27r/ (22% — ) dw
0 0

4 572
:%{ﬁ_f_] :%(8_%) _ 167

In general, the volume of the object generated by rotating the region bounded by
the functions f(z) and g(z) between z = a and x = b about the y axis is given by

b

V= &z [ -e@ldr,
circumference height width

where we have given a geometric interpretation for each factor.

e When the region bounded by the functions f(z) = x and g(x) = 2% and the lines
x =0 and x = 1 is rotated about the y axis,

the volume generated is

1 3 471
1 1
V:27r/0 x(x—x2)dx:27r[%—%L:%r(g_z_l) :%,

Alternatively, we could have obtained the same answer with the method of cross sections
by slicing the y axis. Since 7oy = /y and ri, = y, we see that

1 1 2 371
_ R N 2 ol |Y Y| _T
V—T‘-/O (Tout Tin )dy ﬂ-/() |:(\/§) y:|dy 7T|:2 3:| 6


https://www.math.ualberta.ca/~bowman/m101/fig/xxsq01y.html
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e We can of course also rotate a region about the z axis. The region bounded by
y=+vz,y=0,z=0,and z =1

y=z
i (1,1)

would generate the volume

1
V:/ 2ny  (1—x) dy :27r/ y(1 —y?) dy
N~ N N 0

circumference height width
5 y? oyt ! 5 1 1 T
2 4, 2 4 2’
in agreement with the result we previously obtained using the method of cross sections.

Problem 6.3: The region bounded by the curve (z — R)? + y* = a? is rotated about
the y axis, where R > a to obtain a torus of minor radius a and major radius R.

(a) Use the method of washers to find the volume of the torus.
Slice the torus in the y direction, creating washers of outer radius R + y/a2? — y? and
inner radius R — y/a? — y2. The area of each washer is

Aly) = w[(m Var =) (R~ M)g] —dnR® — g,


https://www.math.ualberta.ca/~bowman/m101/fig/shellsqrtx01.html
https://www.math.ualberta.ca/~bowman/m101/fig/torus.html

6.3. VOLUMES BY SHELLS 127

so that the volume V' of the torus is given by
a

V= 47rR/ Va2 —y?dy.
—a

We recognize that ffa v a? — y2?dy is just half the area of a circle of radius a.

2
V= 47TR% — 272Ra>.

(b) Use the method of shells to find the volume of the torus.

Slice the torus in the z direction, creating cylindrical shells of radius x and height
2y/a? — (x — R)2.

The volume V of the object is thus, on letting u =z — R,

R+a

V =dr $\/a2—($—R)2d$:4ﬂ'/

R—a —a

+a 2
(u+ R)Va? —u?du= 47TR% = 27 Ra?,

on exploiting the fact that uyv/a? — u? is an odd function of wu.



Chapter 7

Techniques of Integration

7.1 Integration by parts

Recall that the substitution rule is really just an integral version of the chain rule.
Another important and frequently used rule in differential calculus is the product
rule.

Q. Does the product rule also have an integral version?

A. Yes, it is called integration by parts, as illustrated in Table 7.1.

d
— d
dx /ac

Chain rule Substitution rule

Product rule | Integration by parts

Table 7.1: Techniques of Integration.

Theorem 7.1 (integration by parts): Suppose f' and g are continuous functions.
Then
/fg’zfg—/f’g.
Proof: Then (fg) = f'g+ f¢', so fg is an antiderivative of f'g + f¢’. That is,
/(f’g +f¢)=fg  towith a constant.

128
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[ tdar=1a~ [ rodc

Remark: Letting u = f(z), so that du = f'(z)dx, and v = g(x), so that dv =
¢'(z) dx, we may rewrite the integration by parts formula as

/udv:uv—/vdu.

Remark: For definite integrals we have, by the Fundamental Theorem of Calculus,
b b b
/ fg'dr = {fg} - / f'gdz.

e We can integrate f x sin x dr using integration by parts:

In other words,

/ r singdr=_x (—cosx)—/ 1 (—cosz) dx

I f ; f y

/xsinxdm = —xcosz +sinx 4+ C

Try to pick f so that f’is simple and ¢’ has a known antiderivative. If instead we
had picked

f=sinz (= f =cosz)

'=x = —$2
g = 9—2

then the integration by parts formula leads to an even more complicated integral:

x? x?
/sinx xdmzsinx(;) —/cosx(?) =....

So this choice of f and ¢’ was not fruitful.

and
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/logxdx:/l-logxdx,

we might be tempted to try integration by parts, setting f = 1 and ¢’ = log x:

/logxdx:1/logxdx—/0{/logxdx}dx
:/logazda:.

This doesn’t help! Instead, we could try f =logx and ¢ = 1:

e Noting that

1
/logz)s- 1 der=logx-_ = —/ — _x dx
~—~— =~ ~—_— =~ xr S~~~
f g/ f g \f,// g

=zxlogx —x+ C.

e Similarly we can integrate tan~! by parts and use the substitution u = 22 to find

1 1 1
tan 'z 1 dx:{xtan_lx] —/ ” 5 dx
0 f g’ 0 0 1+$
12
1 d
zltan_ll—O—/ au
02 1‘|‘U 2
™ 1
21—5[10g|1+u”c1)
™ 1
T g2,
1 2%

e In order to find

22 " dr=x%e® — | 2zedx,
o —

g
we need to know [ 2ze® dx. But that integral is just twice [ ze”dx, which we can
find by applying integration by parts again:

/xexd:v:xex—/exdx:xex—ex+0.
Thus

/xQGI dr = 2%e” — 2(xe” — e* + O)

= 22" — 2ze” + 2e* + Oy, where Cy = —2C.
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e We can even find integrals of the form

I = [sinzg € dr=sinze® — | cosxze®dz.
N~
f g’

What is [ cosxe” dx?

cosx,_e® dr=cosze® — | (—sinx)e®dx
N~
g

=cosxe’ + I.

Thus [ = sinze® — (cosz e* + I), from which we find I = %Sinmex—%cosxem—i—C’.

e FFor nonzero real numbers a and b find

1= /e‘w cos bx dx,
J = /e“x sin bx dzx.
On integrating by parts, we obtain

1 b
I:/ e cosbr, dv = — e** cosbx + —/e‘” sin bx dx,
N~ -~ a a
g f —_—
J

J:/e‘”sinbxdw:le“xsinbx—é/e”cosbxdx.
a a

J/

-

1

We thus need to solve the system of equations

1 b
I =—e""cosbr + — J,
a a

1 b
J==-e"sinbr — - 1.
a a

2

1 b
=] = —e““cosbx+—26“xsinba:——21
a a a

2
1+b— I = 1cosba:—i—ﬁsinbx e™.
a? a a?

L7 a cos bx + bsin bx
a? + b2

__asinbr — bcosbr
n a? + b?

e + Oy,

e + Cy.
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e We now compute, for n > 2,

I, = /sin”xdx

= [ sin" 'zsinz dx
—

f g
=sin" ' 2(—cosx) — / (n —1)sin" 2 z(cos z)(— cos x) dx
7
Now
/sin"_2 x cos’x dr = /(sin”_2 x—sin"x)dr =1, 5 — I,.
2
1—sin“x
Thus
I, =—sin" txcosx + (n—1)(I,_o—1I,)
= ], = —sin" tzcosx + (n—1I, o —nl,+1I,
= nl, = —sin" ' zcosx + (n — 1)1, 5.
That is,

) 1. .- n—1 e
/sm”xdx: —Zsin" 'z cosx + sin" 2 x dx.
n n

This is known as a reduction formula.

e For n = 2, the reduction formula states that

1 1
/siandx:—isinxcosx—i-5/1d$

L + = +C
= ——sinxcosz + —x :
2 2

Alternatively, one can evaluate this integral using trigonometric identities:

1— 2 1 1
/siandx:/ﬂd:c:—x—é—lsin2x+0

2 2
1 1
= 5:1:— §sinxcosa:’+0.

e For n = 3,

1 2
/sin3mdx:—gsin2xcosx+§/sinmdx

L.,
= ——gsin“xcosx — —cosx + C.
3 3
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e An important integral that will soon need is, for n > 1 and a # 0,

1
Jn,a(l/’):/m'ldx
2
X T
SR, VA N |
(1.2+a2)n + n/(x2+a2)n+l &z

x (22 + a®) — a?
= (22 + a2)n —|—2n/ (22 + a2)n Tl dx

_ x 1 p a? p
- (22 + a®)" +2n (22 + a)" L= (22 + a2)n+! X

i
e 2 2
(22 + a?)n +20(Jna() = @ Jp1,a(2))
X
= (1= 2n)Jna(r) = @ ra)y 2na* Jy1,0().

The resulting reduction formula,

1 T 2n — 1

Jn a =
+1a(2) 2na? (z2 + a?)n * 2na?

Jna(x)| (n>1,a#0),

together with the result (for a # 0)
1 1 x
JLa(l’) = /m de = E arctan E + C,

allows us to compute J, ,(x) for any n > 1.

1
/ arcsin x dzx.
0

1 1
/ 1 - arcsinx dx = [z arcsin a:](l) - / T de = arcsin 1 + [(1 - 332)1/2]

Problem 7.1: Find

0 2

Problem 7.2: Let P(z) be a polynomial of degree n. Prove that

/P(a:)em dr = e” i(—l)kP(k)(a:‘) +C,

1 T

133

)

— 1.

where P®*) denotes the kth derivative of P. Give an explicit reason why the sum

terminates at k = n.
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This follows immediately on integrating by parts n times, using f(z) = P(x) and g(x) =
e’. Alternatively, we can verify the result by noting that the derivative of the right-hand
side is

n n n n+1
e ()PP (2) + "y (~1)FPE D (2) = " Y (1) PP (2) — €7 i(_nkp(’f) ()
k=0 k=0 k=0 k=1

_ 6:th(O)(I) - ex(_l)n—l—lp(n—&-l)(x) _ BIP(SU)

since P (z) = 0.

7.2 Integrals of Trigonometric Functions

Often we encounter integrals of the form
/ sin™ x cos” x dz,

where m and n are integers. Here is an integration strategy:

Case 1. If either of the integers m or n is odd, separate out one factor of sinz or
cos x so that the rest of the integrand may be written entirely as a polynomial in
cosx or a polynomial in sinx, as the case may be. Then make the appropriate
substitution. (Note: if both m and n are odd there will be two possible ways of
doing this.)

Case II. If m and n are both even use the addition formulae

. 9 1 —cos2z 9 1+ cos2zx . .
sin [E:T, CosS :B:T, 2sinx cos T = sin 2z,

possibly repeatedly, to reduce the problem to the form of Case I.

e Find [ sin®x cos® z dz, using the substitution u = cosz (du = —sinz dx),

/ sin® z cos® v dw = /sin 2(1 — cos? z) cos® v dx

:—/(1—u2)u2du:—/(u2—u4)du

3 5 1 1
:_<%—ug) +C’:gcos5a:—§cosgx+0.
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e Find [sin®x cos® z dz, using the substitution u = sinz (du = cosx dz),

/ sin z cos® x dr = / sin? z(1 — sin®2) cos x dx

= [ v*(1 —u?)du
3 5 1 1
:%_%+C:§sin3x—gsin5m+0.

e We can use the fact that sin®2x = (1 — cos4z)/2 to compute

1 2

/siancos2xdx:/(§ sin2x> dx
1 1 — cosdx

_Z/de

1 in 4
:_{x_sm4 $]+C’.

Problem 7.3: Find
/ cos’ xsin® x dx

Let u = sinx. The integral then evaluates to

/(1 —u?)3u? du = /(1 —3u® 4 3u? — uO)u? du = /(u2 — 3u* + 3ub — u®) du

o 3w 3T Wf sinz  3sin®z  3sin’z  sin’x
= -t ———+4C= — -

3 5 7 9 5 5 7 9+C‘

Problem 7.4: Prove that

(a)
o cosh2z +1

cosh”x = ;
2
) h2 1
cosh 2z —
sinh” z 5 ;

()

2 sinh z cosh x = sinh 2.

Remark: In view of Problem 7.4, the same technique can be used to compute
[ cosh™ zsinh™ x dx for integer values of m and n.
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Remark: The technique of extracting out an odd factor of cosx or sinx can even be
applied if one or both of the integers m and n are negative. For example, we can
compute the indefinite integral of secx by rewriting the integrand and using the
substitution v = sin x,

/secxdx:/ﬂdx:/%dx
cos?x 1 —sin“z
1 1 1
= du = 2 42 g
/l—u2 N /(1—|—u+1—u) ’

1 1
:—log\1+u\—§log|1—u|+0

2
1 1+ si
:—logﬂ +C
2 1—sinz
1 (1 +sinz)?
— Clog |4
2 og' 1 —sin’z
1 ' 2
g LS o
1—sin“x
14
= log S hsme +C
CoS T

=log [sec z + tan z| + C.

Remark: One can use a similar technique to compute certain integrals of the form
/ tan™ x sec” x dx,
by exploiting the Pythagorean relation tan? x+1 = sec? x, along with the derivatives
— tanz = sec’ x
dx

and

d d 1 +sinx
—secr = — = = gecxtanx.
dx dx \ cosx cos? x

For example, if m is an odd natural number, the substitution u = sec x will reduce
the integrand to a polynomial. If n is an even natural number, the substitution

u = tan x will work.
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e Letting u = secz, we find

tan® z sec® z dx

/ tan’ x sec® x sec x tan = dz
—_—
du
5 3
= - udu=———+C
/(u Yu” du : 3 +

5 3

sec®’x  sec’x
= — + C.
5 3
e Letting u = tan x, we find
/ tan® z sec? x dx

= /tan4 z(1 + tan® x) sec® x dx
d

7 tan®z  tan’x

—/ 1 +u?)d —u5+u +C= + +C
= u u U—5 7 = 5 7 .

e An alternative method for computing the integral of secx relies on the following

trick:
secx + tanx
secrdr = [ secx| — | dx

secx + tanx
/ sec T tan r + sec’ x

— dx

secx + tanx
=log |secz + tanz| + C.
e Compute

sec v dr = [ secxsec® x dx.
=

! g
On integrating by parts, we find that

/sec3xdx =secxtanx — /(secxtanx) tanz dz
=secxtanx — /sec z(sec’ r — 1) da

:secxtanx—/sechdx+/secxdx.
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2/sec3xda: = secx tanz + log [secx + tan x| + C

1
= /sec?’xdm = E(secxtanx—|—log|secx+tanx|) +C.

7.3 Trigonometric Substitutions

Trigonometric substitutions are often useful for evaluating integrals containing square
roots of quadratic expressions. Several common trigonometric substitutions for fre-
quently appearing quadratic expressions are listed in Table 7.2. Note that it may be
necessary to complete the square of the quadratic and shift the variable of integration
to put the expression into one of these forms.

x = asinht

Expression x Domain Substitution | 6 or ¢ Domain Identity
a? — 12 [—a, d] T = asinf [-Z,7] 1 —sin? 6 = cos® 6
Va?+ 12 (—00, 00) r = atanf (-%.3) 1 + tan? 0 = sec? 0

1+ sinh?# = cosh? ¢

2 — g2

(—o00, —a] U [a, oo]

xr = asecl
xz = acosht

Ul 5)
, 00

sec2 — 1 = tan24

) cosh’t — 1 = sinh®t

Table 7.2: Useful trigonometric substitutions.

e We can use the trigonometric substitution z = asin 6 to find the area between the
half-circle y = Va? — 22 and y = 0:

/ \/@2—x2dx:/2

Ny

acosBacosfdf = a2/

e We can find the indefinite integral

/\/u2 + a?du

2

s
2

2 14 cos20

df = za2.
2
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with the substitution u = atan 6 (du = asec® 6 df). Without loss of generality, we
assume that a > 0. Since

u? + a® = a®*(tan 0 + 1) = a®sec? 6,

we may write

/\/u2+a2du:/asec&asec29d0:a2/sec30d9

2
= %(sec@tan@ + log|secd + tand|) + C,

a® [ Vuz+a® u Vu+a? wu
P A R

1
= §<uvu2 +a2+a2log‘\/u2 +a2+u‘ —aﬂoga) + C,

on making use of an integral computed previously on 137.

e For 0 < x < 3, the substitution # = 3sinf (de = 3cosf) and the fact that
V9 — 22 = 3cos f can be used to evaluate the integral

V9 — 22 1 — sin® 1
/9—2$dm=/939052993c059d9=/ﬂdez/( 1)d9
T

sin sin? 6 sin2f
VO — 72
:—cot9—9+C’:——x—sin’1§+C’.
T

In the last line one simplifies cot § = cot(sin™*(2/3)) to v9 — 22/ with the aid of
the triangle below.

3

0
V9 — 22

Problem 7.5: Find the antiderivative
V9 — 22
Tz @

for -3 <z <0.
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Problem 7.6: For a > 0, show that the substitution x = asec can be used to find

/ dx
VE—@

/ T B asectand J0 — sec@tan@ Secgtanedﬁ/sec@dﬁ
Vi —a? a?sec? — a? \/sec20 tan ¢ B

x x?
= log(sect + tan#) + C = log <+ \/ =5 — 1) +C.
a a

Remark: Alternatively, the hyperbolic substitution x = a cosh ¢, with dx = asinht dt,
and the fact that 22 — a? = a?sinh? ¢ can be used for a > 0 to evaluate

dz 1 ) .
/m—/asinhtasmhtdt—/dt—t—i-C'—cosh E—i—C.

Show that the answer agrees with the result found in Prob. 7.6.

e An integral of the form

3
Xz
S —
/ (422 +9)2

can first be put in the form of the expressions listed in Table 7.2 with the substi-

tution u = 2x, so that 422 +9 = u?> + 9. One could then apply the substitution

u = 3sinht. In fact, both substitutions can be done in a single step by defining
_ 3 winh 4

xr = 5sinht:

2)” sinh® ¢ inh? h?¢ — 1) sinh
/(( 2)" sin >§coshtdt 3 [ sin tdtzi (cosh”t — 1) sin td

P cosh®t 16 ) cosh?t 16 cosh? t

3 sinh ¢ 3 1
— 2 [ (sinht — 2220 ) gt — 2 (cosht C=—(vaz+ C
16 (Sm cosh? t) 16 (COS + cosht) + ( A 9) +&

on noting that

422 N4z2 +9
cosht = V1 +sinh?t = 1—1—%2%.

The integral could have also been evaluated with the substitution x = %tan 6.
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Q. How about integrals of the form [ v2?+ x4+ 1dx?

A. We can first simplify the integrand somewhat by completing the square and mak-
ing the substitution u = = + 1/2:

1\? 1 / 3
— _— = 2 —
/\/<x+2) 4+1dx / u—|-4du.

The resulting integral is of the form [ +v/u?+ a?du, which we computed in
section 7.3.

e The integral

dx

/\/ﬁd‘r:/\/—(ﬁizx—a

:/\/—((x+f)2—1—3)d$
:/\/4_;;—“)2@

may be evaluated with the substitution u = x4+ 1, followed by u = 2sin #, to obtain
2sinf — 1

V4 — 4sin? 0

2cos 6 db :/(QSiné’— 1)df = —2cos — 0+ C

= —y/4—(z+1)2—sin! (xTH)JrO.

Problem 7.7: Evaluate

/ w4 3u? +3u+1
u.
(4u? + 8u + 13)3/2

7.4 Partial Fraction Decomposition

P
Recall that a Rational functions is a function of the form f(z) = %, where P(x)
x
and Q(x) are polynomials. Consider the following techniques for integrating rational
functions.
e Find

1 1
/x—i— da::/(1+—)d:c:x+log|x|+(§’.
T T
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e Similarly,

T r+1 1
/x+1 ’ /(x+1 x+1) v=w—loglr+1]+

Q. Can these techniques be generalized for integrating any rational function?

A. Yes, using the general method of partial fraction decomposition:

Suppose we wish to evaluate the integral

[

where P and () are polynomials functions of z.

Step 1: If the degree of P > degree of (), we rewrite the integrand in proper form:

P(z) R(z)
Q(z) Qz)’

such that the degree of R is less than the degree of Q).

= S(z) +

e Suppose that P(z) = 23 +z and Q(x) = x — 1. We see that deg P = 3 > degQ = 1,
so we put P(z)/Q(x) in proper form, using long division:

P(z) 2*+x 2
= =z +xr+2+ .
Qz) -1 ~—— z-1

We can now go ahead and integrate S(z) and, in this case, also R(z)/Q(z) without
doing any further work:

3 2
/x +xdx:/ PHr+2+——|dx
x—1 rx—1

2P

=§+?+2x+210g|x—1|+0

Remark: At this stage, we will always be able to find an antiderivative for S(z)
since it is just a polynomial. The following steps may be needed to integrate the
remaining term R(z)/Q(x).
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Step 2: Factor Q(x) as far as possible, into products of linear factors and irreducible
quadratic factors.

e Q) =a2t—16= (22 —4)(2® +4) = (z — 2)(x + 2) (2% + 4).
e Q(r)=(z+ 1)(x+2)*(z* + v+ 3)(z* + z + 4)*

Step 3: Suppose Q(z) has the form
Qx)=Alx —a)"... (2* + vz +\)™...,

where the discriminant ¥2 —4\ < 0, so that 22 +~x 4\ cannot be factorized into
linear factors with real coefficients. It is then possible to express R(x)/Q(z),
where deg R < deg () in the form

R(CL’) A1 A2 An
Q) {u—a) IR <x—a>n} T
FlfL'—f-Al me—"Am
[m (x2+7x+)\)m] N

Step 4: Solve for the coefficients in the numerator by equating like powers of x.

e We can solve
1 A B A(x+1)+ Bx

x(x+1) ;+x+1: x(x+1)

for the coefficients A and B by equating like polynomial coefficients in the numer-

ator. On setting
l=A(z+1)+Bx=(A+ B)x+ A,

we see that the coefficients of z° and z! are

20:1=A,
2t:0=A+ B.
The unique solution to these equations is A =1 and B = —1.

Step 5: Integrate each term separately.
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e Find
S A—
/(x+a)(w+b)
Try to write
x A N B Alx+0b)+ Bz +a)
(x+a)(x+b) x4+a x+0b (x+a)(z+0b)

Thus
2t: 1=A+B=B=1-A,
2Y: 0= Ab+ Ba.

Solving for A and B, we find for a # b that
0=Ab+ (1 - A)a,

a
A:
~ a—1"b
a —b
B=1- = :
a—b a-—0b
o If a # b then
x a 1 b 1
———dr = dx — d
/(x—l—a)(:c+b) ‘ a—b/:c—ira v a—b/x—l—b v
— log |z + a| — log |z +b] + C.
a—>b a—>b
Problem: But what if b = a? Then
1=A+B
0= Aa+ Ba= (A+ B)a,
which is consistent only if a = b = 0.
Remedy: Write
r A N B Alw+a)+B
(r+a)? x4+a (r+a)?  (v+a)?

Then
o 1=A
2: 0=Aa+ B = B = —a.

: /ﬁdaj:/[wia‘@f@? o

a
=loglz +al|+ ——+C.
T+a
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Since deg z? = 2 > deg(z + 1)* = 2, we need to rewrite

e Evaluate

@ . (22 +1)
(x+1)2 (x+1)%
Express
20 +1 A B

Cr1? 241 @rlP
this requires that 2z + 1 = A(z + 1) + B. On equating like powers of x, we find

rl: 2= A,
: 1=A+B=B=-1,

/mi—Qlwdx:/(l‘[azi*(xfl)deI
:/<1‘Li1+<xfn2bdw

1
:x—210g|x+1|—x—+1+0.

so that

Remark: Show that the substitution ©« = = + 1 makes the previous problem much
easier!

e To find

/1—x—|—2x2 — 3
dx
(2% +1)2

we write
1—x—|—2:v2—x3_A Brxr+C Dx+FE

x(x? +1)2 x+ 2 +1 +($2+1)2'

This requires that

2?4222 —x+1=A2*+ 1)+ (Br + O)x(2* + 1) + (Dx + E)x
=A(x* + 22 + 1)+ B(z* + 2*) + C(2* + 2) + D2* + Ex

Thus
0=A+B,

xt:
23 —1=0C,

22 2=2A+B+ D,

2t -1=C+FE=FE=0,

2 1=A=B=-land D=1,



146 CHAPTER 7. TECHNIQUES OF INTEGRATION

so that
/1—m+2x2—$3d / 1 :)3+1+ x p
T = - — x
x(x? 4 1)2 x 2241 (x2+1)?

/ 1 x 1 n x J
= - - T
x x2+1 2241 (2241)2

1 1
=log |x| — Elog(az:2 +1)—tan'r — ——— + K.

2(z2+1)
1
/ e dzx.

Step 1: We already have deg P < deg Q.

e [Find

Step 2: Noting that Q(x) = 2® — 1 has a root at x = 1, we factor
Qz)=2"—1=(z - 1)(2* + 2z +1).

The quadratic factor 22 + x + 1 cannot be factored into linear factors with real
coefficients since it has no real roots (the discriminant 12 — 4 = —3 is negative).

Step 3: Write

o A n Bx+C
-1 x—1 224x+1
Step 4: Then
l=A@*+z+1)+ (Bx + C)(x — 1)
= A’ + Ar+ A+ Bz — Bx+Cz — C.
We find

.I'QO:A_"B:B:_A:
2t:0=A-B+C,
:1=A-C=C=A-1.

The z! equation then yields 0 = A+ A+ (A —1), which implies A =
and C' = —%, so that

1 1 12
dr = 54 3785 g
/1:3—1 . /x—l x+/m2+x+1 v

B 1

W=
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Step 5: On completing the square and letting u = = + 5, we evaluate
2 2
/ _rHa dr = / er - dr
24z +1 (.7:+—)2—Z+1
u+ 3
= / o du
u®+ 3

u 3 1
= du + = d
/u2—|—§L u+2/u2+% !

1
T2

u?+ = '+§7arctan 7

1 2 1
:§log’:r2+x+1‘+\/§arctan< T >+K.

log

Thus

1 1 1 1 20 +1
dz = - log |z — 1| — = log|2? 1| — —= arct K.
/:z;3—1 T=3 oglr — 1] s log|z +a+1] \/garc an( 7 >+

Problem 7.8: Evaluate

1
/1_u2du.
1 B 3 3 1
/(1+u)(1—u)du_/<1+u+1—u>du_210g

Note: in the complex plane, the antiderivative may also be written as tanh ™' u+C'". However,

1
+U+C
1—u

in R, the latter solution does not exist outside of (—1,1).

Problem 7.9: Compute

1
/ (W + D)(u+1) du.

1 A +Bu+C’
(wW2+1)(u+1) u+l w241

Express

By equating coefficients of like powers in 1 = A(u? + 1) + B(u? 4+ u) + C(u + 1), we obtain
the system of equations

w:1=A+C,

uw':0=B+C,

u?:0=A+ B,
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which has the unique solution A = C =1/2, B = —1/2. Hence the integral becomes

1 1 u 1 1 1 9 1
2/(u+1u2+1+u2+1)du:2log|u+1|410g(u +1)+§arctanu+K,

where K is a constant.

Problem 7.10: Find
dz.

/x3+4x2—|—7:v+5
(z+1)*(x +2)

First, note that (x + 1)?(z + 2) = 2% + 422 + 52 + 2. The integral thus becomes

/1+ 2 13 du
(z+1)%(z+2)

On expressing
2¢+3 A B C

G+ 12(@+2) o+l @rl? Ti2

and equating coefficients of like powers in 2z +3 = A(z + 1)(z +2) + B(x +2) + C(z + 1),
we obtain the system of equations

2°:3=2A+2B+C,
z':2=3A+ B +2C,
22:0=A+C,

which has the unique solution A= B =1, C = —1.
The integral thus evaluates to

x + log

r+1 1
x+2 r+1

where K is an arbitrary constant.

Problem 7.11: Here is a more challenging example. Find

1
/ x2(1 4 x2)? dr.

/)1d—i/u+f%_ﬂd _/ Lt 1y
22(1 + 22)2 T 22(1 + 22)2 v 22(1+22) (1+422)2 )
2y _ .2
_/ t+a2’)—= — ! dx
2?(1+2?)  (1+2?)?
1 1 1 1

where

dx
) = [ G
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Recall that the indefinite integral

dz
uale) = [ Gy

can be evaluated using the reduction formula

1 T

Setting n =1 and a = 1 yields

Tnt1al@) = 2na? (x? + a?)n In.a(2)
1 x
J2,1($) = 2<x2 + 1> + 5J11(),

where J; 1(z) = arctanz + C. Hence,

/1dx:—1—arctana:—1<
x2(1+ 22)? x 2
1
2

1

= —— — —arctanx —
r 2

1
) — iarctanx—i—C

Jee

7.5 Integration of Certain Irrational Expressions

Q. How do we find

integrals like

Vo +4
dz?
T

A. Substitute t = v/z + 4. Then t> = 2 + 4 = 2t dt = dx and

[,

Thus

T = ( t )2tdt
t2 —4

2 2 —4
=2 dt =2
/t2—4 /L2_4+

1
=2t+8 | ——dt
[

A B
=2t+ 8 — + ——| dt
o[ |25+

1 1
=2t +8 4 4 1t
* /[t—Q t+2}

t—2
— e
t+2‘+

=2t + 2log

V 4
/ T dr =2vx + 4+ 2log
x

1=A(t+2)+ B(t—2),
0=A+B=B=-A,
1=2A-2B=4A= A=1

vVe+4—2 LC
vVe+4+2
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In general, one can reduce any integral of the form
/ ple o ar +b dx
"Vexr+d ’

where R is a birational function

y
E a;;z'y’

R(ZU, y) = U—7
Z bkﬂky[
kl

of its arguments, to the integral of a rational function by using the substitution
fom axr +b
S Ve+d

e We can evaluate )

—dz
rT—\r+2

with the substitution ¢t = /z +2 = > = v + 2 = 2t dt = dxz,
t

1 1
— dz= | (————)2dt=2 | —————dt
/:c—\/x—l—2 v /(t2—2—t> /t?—t—Q
t
=2/ — gt
/(t—2)(t+1) ’

which can then be decomposed into partial fractions.

Remark: When more than one radical appears, it is often helpful to take m to be
the least common multiple of the radical indices.

Problem 7.12: Find / .

. . . 1 1
using the substitution t = 23 = x5s.

Problem 7.13: Find )
/ ..

—d
NEERVE

using the substitution ¢t = 71,
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7.6 Strategy for Integration

1. Simplify the integrand.

2. Look for an obvious substitution: see if you can write the integral in the form

/ #(
If so, try the substitution u = g(x

3. Classify the integrand.

(a) Trigonometric functions: exploit trigonometric identities to find integrals

of the form
[ sin” z cos™ x dx
f tan™ z sec™ x dx
[ cot™ z cse™ x dx

As a last resort, use the universal substitution ¢ = tan 3.
(b) Rational functions: use the Method of Partial Fractions.

(c) Polynomials (including 1) x transcendental functions (e.g. Trigonometric,
exponential, logarithmic, and inverse functions): use integration by parts.

(d) Radicals:
(i) V£22 £ a? : use a trigonometric substitution

(ii) {/ed. = p/oertd
For {/g(z) : t = {/g(x) sometimes helps.
4. Try again (maybe use several methods combined).

Problem 7.14: Find

i
——dx
/ V14 x2/3
Substituting first y = 22/3 and then t = y + 1 we find

/ x 324, 3 y? dy:?)/(t—l)th
1/1_1_352/3 wl—i—y 2) V1+y 2 Vit

3 [ o 12, 3250 Aap a2
_2/t 212 47V Rdr =D 0 - 2 ot ) 1 C
5/2 3/2 1/2
:§(1+x2/3> / —2(1+x2/3) / +3<1+$2/3> "
1/2 A2
1+a:2/3) [3(1+x2/3) —10(1+x2/3) +15} +C

-5
(1 + 172/3)1/2 (8 — 42?3 4 33:4/3) + C.

CH\H CﬂM—tcn
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Alternatively, substituting y = #'/3, then sinh ¢t = y, and finally u = cosht = \/1 + y2 =
V1 + 22/3 (which could be used as a more direct substitution), we find

/ sinh CObh tdt

[t [ w3 [ -

:3/(u —1)? du:S/(u — 2?4+ 1) du

u5 u3
— —2— C
5 3+u>+

3ut — 10u* + 15) + C

1+ $2/3)1/2 (8 — 4223 4 33:4/3) + C.

=3

—~ — 7

7.7 Improper Integrals

Until now, we have only defined the Riemann integral for bounded functions on closed
intervals. Let us now discuss situations where these restrictions may be somewhat

relaxed.
First, we extend the notion of integration to certain bounded functions on infinite

intervals.

Definition: Let f be a function that is integrable on every closed subinterval [a, T
of [a,00). We define the improper integral

[ @ = gm [ s

If this limit exists and is finite we say that faoo f(x) dx converges; otherwise we say

that [ f(z)dx diverges.
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o0

e For which values of p does x Pdx exist? To answer this question, we first
1
compute the definite integral

ot
T dx { } if p # 1,
/_: 1-pl,
1

xP
log|z|]] ifp=1.
But lim 7'7P exists only when p > 1. Also, lim logT = co. Thus
T—o00 T—o0
1 .
> dx T dx — ifp>1,
/ — = lim —={p-1

00 if p<1.

Definition: Let f be a function that is integrable on every closed subinterval [T’ a]
of (—o0, a]. Define

/a f(z)dx = TEIP af(x) dzx.

T

Q. Sometimes an explicit form for the antiderivative of an integrable function f is
unavailable. Are there other ways to determine whether the improper integral
[ f(x) dz converges?

A. Yes. The following theorem provides a test for improper integrals.

Theorem 7.2 (Comparison Test): Suppose 0 < f(z) < g(z) and fan and faTg exist
for all T > a. Then

(i) faoog converges = faoo f converges;
(it) [ f diverges = [ g diverges.

Proof: Note that 0 < faT f < faTg and both integrals are monotonic increasing
functions of T'. Since faoo g converges, faT g must be bounded on [a, 00) and hence so
is faT f. This means that [°° f converges.

< 1
/ L
1 1+x3

converges, we could first find |, 1T dz/(1+2?%) and then check that the limit as T — oo
exists. However, it is much easier to use Theorem 7.2 (i), noting that
1 1

< —
1+ 23 = 22

e To decide on whether

0<
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for all x > 1. That is,

oo o0 1
— dx converges = / dx converges.
/1 2 & . 143 &

e We may use the previous result to establish that

>~ 1
/ dx
0 1+1'3

exists, even though 1/22 is not bounded (and hence [;* 272 dx does not exist).
This is seen by writing

S| 1 | C |
/ dr = lim dz = lim / dx + / dx
0 1—{—1‘3 T—00 0 1+I3 T—00 0 1—}—:[’3 1 1—|—ZL‘3

S| S|
= dx + dzx.
o 1+a3 1 1428

Remark: When f is an integrable function,

/ f(z) dx converges = / f(z) dx converges
a b

for any real a and b.

e To decide on whether -
/ e du
1
converges we note on [1,00) that # < z? so that —2? < —x and hence
0< e <e %
But
> T
/1 e “dr = lim [—e_ﬂl = lim (6_1 —e_T) =

T—o0 T—o0

1
.

Thus
o0 o0 5
/ e ¥ dx converges = / e ¥ dx converges.
1 1

e We may use the previous result to establish that

/ e dr
0
converges. This is seen by writing
o0 T 1 T
_ 2 . _ 2 . _ 2 2
/exdm:hm exdx:hm</exdx—|—/e$da:)
0 T—o0 0 T—o0 0 1
1 e’}
:/ e dx+/ e du.
0 1
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1
xr + e”

oo 1 oo
Problem 7.15: Use the fact that / — dz converges to show that / dx
1 €F 1

converges.

Remark: Integration may thus be extended to bounded functions of x that converge
to zero sufficiently fast as © — oo. We now see that it is even possible to extend
our notion of improper Riemann integration to certain unbounded functions.

Definition: If f is integrable on [a, ] for all ¢ € (a,b) we define
/ f = lim f
t—b—
We say that f;_ f converges if the limit exists; otherwise it diverges. Similarly, we

define
b b
/ f = lim / f
at t—at t

if f is integrable on [t, b] for all t € (a,b).

Y

o Let

= it0<az <1,

flz) = vz
0 if x =0.

According to the strict definition of the Riemann integral, fol f does not exist since

f is not bounded. However, the improper integral f01+ f does exist:

t—0t t—0t t—0t t t—0t

f— hm/ f = lim Tda:— lim [2xér = lim <2—2t%> = 2.
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Remark: If f is Riemann integrable on [a, b, then

IRNARK

e For which values of p does / x P dx exist? Consider

o+

gi-r 1t .
lﬁ—hm [1—]9] ifp#£1,
ot ZL’p t—0t t

log|z|]; ifp=1.
But lim t'77 exists only when p < 1. Also, lim logt = —oco. Thus

t—0t t—0t+
! ifp<1
00 — i
/ dx _Ji-, p )
o+ TP .
00 if p>1.
. : <1
e For which values of p is — dx convergent?
o+ TP
Since
"1 > 1 _
— dx diverges for p > 1, / — dx diverges for p <1,
o+ TP 1 P
we see that

<1
/ — dx diverges  for all p.
0

+ P

"1 L
Problem 7.16: Use the fact that / —dz diverges to show that / - dx
0

ot T + wsin?a
diverges.

1 1 —z2

1
Problem 7.17: Use the fact that / —— dx converges to show that / ¢
ot VT o+ VT

dz

converges.

Definition: Let f be a function that is integrable on every finite interval [c, d] of R.
If the improper integrals

/_OO f@)dz  and /:o f(z) da

both converge for some a € R, then we say that the improper interval

/_:f(:lf)dxi/_(;f(w)dx—i—/aoof(x)dx

converges.
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Problem 7.18: Show that if [*° f(xz)dz exists for one a € R, it will exist for all
a € R and its value will not depend on the choice of a.

Remark: We cannot simplify the previous definition to

/Z F(z)dr = Tlﬂ/jf@) dx

T

lim rdr = lim 0 =0,
T—o0 _T T—o0

/ z dx and / x dx

do not converge for any a € R. That is, ffooo x diverges.

For example, while

the improper integrals

Remark: However, if ffooo f exists then

]

since, by the properties of limits,
[e's) T
/ leim/f—i—hm f—hm{/ f—l—/ ]zlim/f.
oo T— T—oo _T

e We thus see that

° 2 0 2 ©° 2 & 2
/ e’ dx:/ e’ dw—i—/ e v dr = 2/ e v dx
—00 —00 0 0

converges.

* 1
Problem 7.19: Evaluate / —dx.
oo L+ 22

0
Problem 7.20: Evaluate / ze® dx.

—00
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Convergent Divergent

<1 <1

| i o> | [ S w2y
/ e dr (a>0) / e dr (a<0)
0 0

! !

—d 1 —d > 1
i (p<1) L (p=1)

1 w/27
/ log x dx / tan x dx
o+ 0

Table 7.3: Useful integrals for Comparison Test.

Definition: Let f be defined and continuous everywhere on an interval [a, b] except
possibly at a point ¢ € [a, b]. If f is unbounded on [a, b] we know that the Riemann
integral of f on [a,b] does not exist. Nevertheless, it is sometimes convenient to
define the improper integral

b t b
/filim/valim/ f.
a t—c= S, t—ct Jy
If both limits exist, we say that the improper Riemann integral fab f converges.

Remark: Before blindly applying the Fundamental Theorem of Calculus to an in-
tegral, it is important to check first whether the integrand is bounded. If the
integrand is unbounded at some point within the interval of integration, one must
split the integral up into two improper integrals and check that both pieces con-
vergence. For example, the integral

3
1
/ dx
0 .7}—1

does not evaluate to [log |z — 1|]; = log2 — log1 = log2 because the improper

integrals folf —L- dz and f13+ —L- dz do not converge.

Problem 7.21: Do the following improper integrals converge or diverge? Evaluate

those that converge.
(@) 2
1
—— =z dx.
[ =t
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2 1
S—;
[, o=

Problem 7.22: Show that [, sinz dx diverges.

(b)

Problem 7.23: Use the Comparison Test to show that

2 +sinx

ot VT

i

diverges.

159



Chapter 8

Differential Equations

Definition: A differential equation is an equation that contains an unknown function
and one or more of its derivatives.

8.1 Modeling with Differential Equations

e A simple model for the growth of a population of y individuals is the first-order
linear differential equation

Yy = ay.

Here y = y(t) is a function of time ¢, a is the growth rate, and y' denotes the
derivative of y with respect to t. Omne can solve this equation as follows. On
rearranging % = ay and integrating both sides we find

d
/—y:/adt.
Y

On noting that the population y is always non-negative, we see that
logy = at + C.

Thus

y = eatJrC — Aeat
represents a family of solutions to the differential equation for any constant A = e¢.
The particular solution with initial condition y(0) = yo corresponds to the choice

A:yo.

e A better model that takes into account finite resources is the logistic equation

y
= 1——).
y ay( 7

160
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The additional term causes the population to decrease if it ever exceeds the carrying
capacity M. Again, we can solve this differential equation by writing

d
/ W / adt
y(1 = 579)
and integrating the left-hand-side using the method of partial fractions.

e Higher-order differential equations arise frequently in science and engineering. One
example is the equation for the position x of a mass m attached to a spring with
spring constant k:

d*x
m—s = —kux.
dt?
Definition: An initial-value problem is an nth-order differential equation together
with given initial conditions for v, 4/, ..., y™ V.

Remark: There is unfortunately no systematic technique that enables us to solve a
general first-order nonlinear differential equation of the form

dy
=7 — f(t
or a higher-order differential equation of the form
d"y : -
— = f(t oy,
T f&y Y y™)

Remark: Differential equations may also be formulated using derivatives with respect
to space instead of time.

8.2 Direction Fields and Euler’s Method

When an analytic solution to a differential equation is not available, it is still often
possible to find use graphical or numerical techniques to understand the qualitative
behaviour of the solution.

Suppose we wish to sketch the solution to the initial-value problem

- -1
=Tty y(0)

This states that the slope of the solution at a point (z,y) on the curve is given by the
sum of the coordinates x 4+ y. One point on the solution curve is (0,1) and it must
have slope 1 there. Since y is differentiable, with a continuous derivative, the slope of
the curve will be approximately 1 near (0,1) as well. That is, near (0, 1) the solution
looks like a line segment with slope 1.
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Raliedi AT A A AN AT A S A AN N S R T R A

i A A AN IV S S S Y N N A K N A |

N~ oA g S A A A

L I

A A A A B I I A

AR A A A A A A A B A

A A A AN A A AN S

[ A

N~ xsA A A
NNNNRXS = rr s g A A

LA A

2 A I B B

L T T W W W W N N

NNYNNN NN - gy

A A N T

R A A A N N I A |

VA NN NNNNN N rrggg A

VOV VNN N NN NN NN -rxg g
VAV VNN N N NNNN N rr g S gS
VOV VNN NN N NN NN N .- s gy gy
LI T TR T T T TR TR T N N N N N A A A |

LR T T TR TR T N R T W N W N N g A A
LR T T R U TR TR T T T T T N T e g A 4
LN I TR TR I T R T TR N T W W W N N g
LI T TR R TR T TR TR TR T T T W W N N N g
LI T T T TR T T TR TR N T T R U TR W W S s

Definition: The direction field for a first-order differential equation is a sketch show-

ing line segments drawn with the slope of the corresponding solution curve at many

points (z,y).

Problem 8.1: Plot the direction field for the differential equation

L2 T S T N N T 2 T T A O N K 2 T I A A ]
L2 N O T A O T 2 T A AR R T O I T T T B I
LI O T T A T R 2 T 2 TR R T O O T I T B B |
LI T T T T T O N TR T R R TN T N N O T B T |
L T T T T T T T R T TR T T VO R W W T T T |
[ A e
[ I I T A N N N R
[ N I R A A ]
LA S S R A N O N S A A A D S N N S B AN
LA S S B A R R N N S A A D D S N B B A
LA S S B A L R N R A A A D D S N A A
LA SO S A A N R N R A A O D D S N A A
L R e I R O A ]
LA SO S B S K R N R A A D D D S R A A ]
LA SO S A S K R N N A A D D D S R A A ]
L L B e e O A ]
LA SO S B S K R N R S A D D D S N B A A B
L SO T T A R N T A A D D D S R R A A ]
LA SO S B B K R N T A A D D D S N B A AN B
L O T D I O R ]

Remark: The solution of a first-order differential equation through a particular initial

condition will locally follow the slopes indicated in the direction field.
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Remark: The direction field forms the basis of Fuler’s Method for obtaining an
approximate solution (z,,y,) to a first-order differential equation dy/dx = f(z,y):

Yn = Yn—1 + h.f<xn—1a yn—1)7

where h is the step size and x,, = x¢ + nh.

8.3 Separable Differential Equations

A separable equation is a first-order differential equation where the expression for dy/dx
can be factored as a product of a functions of x and y:

Y~ f)ly)

Separable equations are easily solved by isolating each variable to a separate side
of the equation and integrating:

/% - [ f@d.

e To solve the separable initial value problem

dy  ?
dx y ) y( ) )

we integrate both sides of the re-arranged equation:

/ydy:/x2dx.

Thus

so that

/2

for some constant K = 2C'. Here we take the positive square root since y is initially
positive and hence dy/dxz > 0 for all z > 0. On setting 1 = y(0) = {/22% + K we
see that K = 1. Thus, the solution to the given initial value problem is y(z) =

/2
§I'3+1



164 CHAPTER 8. DIFFERENTIAL EQUATIONS

8.4 Linear Differential Equations

A first-order linear differential equation on an interval I can be expressed in the form

dy

L+ Pa)y = Q), 5.1)

where the given functions P and () are continuous on 1.

e The differential equation
2y +y =2

is linear on (0, c0) since it can be expressed as

, 1
Yy +-—y=2
x

Although it is not separable, we can still solve it by rewriting it as

d

%(I?/) = 2z,
so that

vy =2+ C.

The solution is then y = x + C'/x for some arbitrary constant C'.

e The general first-order linear differential equation Eq. (8.1) may be solved in a
similar manner. We need to express it in the form

d
I (—y + Py) ~ 10,
dx
where the integrating factor I(x) is chosen so that

dy d dl dy
I\ —=+Py|)=—Uy)=—y+1—.
(dx - y) das( y) alzzcy+ dz

This requires that

dl
IP=—.
dx

Although the original differential equation is not in general separable, the equation

for I is: il

log\IHC:/P(x) dz,

from which we see that



8.4. LINEAR DIFFERENTIAL EQUATIONS 165

so that I = Ae/ P@dr where A = ¢=C is an arbitary real constant. For simplicity
we choose A = 1. The integrating factor I allows the original equation to be
expressed as

d

—([y) =1
el y) =10,
which has the solution .
=— [ I0Q.
y=7 / Q
Problem 8.2: Solve ¥
& + 32%y = 62°.
dx
Problem 8.3: Solve
2dy
r'— +ay = 1.
dx

e In the special case where P and () in Eq. (8.1) are constant, the integrating factor

d
becomes e/ P4 = ¢P*  On multiplying each side of L Py = Q by e*, we find

dx
d . p Py P P
dx(e y) e dx+e y = Qe
Thus
ery — Q/@del' — Qer +C,
P
so that
Y= % + Ce "=,
Given the initial condition y(0) = 0 we then find that
Q
0==+4+C
P +&

so that C' = —@Q/P. The particular solution of the differential equation correspond-
ing to this initial condition is then

y(z) = = (1—e ).

It is useful to check that this solution exhibits behaviours that we can see from
the initial equation. For example, for P > 0 we see that as lim y(z) = @Q/P. That
TrT—r00

is, y(z) has a horizontal asymptote of Q/P; with limiting slope xh_}rg() dy/dz = 0.
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This is consistent with the steady-state solution y = /P deduced from the original

differential equation
d
oy Py=qQ.
dx

For small  one can also check, on expanding e~ = 1 — Px + %(—Px)2 +...&
1 — Pz, that the behaviour of the solution is

y(x) = %(1 — e’P:"") ~ %(1 — (1= Px)) = Q.
That, the solution for small x is approximately linear, with slope ). To see that
this is consistent with the differential equation, first note since y(0) = 0 and y is
continuous that y is small when x is small, so that the term Py in the differential

equation may be neglected:



Chapter 9

Infinite Sequences and Series

9.1 Infinite Series

Definition: Consider the infinite sequence {S,}52, with elements S,, = > 7, ay. If
lim S, exists and equals a real number S, we say that the mﬁmte series

n—00
00
D
k=1

converges, with sum S. Otherwise, we say » -, ai is divergent.
Definition: The finite sum S, = >_;'_; a), is a partial sum of the series >~ ay.

Problem 9.1: Prove that the geometric series Y -, r* converges if and only if |r| <
1, with sum 1/(1 — r). Hint: Show that

1 — il
S, =
Z =
by considering the telescoping sum rSn — Sh.

e The sequence {S,}>, of partial sums
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is thus seen to converge to the limit 2 as n — co. We write

e Consider

i - 1 4 /1" 4\ 1 4
0.4=0444... = Ii g =) =(=) 1 —) = (=)=
nliilo]; (10k> (10) ng’élokzo(m) (10)1—i 9

10

© k
Problem 9.2: Find all x such that Z :;—k converges and evaluate the sum.
k=1

This is just a geometric series with ratio x/2, so we expect convergence for |z/2| < 1 or
in other words for z € (—2,2). For such x, the series converges to

i (%)k - i (g)k+1 - (9 i (%)k T f/952/2 - 237:'

Remark: It is sometimes not immediately obvious whether a series converges or
o)

1
diverges, but very slowly. A good example is the harmonic series Z T On

k=1
examing successive partial sums Sigg = 5.19, Sog9 = 5.87, S390 = 6.28, ... it may

at first that the series converges. In fact, the harmonic series diverges. An easy
way to see this is to note for n > 1 that

S. S, = L + ! + + ! + !
an "Tn+1 n+2 77 2n—1 2n
>1+1+ +1+1_n_1
—2n 2n " 2n  2n 2n 2
n terms

Thus, if we take n = 2™ for some integer m then Sym+1 — Sym > 1/2. So every time
we multiply n by 2, the corresponding partial sum grows by at least 1/2. That is,

Som > . This means that lim Som = oo.
m—00

e However,
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Problem 9.3: Let a > 0. Evaluate

> 1
;(a+k3)(a+k+1)'

We can compute the partial sums using partial fraction decomposition:

n n n

1 1 1
Z(a—l—k)(a-i—k—i—l) :Zm_za+k:+1

k=0 k=0 k=0
kzoa—i-k: k:1a+k
1 1
a a+n+1

As n — oo, the sum converges to 1/a.
The following test is sometimes useful for showing that a sequence cannot possibly
converge.

Theorem 9.1 (Divergence Test): [fZak converges then lim a, = 0.

n—00
k=1

Proof: In terms of the convergent sequence of partial sums {5, }°°, we may express

lim a, = lim (S, —S,_1) = lim S,,_y — lim S, =0.
n—00 n—00 n—r00 n—r00

k
ok diverge.

oo k oo
e The Divergence Test shows that Z —— and Z ]
0

k= k=1

_1k+1

Remark: The contrapositive of Theorem 9.1 states

lim a, # 0= Z ay diverges.

n—00
k=1

However,

(o]
lim a, =0 # E aj converges.

— 1 1
For example, E z diverges even though klim = 0.
—00
k=1
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9.2 The Integral Test

1 > d
The next theorem, illustrated in Fig. 9.1, sheds some light on why Z z and / ar
k=1 v

- 1 < dx
both diverge and on why —— and / —— both converge.
; k(k+1) o z(z+1)

Y

1 2 ok k+1 . x

Figure 9.1: The Integral Test.

Theorem 9.2 (Integral Test): Let f be integrable on any closed interval and decreas-
ing and non-negative on [1,00).

Zf(k) converges <= / f converges.
1

k=1
Proof: For x € [k, k + 1] we have f(k) > f(z) > f(k+1). On integrating both
sides of these two inequalities we find

F(k) 1> o (z)de > f(k+1)-1.

We then sum this result £k =1 to £k = n to obtain

S.=3 00> [ 523 g1 = 30 = S - 10

“=" Since f is non-negative we know that flT f is an increasing function
of T'. Thus

n+1 T
lim S,, exists = lim / f exists :>Tlim f exists.
1

n—oo n—o0 — 00 1
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(4¢77

T n+1
lim / f exists = lim / f exists = {S,41}o2, bounded = {S,,}>2; bounded.
1 1

T—o0 n— 00

But f(z) > 0= {S,}°, is increasing. The partial sums S,, = Zf(k:)
k=1
thus form a bounded increasing (and therefore convergent) sequence. That

is, Z f(k) converges.
k=1

Problem 9.4: Use the Integral Test to show that
= 1
2w
k=1
converges if p > 1.

For p > 1, the integrable function f(x) = 1/aP is decreasing and non-negative. More-
over, we have seen that the improper integral

o0
1
/ — dx,
1 2P
converges when p > 1.
By the Integral Test, we therefore know that

L

> 5

k=1
converges only when p > 1.

Problem 9.5: Use the Integral Test to show that

— 1
Zlclogk;

k=2

diverges.

We first consider the improper integral

< 1
/ dx.
9 xlogx

On letting u = log x, the integral becomes

oo
1

/ - du?
log2 U
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which diverges. Noting that the Riemann-integrable function f(u) = 1/u is decreasing and
non-negative, the Integral Test tells us that

= 1
kzzlk’logk’

diverges as well.

Remark: While the Integral Test is useful for establishing the convergence of a series,

it does not tell us anything about its value. For example, / — dz =1 but it
.

o0
1
can be shown that Z =i 72/6. Often a closed-form expression for a series is
k=1
unavailable and one must resort to numerical computation of the partial sums up

to a certain value of n. The following related theorem can be used to estimate the
error in such approximations.

Theorem 9.3 (Remainder Estimate): Let f be integrable on any closed interval and

decreasing and non-negative on [1,00). Then the remainder Z f(k) ofz f(k)
k=n+1 k=1

that results on truncating the series after n terms satisfies

I > CE

k=n+1
Proof: In the proof of the Integral Test we saw that
k+1
flk+1) < f

k

On summing from k£ = n to oo we thus find that
o] o] oo k+1 [e'e)
S sw=Ysen<> [ =
k=n+1 k=n k=n 7k n

We also saw that
k+1

f<fk).

On summing from k£ =n + 1 to co we obtain

ot -

k

o0

00 rktl
> [ iy sw.

k=n+1 k=n+1
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10

1 1
e The partial sum Sy = Z 7= ~ 1.5498 underestimates Z e by a remainder that
k=1 k=1
lies between

and

Indeed, we see that the difference between the exact value Y 57, 75 = 72/6 and S
is approximately 0.095, which indeed lies between 1/11 and 1/10.

9.3 Comparison Tests

— 1 - 1
We have seen that ; o is convergent. What about ; ST 1? Since 0 < 1 < R

form a bounded increasing sequence and hence must

the partial sums of ; 1
converge. The following theorem formalizes this idea.

Theorem 9.4 (Comparison Test): If 0 < ay < by for all k € N then

o0 oo
(1) E bi converges = g ay converges;
k=1 k=1

(i) Zak diverges = Zbk diverges.

k=1 k=1

Proof:

(i) Let S, => 7 _japand T,, = > 7 by. Since 0 < S,, <T,,,

Zbk converges = {T,,}>°, bounded = {S,}>>, bounded = Z ap, converges.
k=1 k=1

(ii) This is just the contrapositive of (i).

Remark: The condition “0 < a;” in Theorem 9.4 cannot be dropped. Consider the
counterexample given by ap = —1, by = 0.
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1
e We have seen from the Integral Test that Z =) converges. Use this result to show
k=1

- 1
that Z Prahal converges.
k=1

Remark: In applying the Comparison Test, we may replace the condition k& € N
with k > N for any given natural number N (only the long-term behaviour affects
convergence).

= logk
e Show that Z % diverges by using the fact that logk > 1 for & > 3.
k=1

Problem 9.6: Use the Comparison Test to deduce directly from the convergence of
= 2 =1
Z m that Z e converges.
k=1 k=1

We note for k& > 1 that 2k% > k% + k = k(k + 1). Thus
1 2

7 < :
K= k(k+1)

The following test provides a more convenient way to establish the previous result.

Theorem 9.5 (Limit Comparison Test): Suppose ar, > 0 and by, > 0 for all k € N
and klim ai/by = L. Then
—00

(i) if 0 < L < oo: Zak converges < Z br converges;

k=1 k=1
o o
(i1) if L=0: Z bi converges = Z aj, CONVeErges.
k=1 k=1

Proof:

(i) This follows from Theorem 9.4 since for all sufficiently large k,

L a, 3L L 3L
ek )b = )by
0 <% =2 :O<<2)’“<“’“<(2)’“

(ii) If L = 0 then for sufficiently large k, 0 < ay /by, < e =1 =0 < aj, < bg. Apply
Theorem 9.4.
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e Since 2
lim —— =1,
k—oo k(k + 1)

we see immediately (without using the Integral Test) that

f: ; converges — f: i converges
2 k(k+ 1) & 22 ges-

Remark: When klim ar/bi, = 0, it is possible that ), | a; converges but y -, by diverges.
—00
Consider

_ im X _ _
G- T

oo
e Use the Limit Comparison Test to show that Z converges.
k=1

— 2k — 1

9.4 Alternating Series

So far we have only considered series with positive terms. Let us now discuss an
important class of series consisting of terms that alternate in sign.

Definition: An alternating series is of the form
>_(=D'a,
k=

1

where a;, > 0 for k € N.

(=D*

oo
e The sum Z ’ is an alternating series that, in contrast to the harmonic series
k=1

o0

1
Z o converges. The changes in sign prevent the slow accumulation exhibited
k=1
by the nonalternating version and instead leads to oscillation of the partial sums.

Because the magnitude of each term tends to zero, these oscillations are eventually
damped out. The following theorem formalizes this notion.

Theorem 9.6 (Leibniz Alternating Series Test): The alternating series Z(—l)kak
k=1
is convergent if the sequence {ay}5>, decreases monotonically to 0.
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Proof: Consider the even partial sums
Son = —a1 + (ag — az) + ... + (agn—2 — A2p—1) + a2, > —ay,
noting that a, — a,.1 > 0 for all n € N. Notice also that
Sont2 — Son = Gopgz — Agny1 < 0.

Hence {Ss2,}7°, is a bounded decreasing, and therefore convergent, sequence. In
contrast, {S2,-1}22, is a bounded increasing sequence since

Sont1 — Son—1 = —aapy1 + Az, > 0.
Finally,

lim SQn = lim (S2n—1 + (Ign) = lim SZn—l + lim a9p = lim S?n—l;
n—00 n—00 n—00 n—00 n—00
that is, the subsequences of even and odd partial sums converge to the same limit.
The full sequence of partial sums {S,}52, therefore converges to this limit.
e . k2 2
e The alternating series —1)"——— converges since the function f(x) =
g series 3 (~1)* " converg (@)

k=1
decreases monotonically to zero on [2, 00).

- 3k
e The alternating series Z(—l)k4k . does not converge by the Divergence Test
k=1
—1)%3k 3
snce Jim (S = 40

Remark: The next theorem establishes that if the magnitude of the terms of an
alternating series decreases monotonically to zero, the truncation error is no greater
than the magnitude of the very next term!

Theorem 9.7 (Alternating Series Remainder Estimate): Let {ax}32, be a monoton-
tcally decreasing sequence that converges to 0. Then

[e o]

Y. (D

k=n+1

Proof: Let S, = Y ;_(=1)*a; and S = Y27 (—1)*ax. Since {Sa, 1}, is
increasing and {S,}5%, is decreasing, we see that S, 1 < S < Sy, for all n > 1.
Since a,, — a,+1 > 0, we then find that

< Apy1-

o0

0<8 =51 = Z (=D)Fay, = ag, — (azny1 — Gzny2) + ... < ag,
k=2n
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and

e}

0<85y, —S=-— Z (=D)Fay, = agni1 — (aznio — aznys) + ... < agpir.
k=2n+1

For either odd or even n the error in approximating S by .S, is seen to be less than
the magnitude of the first neglected term:

[e.9]

> (Dray

k=n+1

= |S - Sn| < Ap41-

Problem 9.7: Evaluate Z ( k') to within 0.001.
k=1 ’

If we sum up the first 6 terms we obtain the estimate
—1+1/2-1/6+1/24—1/120 +1/720 = —0.63194,
which overestimates the sum by at most 1/5040 < 0.0002 (since the next term can only
reduce the sum). So the infinite sum evaluates to approximately —0.632.
9.5 Absolute Convergence

Q. What happens when some of the terms a;, are negative but the series isn’t in the
form of an alternating series?

A. In these situations, the following concept is sometimes helpful.

Definition: A series >/, ai is absolutely convergent if 3, | |ay| is convergent.

sin k
L2

o0
e The sequence Z is absolutely convergent by the Comparison Test since

k=1

o 1 (o.9] . k
|sink| < 1 and Z 5 is convergent. That is, Z |Sl;—2| is convergent. The follow-
k=1 k=1

sin k
L2

ing theorem establishes that the original series Z
k=1

is itself convergent.

Theorem 9.8 (Absolute Convergence): An absolutely convergent series is convergent.
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[e.9] o
Proof: Suppose g lag| is convergent. Since each term ay, in the series g aj is

k=1 k=1
either |ag| or — |ag|, we find

0 < ag + |ag| < 2|agl

[e.e]
On applying the Comparison Test we then see that Z(ak + |ag|) is convergent.
k=1

oo (o0} o0
The difference Z ay between the two convergent series Z(ak + |ax|) and Z |lag| is

k=1 k=1 k=1
therefore also convergent.

Remark: The converse of Theorem 9.8 need not be true: the alternating harmonic
o

—1)*
series Z is convergent but not absolutely convergent: the harmonic series
k=1

k
2
k=1

diverges.

| =

Definition: A series is conditionally convergent if is convergent but not absolutely
convergent.

(=D*
k

o0
e The alternating harmonic series Z is conditionally convergent.

k=1

(=DF
vk

o0
Problem 9.8: Show that the alternating series Z is conditionally convergent.
k=1

 (—1)klogk
Problem 9.9: Show that the alternating series Z ()—og is conditionally con-
k=1

vk
vergent.
The following three tests are often useful for establishing absolute convergence.

Theorem 9.9 (Ratio Comparison Test): If ar > 0 and by, > 0 and

U1 bre
Qg - bk

for all k € N, then
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o0 oo
(i) E br converges = g ar converges;
k=1 k=1

(ii) Zak diverges = Zbk diverges.

k=1 k=1
Proof: For k € N we have

ak+l<bk+1:>ak:+l<ak ar 01 L g,

ay by beyr — b b T by
Thus 0 < ar < Mb;, for all £ € N and the result follows from Theorem 9.4.
Theorem 9.10 (Ratio Test): Suppose aj > 0.

(i) If there exists a numberr < 1 such that % <r forallk, theny ;> ax converges;
(i) If % > 1 for all k, then Y, | ai diverges.

Proof: Let by, = r*. Then b’;)—:l =r and

o0
Zbk converges if |r| <1,
k=1

Zbk diverges  if [r| > 1.
k=1
Apply Theorem 9.9.
Theorem 9.11 (Limit Ratio Test): Suppose ar > 0 for all k € N and

. A+1
lim
k—o0 ag

Then

o
(i) r<1= Zak converges;
k=1

(i)) r>1= Zak diverges;
k=1
(iii) r=1= 7
Proof: Choose € = (1 —)/2. Then for sufficiently large k, we know that

a 1+7r
b <r+e=

< 1.
(053 2

Apply the Ratio Test.
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Problem 9.10: Find examples corresponding to each of the three cases in Theo-
rem 9.11.

Theorem 9.12 (Root Test): Suppose ar, > 0 for all k € N. Then
(i) If there exists a numberr < 1 such that {/ay < r for allk, then Y-, aj converges;
(i) If ¥/ar, > 1 for all k, then Y .- | aydiverges.
Proof: Let by, = r*. Then

o0
Zbk converges if |r| <1,
k=1

Zbk diverges  if |r| > 1.
k=1

Note that /a;, < r implies a; < r* = b;, and apply Theorem 9.4.
Theorem 9.13 (Limit Root Test): Suppose ar > 0 for all k € N and
mpve=r
Then

o
(i) r<1= Zak converges;
k=1

(i) r>1= iak diverges;
k=1
(iii) r=1=?
Proof:
(i) Choose € = (1 —r)/2. Then for sufficiently large k, we know that

1+7r

< 1.
2

%k <r + € =
Apply the Root Test.

(i) If klim a, > 1 then for sufficiently large k& we know that a; > 1. The
— 00

Divergence Test then implies that the series diverges.
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Problem 9.11: Find examples corresponding to each of the three cases in Theo-
rem 9.13.

o0

(i) The series Z converges.
k=
o0

(ii) The series Z 2k diverges.
k=1

[ee]
(iii) For the series Z kP we see with the help of L'Hopital’s Rule that
k=1

[

log k
lim V&P = lim kP/% = lim k2/% = lim ek 8% = exp (p lim og) = exp (p lim
k—o00 k—o00 k—o00 k—o00 k—oo k k—o0

1) =exp0=1.

We recall that this series converges for p = —2 but diverges p = —1.

converge or diverge?

> 1
Problem 9.12: Does —_
2 llog k¥

Since lim =0 < 1, we know from the Root Test that the series converges.

k—oo log k

9.6 Strategy

To determine which test to use for a given series, it sometimes helps to consider the
behaviour of the terms a; for large k.

9.7 Power Series

Definition: A power series about the expansion point a is an infinite series of the
form Y ;7 ck(z — a)¥, where the coefficients ¢ are independent of z.

Remark: By definition, (z — a)? =1 for all z, even at z = a.

Remark: When dealing with power series, it is often convenient to shift the variable
 so that the expansion point a = 0. The power series then simplifies to Y -, cxz”.

Remark: A power series always converges at its expansion point.
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e We have seen that the geometric series

oo
>t
k=0

converges for any x € (—1,1) to the function
—x

e If we apply the Limit Ratio Test to the series

o0
Zk!xk,
k=0

we see for x # 0 that

R (GRS Fran .
ML ey Dl =ee

Thus, the series converges absolutely only at x = 0.

e In contrast, the Limit Ratio Test tells us that the series

2
k=0

converges absolutely for all real x:

lim mkﬂ k—‘ = lim 2]
k—o0 (k + 1)! |x|k koo (k’ + 1)

=0<1.

Remark: The following theorem tells us that every power series converges absolutely
strictly inside some closed interval (which could be a point or all of R) and diverges
strictly outside that closed interval. It does not say anything about what happens
at the endpoints themselves.

Theorem 9.14 (Radius of Convergence): For each power series Y o, cxx® there
exists a number R, called the radius of convergence, with 0 < R < oo, such that

00 converges absolutely if |z| < R,

chmk ? if |z| = R,

k=0 diverges if |z| > R.
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e We have seen that the series Y ;- z"/k! has an infinite radius of convergence
(R = o00).

(z—1)*
k

Problem 9.13: For what values of = does the series >~ | converge?

The Limit Ratio Test tells us that the series converges absolutely if

k+1
T i AL N LT TS
k—oo (k+1) |x_1|k k—oo (k+ 1)

that is, when —1 < z — 1 < 1 or in other words, 0 < x < 2. Furthermore, we see that the
series converges at © = 0 (where it reduces to the alternating harmonic series and diverges
at © = 2 (where it reduces to the harmonic series). The Limit Ratio Test tell us that the
series does not converge absolutely for |z — 1| > 1; that is, when > 2 or x < 0. The
interval of convergence is thus [0,2) and the radius of convergence is 1.

e Find the radius of convergence R of

;logk'

The ratio of consecutive terms has limit

. R log k ey log k 2] 1 % 2]
im : = |z| lim ————— =|z| lim % = |z
k—oo |log(k +1) b koo log(k + 1) — 7

using L’Hopital’s Rule, where v € R. The Limit Ratio Test then implies that
R=1

Remark: To determine the actual interval of convergence, we need to determine R
and then test for convergence at © = a + R and z = a — R by other means.

Problem 9.14: Determine the radius of convergence, interval of convergence, and
expansion point for the power series

L (3z +4)k
Z 5k ’
k=0

From the ratio test we see that the series converges whenever ‘%‘ < 1; that is, when
—5 < 3x 4+ 4 < 5. This corresponds to the interval (—3,1/3), a radius of convergence of
5/3, and an expansion point of —4/3. Note that the series diverges at both x = —3 and
x=1/3.
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Problem 9.15: Consider the power series Y .- cxz”.

C

Ck

radius of convergence of the power series is given by
1

R=—7F—.

. Clk+1
lim |—
k—o0 Ck

(a) Suppose that klim exists. Use the Limit Ratio Test to show that the

—00

If the limit of the ratio of successive terms c’zzlac is less than 1 (i.e. if |x| < R) the

series Y 52 |cka®| converges and if it is bigger than 1 (i.e. if [#| > R) the series diverges.
Hence R is indeed the radius of convergence.
(b) Suppose that klim v/ |cx| exists. Use the Root Test to show that
—00

1
R=——7—
lim +/|ck
k—ro00
is another expression for the radius of convergence.
If klim \/ [cka®| is less than 1 (i.e. if [z| < R), the series Y 77 |cxa”| converges, and
—00
if it is bigger than 1 (i.e. if |x| > R), the series diverges. Hence R is indeed the radius of
convergence.

9.8 Representation of Functions as Power Series

The closed form sum of a geometric series

1 o0
l_x:Zxk, lz] <1

k=0

can be used to sum up other power series.

e On substituting —2? for z, we find

1 1/ 1 Ix/ o\F = (=1)F ,
i) man (8 =X G ki<
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1
e On multiplying . by 22 we find
x

@’ — (CDF e
2+x222’9+1x , |z < 2.
k=0

Theorem 9.15 (Derivative and Integral of a Power Series): The power series

(Z) Z Ckxk7
k=0
(41) Z kepa®
k=0

Ik—f—l

(141) kzzo S

all have the same radius of convergence.

Proof: For k > |z|, note that

‘cka:k‘ = |z| ‘ckxkfl‘ < ‘kck:z:k’l‘ )
We thus see from the Comparison Test that if (ii) converges absolutely, so does (i). On
the other hand, suppose (i) converges absolutely at some xq # 0. The Divergence Test
implies that |ckx’(§| is bounded by some positive number M for all k. Thus

I Y k-1
ke | = |opal] — | =| < —k|—
o] |0 ol | o
0 7 k—1
We know from the Limit Ratio Test that Z k|— is convergent for |z| < |xgl.
Zo
k=0

The absolute convergence of (ii) then follows from the Comparison Test. On noting
that (i) is just the result of formally differentiating (iii), we see that (i) and (iii) also
have the same radius of convergence.

9.9 Taylor Series

Let us now discuss a general method for developing power series for any infinitely
differentiable function. We first recall the following special case of the Mean Value
Theorem:

Theorem 9.16 (Rolle’s Theorem): Suppose
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(i) f is continuous on [a,b),

(ii) f’ exists on (a,b),

(i) f(a) = /().

Then there ezists a number ¢ € (a,b) for which f'(c) = 0.
We now use this theorem to prove a key result.

Theorem 9.17 (Taylor’s Theorem): Let n € N. Suppose

(i) fY ewists and is continuous on |a, b],

(ii) f™ ewists on (a,b).

Then there ezists a number ¢ € (a,b) such that

—

n— h— k b—a)”
16y =30 O oy OO g,
k=0 N ~— y
Taylor p;lynomial Fn
That is,
b — 2 b— n—1
0= )+ =@+ O v O o 1,

Remark: This is known as the Taylor expansion of f at b about a to n terms. The
term R,, is known as the remainder after n terms.

e Forn=1: b 0
70 =" g +

ie f(b)=fla)+(b—a)f(c) (MVT).

(b—a)
1

f'(e)

e For n =2:

f(b) = f(a) + (b—a)f'(a) +

Proof (of Taylor’s Theorem): We will apply Rolle’s Theorem to

o) = £@) + 30 D 0w 1 0o - 2y
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where M is a constant. Noting that ¢(b) = f(b), we choose M so that ¢(a) = f(b)

also:
f(b) = )+ Z

That is, we choose

M:%[ﬂb)—ﬂa)— ] (b;!@kﬂ’”(a)].

(@) + M(b—a)". (9.1)

3

(b—a)

Note that ¢(z) is continuous on [a, b]. Using the Chain Rule, we find that

n—1 Y ! )k
Pl = £+ 3 |-G s + L f(’““)(x)] (b~ )M
— 1) - 3 e +Z O ) = o~ o)1
(b— z)" 1

(n—1)! f™(z) —nb—z)" M

exists for all x € (a,b). We then apply Rolle’s Theorem to deduce that there exists a
number ¢ € (a,b) such that

(b—o"!
(n—1)!

1
_ L m
= M= —f"(0).

0=¢'(c) = F(e) = n(b—o)" M

Upon substituting this result into Eq. (9.1), we obtain Taylor’s Theorem:

Remark: If | /™) (c)| < M for all ¢ between b and a, then |R,,| < M |b — a|" /n! on this
same interval. This is sometimes called Taylor’s inequality. For example, if | f(™] is
an increasing function on [a, b], then Taylor’s inequality holds with M = | (b)],
whereas if | (™| is a decreasing function on [a, b] one can choose M = |f™(a)|.

e Compute the first three digits of sin1 after the decimal point and determine its
value correctly rounded to two digits.
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Step 1: Let f(x) =sinz. Choose a value a reasonably close to 1 at which the value
of f and its derivatives are known, such as a = 0.

Step 2: Write down the Taylor expansion to enough terms so that |R,| is less than
or equal to the allowed error. Set b = z.

_02 _03 _04
SiIlZL‘:SiIlO—I—(JZ—O)COSO—%SinO-%COSO—F%SiHO
(z—0)° (z—0)°
+TCOSO—TSIDO+R7,
3 b
:I—§+E+R7,

1

2(x — 0)7cosc for some ¢ € (0,z). For z = 1 we know that

where R; =
|cosc| < 1, so

1 1
|R7| < = = —— < 0.0002

7! 5040
and 1 1 101
inlx~1—-+4+—=— =10.8416.
sin 6+120 120 0.8416

Hence sin 1 ~ 0.8416 =+ 0.0002, so the first three digits of sin1 are 0.841. If we round
this result to two digits after the decimal place, we obtain sin 1 &~ 0.84.

Remark: If the magnitude of the terms of an alternating Taylor series decreases
monotonically to zero, it is much easier to use the Alternating Series Remainder Estimate
rather than explicitly estimating the remainder using Taylor’s Theorem: the error
is simply less than the magnitude of the very next term!

Definition: If lim R, = 0 in the Taylor expansion of f at b about a then

n—oo

rey =3 O o)

k=0

This is known as the Taylor Series of f at b about a.

Definition: The special case of a Taylor Series about a = 0 is sometimes called a
Maclaurin Series.

Problem 9.16: Suppose that a function f is differentiable on R and f'(z) = f(x)
for all z € R.

(a) Use induction to prove that the n-th derivative f(z) = f(z) for all n € N.
We are told that the desired result holds for n = 1. Assume that it holds for n. Then

FO (@) = (@) = f(z) = f(2).
Hence the result holds for all n € N.
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(b) Let € R. Show for any n € N that the value of f at a point  # 0 can be
expressed in terms of f(0) and a remainder term R,,,

xQ 1.3 :L,n—l
f(x):f(())(l—i—x—i-g—f—a—i-...-f-m)+Rn,

where
R, = i (Cn)x”
n!
for some point ¢, € (0,z). (If z < 0 then by (0,x) we mean the interval (z,0). Note
that ¢, depends on n.)
This is just the Taylor expansion of f at x about the point a = 0.
(c) Show that f is bounded on [0, z].

Since f is differentiable on R, it must be continuous on R. Hence f is bounded on any

closed interval (and in particular on [0, z]).
k

(d) Using part (c) and the fact that the infinite sum Z % converges for all x to
k=0

establish that lim R, = 0.

n—00
k

(o9}
The convergence of Z % for any fixed x, which follows from the Limit Ratio Test,

k=0
n

implies that lim x—' = 0. From part (
(

) we know that there exists a number M such that
n—0 1.
|f(x)] < M for all z € R. From part

c
a) we have that

flen)

n!

"

<M® .

n! n—oco

xn

Ry g‘

(e) If f(0) = 1 show that
f(x) = ];0 R

This is the power series for the exponential function exp(x).

n k n—1 r
a2 Gy = i 2y = i f() = Jim, R = f(a)

n—o0 n—oo

Problem 9.17: Let f(z) = v/1 + 2. (a) Determine the first three terms of the Taylor
expansion of f(z) about the point a = 0,

2

(k)
fla)y=>" SO iy Rs.

k!
k=0

When a = 0, the remainder term Rj3 is simply

/ ®) (c) 23

Ra="5
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We find
@) = () a2
RCIE -
and
F9(e) = (;) (—g) (—g) (14 )86,
Hence

2

1\ x 2\ 22 r
=1 V2 (2) 1T ‘
f(x) + (3) 1 <9> o1 + Rs3 + 579 + R3

b) Use part (a) to find a lower bound for ¢/2 and show that your result approx-
2

imates the exact value to within 1%. (You may leave your answer as a fraction.)

1 1y2
Y 3:f(1>:1+<1>(2')—<2>(2)+R3=1+1—1+R3:§33+R3,

where

for some number ¢ € (0, %) The third derivative of f at ¢ can be easily bounded:

<= ()2

(3)3 /10 5 1 1 1 ,/3
0<Ry< -2 (2) = <32
=8 = 2% 27 “24x5 ~100 " 100V 2

SO

Thus \s/g lies in the interval

41 41+ 1
36736 100"

Problem 9.18: Find the Taylor series for f(r) = sin®x about = 0. Hint: after
computing the first derivative, simplify the result before proceeding to take further
derivatives.
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o £(k) (g
Remark: Suppose that the Taylor series Z / k'( )a:k converges to f(z) for |z| < R.
k=0 )

Theorem 9.15 tells us that the term-by-term differentiated series

k! = Ko

0 k=1

SO0 e Z S IO 5100

k k=0

which we note is just the Taylor series for f’, has the same radius of convergence
as the Taylor series for f. This means that we may differentiate (or integrate) a
power series term by term within its radius of convergence: if >~ cxx* converges
to f(x) for |z| < R, then >°.7 | kepa*~! converges to f'(x) for |z| < R.

e For |z| < 1, we may differentiate the geometric series

k=0
term by term to find that
1 o
m:kak*1:1+2x+3x2+4x3+, ’.CC‘<1
k=1

e For |z| < 1, we may integrate the geometric series

1 o0
—Z(—x)kzl—a:+x2—x3+...

14+ —
term by term to find
o0 s} 2 3
log(1 =) (—1)F =r——+=—-"+... <1
ogl+a)=> (D' g=e-G5+3 -7+ ll<i,

k=0

where we see that the constant of integration vanishes since both sides evaluate
to zero when x = 0. While both series converge for || < 1, notice that the
Leibniz Alternating Series Test guarantees that the differentiated series also con-
verges at x = 1. That is, the interval of convergence of the differentiated series is
(—1,1]. On taking the limit as x — 1, we see from the above closed-form expression
that the alternating harmonic series converges to — log 2.
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e For |z| < 1, we may integrate the geometric series

1 - 2\k 2, .4 6
1+$2:k:0(—$) =l—-a"4+a2"—2"...
term by term to find
o0 2K+ P T
tan_lm:Z(—l)ka_l_l:x—§+€—7+....
k=0

Again, the constant of integration is seen to vanish (for the principal branch of the
arctangent).

e We can use power series to integrate functions that we cannot integrate by elemen-
tary means:

t ) t o (—ZE o0 kt2k+1 3 0
-2 o = S LT
/06 v /OZ ! 22k+1k' T

k=0 =0

where we see the constant of integration is seen to be zero.

Remark: If Y 77 apa® = ZZO o bk whenever |z| < R, on setting z = 0 we see that
ag = by, so that Zzozl apxk Zk 1 bpxz®. On differentiating each side with respect
to x and again setting x = 0, we see that a; = b;. On repeating this procedure, we
deduce that a;, = b, for £k = 0,1,2,.... That is, the coefficients of a power series
are unique, just like the coefficients of a polynomial.

Remark: If 77 c2* converges to f(z) for |z| < R, the uniqueness of power series
guarantees that > p-, cxz® is the Taylor series for f; that is ¢ = f®(0)/k!.

Remark: Within their radii of convergence, power series can be added, subtracted,
multiplied, divided, differentiated, and integrated just like polynomials.

e For |z| < 1 we may expand

T

@) =1
2
= (1+x+‘%+...)(1—x+x2+...)

2
:(1—:1c—|—m2—|—...)—l—x(l—x+x2—|—...)+%(1—x+x2—l—...)
2
:(1—$+x2+...)+(x—x2+...)—|—%+...
2

X
=1+ +....
+ 5+

From Taylor’s theorem, we immediately see that f(0) = 1, f'(0) = 0, and f”(0) = 1.
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Problem 9.19: Using long division, show that

t +xé+25+
anr = - — T
3 15

Problem 9.20: Consider the Taylor series for the function

eV ifa 0,
f@”_{o if 2 =0,

about the point @ = 0. Show using L’Hopital’s Rule, that f*)(0) = 0 for all k¥ € N.
That is, the Taylor series converges to zero for all x € R (it has an infinite radius
of convergence), even though f(z) # 0 for nonzero x. This example emphasizes
that the Taylor series for an infinitely differentiable function f does not necessarily
converge to f, even within its radius of convergence!

e Another important series is the Binomial Series: for |x| < 1 and any real number n,
the Taylor Series for the function f(x) = (1 4 x)™ evaluates to (see Problem 9.17)

where

1 if k=0,

(Z)Z nm—lyéﬁ—k+n >l

The Limit Ratio Test tell us that the series converges when

. In — k|
1m

|z| = |z] < 1.

To see that the series actually converges to f(x) define

and consider

Note that

W(z) =—n(l+2)"g(z) + (1+2) "¢ (z) = (L +2)"" [-ng(z) + (1 + 2)g'()].
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On using the identity

k@) =1 k1) (n—l)...(n—k—l—l):n(?]z:i),

k! - (k — 1)

along with Pascal’s Triangle Law,

we find that

_ +x):§; (Z: Dmk—l
=n+n) (";1> + <Z:i>]x’“

Thus h/(z) = 0 and since h(0) = ¢g(0) = 1, we see that h(z) =1 for all z € (—1,1).
Thus for |z] < 1 we find

= —1 —1)(n -2
(1+:E)”:Z<Z)mk:1+nx+n(n2 )x2+n(n 3)'(71 )x3—|—....
k=0 )
e For n =1/2 and |z| < 1, we find that
= [1/2
k=0
1/2(1/2 - 1)(1/2-2)...(1/2—k+1) ,
=142 M .
k=1
B 11 —2)(1—4)... (1 -2k+2) ,
=1 2] .
k=1
L = (=1)(=3)...3—-2k) ,
_1+§+Z ST x

o 13- (2k=3) ,
_1+§+Z(—1) S ",




Chapter 10

Parametrization

10.1 Parametric Equations

Parametric equations provide a convenient way of describing general relations that
cannot be represented as functions.

e The relation that exists between the ordered pairs (z,y) on the unit circle cannot
be expressed as a function y = f(z) since this curve fails to satisfy the vertical
line test. However, we can parametrize each point (z,y) on the unit circle by the
angle @ that the line from the origin to (x,y) makes with the positive x axis:

x(0) = cos b,
y(0) = sind.

Here the parameter € lies in the interval [0, 27].

e The functional representation y = ma + b of a line segment, with x € (xy, z), fails
for vertical lines. However, the parametric form

2(t) = (1 = t)ps + 1q

y(t) = (1= 1t)py + tgy,
where the parameter ¢ € [0, 1], remains valid for the line segment between any two

points (p,,p,) and (¢, ¢,) in the plane.

e A cubic Bézier curve between the node zg = (x¢,yo), with postcontrol point co =
(ps,py), and the node z; = (x1,y1), with precontrol point ¢; = (gs, qy), is defined
by the parametric equations

z(t) = (1 — 1)z + 3t(1 — t)?p, + 3t*(1 — t)q, + 2y,
y(t) = (1 — t)%yo + 3t(1 — t)°p, + 3t*(1 — t)q, + t*y;, 0<t<1.

Bézier curves are widely used in computer graphics for drawing smooth curves
between a given set of nodes.

195
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10.2 Polar Coordinates

Polar coordinates (r,0) are related to the usual Cartesian coordinates (x,y) by

x =rcosb,

y =rsiné.

Remark: Polar coordinates are not unique:

x =rcos(6 + 2mm),
y = rsin(f + 2mmn),

specify the same point for all integers m. Also, the points (r,0 +7) and (—r, 0) are
identical and (0, 0) denotes the origin for all 6.

e Describe the circle (z — a)? + y* = a* in polar coordinates.

2?2+ 9y* —2ar =0
= 7> —2racosf =0
= r(r —2acosf) =0

=r=0o0rr=2acos0.

Remark: Thus, a point on the circle (z —a)? +y* = a? is either the origin (r = 0) or
else it lies on the curve r = 2a cosf. In fact, since the origin is already contained
in the second solution r = 2acosf (at § = 7/2), this equation alone generates the
entire curve.
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Y (z,y)

(2a,0)
rcosf T

Remark: Notice that 6 varies from 0 to 2w, the point (r,#) moves twice around
the circle (this corresponds to an elementary result from geometry that the angle
subtended by an arc measured at the center of a circle is twice that measured on
the circumference).

Q. Can we compute the area of a region bounded by a continuous curve, say r =
f(6) > 0 for 0 € [a, b], in polar coordinates?

A. Yes. Let P be a partition of [a,b]. If f is continuous, there exists points 0,
and 0* where f takes on its minimum and maximum values, respectively, in
each subinterval of P.

The area contribution A4 from each subinterval of width Ay must lie between
the areas 72Ay/2 bounded by the circular arcs r = f(6,) and r = f(0*):

P05 < Au < P00

2 2 (O*
= lim L&k)g lim ES lim w
Ag—0 2 Ao—0 Ag T Ag—0 2
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Since lim f%(6,) = lim f%(6*) = £?(6), we see from the squeeze principle that
Ag—0 Ag—0

dA 1, 1,
o=t (9):,14_5/“9)619.

e The area enclosed by the circle r = a is

1 27
—/ a’df = ma’.
2 Jo

e To find the area enclosed by the circle r = 2a cos 6, we must be careful to restrict 6
to [0, 7] (one loop around the curve):

1 [7 T 1 20 in201"
—/ 4a% cos® 0 df = 2a2/ cos?0dh = 2a2/ - heosst df = a® {9 + S } = ma?;
2 Jo 0 0 2 2 |,

this is consistent with our earlier observation that r = 2a cos 8 describes a circle of
radius a.

e The area enclosed by the cardioid r = a(1 + cos )
Y

(a,0) (2a,0)

T

is given by

1 27 a2 27 a2
5/ a2(1+cos«9)2d8:§/ (1+2€os€+cos29)d9:?(27r—|—7r):
0 0

3ra’

Problem 10.1: Find the area enclosed by the circle r = 3a cos 8 that lies outside the
cardioid r = a(1 + cos ).

The two curves intersect when 3 cos @ = 1+4cos 6; that is when cos @ = 1/2. This happens
at the angles § = 7/3 and § = —n /3. The desired area is thus

1 w/3 w/3
2/ [9a% cos® § — a®(1 + cos 0)?] df = a2/ [9cos® 0 — (1 +2cosf + cos®§)] do
—7/3 0

/3 w/3
:a2/ (800s20—1—2(:os9)d6?:a2/ [4(1 4 cos20) — 1 — 2cosb] db
0 0

/3
= aQ/ (3 +4cos 260 — 2cos ) df = a*[36 + 2sin 260 — 251110]3/3 = 7a®.
0
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Remark: To compute the first derivative of a curve parametrized by ¢, one needs to
use the Chain Rule to convert the derivative with respect to t to a derivative with
respect to x:

dy
dy _ dt
de  dx’
dt
Problem 10.2: Find the slope of the tangent to the cardioid r(6) = 1+ sinf at
0 =m/3.
Since x(f) = r(0) cos§ and y(0) = r(#) sinf we find at § = 7/3 that
dy
dy _ do
de  dx
db

' (0) sin @ + r(0) cos 6

r'(6) cosf — r(f) sin 6

cosfsinf + (1 4 sin ) cos o

cosf cosf — (1 + sinf)sinf
cos (1 + 2sin0)

1 —sin?6 — (1 +sind)siné

cos§(1 + 2sin6)
(1 —2sin0)(1+sinb) |,
= -1

Problem 10.3: A plane curve is given by the polar equation

r(0) = V7 + 4sind.

(a) Find a Cartesian equation for the tangent line to the curve at the point (7 /6).
The slope of the tangent is equal to
dy dy/d®  r'sinf+rcosd

dr  dr/d§  1'cosf —rsin’

Here, if 6 = /6,

r(7/6) = /7 + 4sin(7/6) = 3

, 4cosf V3
r'(m/6) = ———— = —.
2VT+4sinf|p—r/6 3

and
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So the slope of the tangent when 6 = 7/6 is

dy|  _B-3+3-% 53
dxez,n_/ﬁ ?.@-3.% 3

and the point on the curve at § = 7/6 is (rcos 6, rsinf) = (i %) Therefore the tangent

line is
3 5/3 ( 3\/§> 53

2 3 2 -

(b) Find the area A of the region that lies outside the above curve and inside the
cardioid r(f) = 2(1 + sin 9).
First, we need to find the interval for 6 satisfying

2(1+sinf) > V74 4sin 6.
On squaring this inequality, we find
4(1 +sin0)* > 7+ 4sinf = 0 < 4sin? 0 + 4sinf — 3 = (2sinf — 1)(2sin + 3),

which implies that sinf > 1/2, i.e., 7/6 < 6 < 57/6. Thus, the area of the region is

57r/6 57r/6
/ 1+ sin )] 246 — / —(7+ 4sin6) db
1 57/6 1 5m/6
2/ (4sin® @ + 4sin f — 3)d6—2/ (—2cos(20) + 4sinf — 1) do
/6
1 57/6
7[—811129 40059—9} :@—E
2 /6 2 3

Remark: To compute the second derivative of a curve parametrized by ¢, we need
to use the Chain Rule twice:

, dy
d*y ddy dt d[ g

i drde dr dt| do
dt

Remark: To find the area between the curve (x(t),y(t)) and the x axis, we can use
the fact that dz = 2/(t) dt to express the area as an integral over ¢:

/ydx:/yta:’tdt
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e For example, for z(t) = e’ and y(t) = ¢, the area between the curve (x(t),y(t))
and the x axis fromt =0tot=11is

1 1 1
/ydm = / y(t)'(t) dt = / ote’ dt = [2t€t](1)—/ 2¢! dt = 26—2[€t](1) = 2e—2(e—1) = 2.
0

0 0

10.3 Cylindrical Coordinates

Objects that are symmetric about an axis (aligned with the z axis) can be conve-
niently described using polar coordinates on the zy plane with an added z coordinate
that describes height above the xy plane. In ISO standard 31-11, these cylindrical
coordinates are written (p, @, z), using

T = pcosp,
y = psing,
z =z,
where ¢ € [0, 27].
z

>
>

e The right circular cylinder 2 + y* = a? can be simply described in cylindrical
coordinates as p = a.


https://www.math.ualberta.ca/~bowman/m101/fig/cylindricalcoord.html
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e The right circular cone 22 + 3% = 22 can be simply described in cylindrical coordi-
nates as p = z.

10.4 Spherical Polar Coordinates

Objects that exhibit spherical symmetry are more conveniently described with spher-
ical polar coordinates, written in ISO standard 31-11 as (7,60, ). Here r is the length
of the vector r = (z,y, z) and the co-latitude 6 is the angle between r and the z axis,
so that z = rcosf. The angle ¢ is the angle in the xy plane relative to the positive x
axis of the projection, of length p = rsin, of r onto the xy plane. Since z = pcos ¢
and y = psin p, we find that

x = rsinf cos g,

y = rsinfsin g,

z =rcosb,

where 6 € [0, 7] and ¢ € [0, 27].

>
>
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Problem 10.4: Find the Cartesian coordinates (x,y, z) for the point described by
the spherical coordinates (1,60, ) = (2,7/3,7/4).

(V/3/2.v/3/2.1).

Problem 10.5: Find the spherical coordinates (r, 6, ) for the point described by the
Cartesian coordinates (x,y, z) = (0,2v/3, —2).

(4,27/3,7/2).

Problem 10.6: Find the spherical coordinates (r, 0, ¢) of the point with cylindrical
coordinates (p, p, z) = (3, %”, \/5)
Since 22 +y% = p? = 9, we see that r = /22 + 32 + 22 = 2¢/3. Then z = r cos § implies
)
that cos = z/r = %, so that § = /3. Thus (r,0,¢) = <2\/§, g, 67T>
Surfaces in spherical coordinates can be described by a function r = (6, ¢), just
as curves in plane polar coordinates can be described by a function r = r(9).

e The surface r(6,p) = sinfcosy can be expressed in Cartesian coordinates by
considering

, x
r =sinfcosyp = —,
,

so that

x2—|—y2+z2=r2:x.

On completing the square, we obtain a sphere of radius % centered at (%, 0,0):

N, o, 1

10.5 Vector Functions and Space Curves

While parametric equations in three dimensions can be expressed in component form,
in terms of three functions x = z(t), y = y(t), z = z(t), it is often more convenient
at each t to bundle all three components into a vector (x(t),y(t), z(t)).

Definition: A wvector-valued function or vector function is a function from a domain
to a set of vectors.
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Definition: The special case of a vector function that maps values from R to R? is
called a space curve.

e The vector function 7r(t) = (x(t),y(t), 2(t)) maps each real value ¢ to a point in
(2(t), y(t), =(2)) in B.

e The vector function r(t) = (¢,2 + 3t,4 4 5t) for t € R describes the line in three
dimensions that passes through (0,2,4) and is parallel to the vector (1,3,5).

e The vector function (cos 27t, sin 27t, t) for ¢ € [0, 1] describes a helix:

0.8
0.6
7 0.4
0.2

e The vector function that describes the curve of intersection of the circular cylinder
22 + y?> = 1 and the plane y + 2 = 2 can be easily found using cylindrical polar
coordinates (pcosp, psinp, z), with p = 1 and ¢ € [0,27]. The equation of the
plane becomes z = 2 — y = 2 — sin ¢, so the parametric equation for the curve of
intersection is the ellipse (cos ¢, sin ¢, 2 — sin ¢) for ¢ € [0, 27].

Remark: To do calculus on vector functions, we first need to extend the notion of a
limit to vector values.

Definition: If r(t) = (x(),y(¢), 2(t)), then limr(¢) = (limz(¢), lim y(t),li_r}r; 2(t)).

t—a t—a t—a t

Definition: If r(t) = (x(t),y(t), z(t)), then v'(t) = (2'(t), y'(t), 2/ (t)).


https://www.math.ualberta.ca/~bowman/m101/fig/helix.html
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Definition: If 7(t) = (z(¢),y(t), 2(t)), then [r(t)dt = ([ x(t)dt, [y(t)dt, [ z(t) dt).

Definition: A curve described by the parametrization 7(t) is called smooth if /()
is continuous and r'(t) # 0.

Definition: A cusp of the curve r(t) is a point where the vector r'(t) is zero and at
least one of its components changes sign.

Definition: A smooth curve exhibits no sharp turns, reversals, or cusps.

Remark: The direction of the tangent line to a smooth curve 7(t) is given by the
vector 1'(t). The unit tangent vector T is therefore

The unit tangent vector T changes slowly when the curve is straight and rapidly
when the curve bends or twists.

Remark: Since T is a unit vector, its magnitude is constant. This means that

d ..o d
0=—1|T|"=—(TT)=T"-T+T-T =2T"T.
| TI" = —(T"T) +
Thus, at every point of a curve, the derivative T" of the unit tangent vector is

always perpendicular to T'.



Chapter 11

The Geometry of Space

11.1 Lines and Planes

e The parametric equation of a line through p and q in R" is
v=(1-t)p+igq,

where t is a real parameter.

e If we express the above parametric form as

v=p+tiqg—p)

and denote p = (xo,%0,20) and ¢ — p = (a,b,c), we obtain the point-direction
parametric equation of a line through the point (xg, o, 20) in the direction (a, b, ¢):

(IE, Y, Z) = (l’o, Yo, ZO) + t(av b7 C)'
e To obtain the symmetric equation of a line we eliminate ¢ by solving for and equating
the expression for ¢ in terms of each component:

T—To Y—Y% _ 2~ %0
a b c

Remark: In two dimensions, lines either intersect or are parallel. In three dimensions,
there is a third possibility, as illustrated in Figure 11.1.

e two lines can intersect; e.g. the x axis and the y axis.
e two lines can be parallel; e.g. the line (0,¢,1) for ¢ € R and the y axis.

e two lines can be skew; e.g. the line (0,¢,1) for ¢ € R and the z axis.

206
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Figure 11.1: The x and y axes intersect; the red line is parallel to the y axis; the red
line and the x axis are skew.

e A plane is determined by a point (¢, yo, 20), through which it passes, and a vector
(a, b, c), called the normal, that is perpendicular to every vector (x,y, z)— (o, Yo, 20)
in the plane:

(a,b,¢) - (x —xo,y — Yo, 2 — 20) = 0.
o If we let d = axg + byg + czo, then the equation of a plane becomes
axr + by +cz =d.
Problem 11.1: Find the point of intersection of the plane x + 2y — z = 6 and the
line through two points (1,0, 1) and (2, —1, 3).
Let (z,y, z) be the intersection point. Then
(z,y,2) = (1,0,1) + £[(2,—1,3) — (1,0,1)] = (1 +t, —t, 1 + 2¢).
Since (z,vy, z) also lies on the plane z + 2y — z = 6, we find from
(14+t)+2(-t)—(1+2t)=6
that ¢ = —2. Thus (z,y,2) = (—1,2,-3).
Remark: In general, the (perpendicular) distance of a point (X,Y, Z) from a plane
(a,b,¢) - (x —x0,y — Yo, 2 — 20) =0,
passing through (zg, yo, 20) and with unit normal (a, b, ¢)/v/a? + b? + ¢? is given by
B (a,b,c) (a,b,c) - (X,Y,Z)—d
Va2 + b2+ ¢ Va2 + b2+ ¢

where d = axg + byy + czp. In particular, on setting (X,Y,Z) = (0,0,0), we see
that |d| /v/a? + b2 + ¢? is the distance of the plane from the origin.

(X —20,Y —y0, Z — %)



https://www.math.ualberta.ca/~bowman/m101/fig/skewlines.html
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Problem 11.2: Determine the distance between the point (0,1,1) and the plane
containing (1,0,0), (—=1,1,0), and (1,—1,1).
The normal to the plane must be perpendicular to (—1,1,0) — (1,0,0) = (=2,1,0) and
(1,-1,1) = (1,0,0) = (0, —1,1). It therefore lies in the direction

i § ok
—2 1 0|=(1,2,2).
0 -1 1

The distance D of the point (0,1,1) from the plane is then given by the length of the
projection of the vector (0,1,1) — (1,0,0) = (—1,1,1) in the direction (1,2,2):
(-L1D)-(1,22)|_3 _,

V12422 422 3

Alternatively, D can be computed as the distance of the point (0,1,1) from the plane
(r—1)+2y+22=0,

D =

or equivalently,
T+ 2y+2z=1.

One then finds L0492 14911 3
o R b A ) N
V12 422 422 3

Problem 11.3: Find the distance between the lines (7t + 1, —4t,2t + 1) and (5s —
1,—s+1,7s — 1).

Since the lines are not parallel, they either intersect or are skew. In either case, the
lines belong to two parallel (possibly identical) planes. Our strategy is to first find parallel
planes containing these lines and then find the distance between the two planes. The normal
vector m to these planes must be perpendicular to the line directions (7, —4,2) and (5, —1,7):

i § k
=(7,-4,2)x(5,-1,7) = |7 —4 2|=(-26,-39,13),
5 -1 7

which is parallel to (2,3, —1).
The distance between the planes is then given by the length of the projection of the
vector (1,0,1) — (—=1,1,—1) = (2,—1,2) in the direction (2,3, —1):

(2a_172)(273a_1) 1
D= = .
V22 +32 4+ 12 V14

Alternatively, the distance between the planes can be computed as the distance between
the point (1,0,1) on the first line and the plane

0=2(zx+1)+3y—-1)—-1z+1)=22+3y—2—2

containing the second line:

‘2.1+3-0—1.1—2' 1
V22 132412 V14’
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e The parametric equation of a plane spanned by uw and v through rq is given by
T =17y +tu + sv,

where t and s are real parameters.

11.2 Cylinders

Definition: A cylinder is composed of all lines in a given direction that pass through
a given plane curve.

e The set of points (x, y, z) such that 22+y* = a? represents a cylinder of radius a (and
infinite height). The intersection of this cylinder with every plane z = constant is
a circle of radius a.

e The set of points (x,y, z) such that y = z? is a parabolic cylinder, composed of

infinitely many vertically shifted copies of the parabola {(z,x?,0) : z € R}.

Problem 11.4: Show that the surface
v 422 =4

is an elliptic cylinder parallel to the x axis, with major radius 2 (in the y direction)
and minor radius 1 (in the z direction).

Problem 11.5: Show that the intersection of the sphere » = 2 with the plane x—y = 0
lies on two elliptic cylinders. Determine the major and minor radii of these elliptic
cylinders.

In spherical polar coordinates, the plane x = y simplifies to ¢ = /4. Since cosp =
sin p = 1/4/2, any point (z,y, z) on this intersection satisfies

z=+/2sinf
y =2sind
z = 2cos0,

where 6 € [0,7]. We then see that 222422 = 4sin? §+4 cos? § = 4 and similarly 2y%+22 = 4.

From the equations
() + ()=
V2 2/

(&)« =

we see that the elliptic cylinders have minor radii of v/2 and major radii of 2.

and



210 CHAPTER 11. THE GEOMETRY OF SPACE

11.3 Quadric Surfaces

Definition: A quadric surface is the generalization of a conic section to three dimen-
sional space. The form of a general quadric surface,

A + By* +C22 + Day+ Eyz + Faz+ Gr + Hy = Iz + J,
may be reduced to one of the two standard forms
A + By +C2* =J
or
Ax? 4+ By? = Iz,

by appropriate translation and rotation of the coordinate axes.

Remark: To visualize such a three dimensional surface, it helps to draw the various
cross sections or traces obtained when one of the coordinates is held fixed.

e The cross sections of an ellipsoid 22 /a? + y*/b* + 2?/c® = 1 obtained by holding z
fixed (thereby slicing the object with a plane parallel to the xy plane) are the
ellipses

with k% =1 — 22 /c2.

Remark: By stretching the axes by positive constants it is possible to put each
standard form for a quadric surface into one of the following canonical forms:

e With appropriate stretching of the coordinate axes, the ellipsoid takes on the form
of a sphere 22 +¢y% + 22 = 1:



https://www.math.ualberta.ca/~bowman/m101/fig/ellipsoid.html
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e The hyperboloid of one sheet has the generic form 2% + y? — 22 = 1:

e The hyperboloid of two sheets has the generic form —x? — y? + 2% = 1:



https://www.math.ualberta.ca/~bowman/m101/fig/hyperboloid.html
https://www.math.ualberta.ca/~bowman/m101/fig/hyperboloid2.html
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e The elliptic paraboloid has the generic form z = 22 + y*:

e The hyperbolic paraboloid has the generic form z = 22 — y*:



https://www.math.ualberta.ca/~bowman/m101/fig/paraboloid.html
https://www.math.ualberta.ca/~bowman/m101/fig/hyperbolicparaboloid.html
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Problem 11.6: Find an equation for the surface consisting of all points (z,y, z) that
are twice as far from the point (0,0,4) as they are from the plane z = 1. Sketch
and identify the surface.

The distance between (z,y,z) and (0,0,4) is equal to /22 + y2 + (2 —4)% and the
distance of (z,y, z) from the plane z =1 is |z — 1|. We thus want

2+ y? (2 —4)2 =[2(z - 1))

This expands to
22+ 2+ 22— 82416 = 42% — 8z + 4,

which reduces to the hyperboloid of two sheets

322 — 2?2 —y2 =12.



https://www.math.ualberta.ca/~bowman/m101/fig/hyperboloid2b.html
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e The equation
-yt =1
describes a hyperboloid of one sheet about the y axis. On constant x surfaces the
trace is a hyperbola

22—yt =1-—2a
On constant z surfaces the trace is also a hyperbola:
-yt =122
However, on constant y surfaces the trace is a circle of radius /1 + y?:

2+ 22 =1+~

e The right circular cone x* +y? = 2? is a degenerate limit of the hyperboloid of one
sheet.

Remark: Recall that the parabola is the equation of all points equidistant from a
focus point and a line called the directriz. Similarly, the elliptic paraboloid is the
equation of all points equidistant from a focus point and a given plane. For example,
if we take the focus to be the point (0,0,a) and the plane given by z = —a, we
find the distance from P = (z,y, 2) to the focus to be \/x2 + 2 + (z — a)?. If we
equate this to the distance z + a of P from the plane z = —a, we obtain

2+ 9’ + (2 —a)? = (2 +a)?,
which simplifies to the paraboloid

2% +y* = daz.

Problem 11.7: Find an equation for the surface consisting of all points that are
equidistant from the point (0, 1,0) and the plane y = —1. Sketch and identify the
surface.

Let (x,y,z) be a point on the surface. Then the distance between (z,y, z) and (0,1,0)
is equal to \/22 + (y — 1)2 + 22 and the distance from the plane y = —1 is |y + 1|. So

4 (y—1)72+22=(y+1)>%

On simplifying, we obtain the paraboloid 4y = 22 4 2°.


https://www.math.ualberta.ca/~bowman/m101/fig/paraboloid2.html
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Remark: The traces of the hyperbolic paraboloid z = z? — y? are a hyperbola on
constant z surfaces and parabolas on constant x and y surfaces, as seen in the
following figure.
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Chapter 12

Arc Length, Surface Area, and
Curvature

12.1 Arc Length

Suppose x(t) and y(t) are functions on [a,b] with continuous derivatives. We have
seen that the equations

r=ux(t), y=y)
provide a parametric representation of a smooth curve (z(t),y(t)) in R? in terms of
the parameter t.

As a special case, we could take z(t) = ¢ and y(¢) = f(t). The points (t, f(t))
describe the familiar graph of the function f(t). However, the parametric representa-
tion allows us to describe relations, such as circles, that are not the graph of a single
function.

Q. What is the length of such a curve?

A. To answer this question, we must first define the notion of what we mean by
the “length” of a smooth curve. What we seek is an extension of Pythagoras’
Theorem, which allows us to calculate the length of line segments in terms of
their endpoints, to general curves.

Definition: The arc length or path length s(t) of a smooth curve (z(t),y(t)) on |a, b
is the unique differentiable function s(t) that satisfies s(a) = 0 and the property
that

s(t+h) — s(t)

e e B — e F E T h) s OF (121)

for all t € [a,b). That is, the difference between the path lengths s(t + h) and s(t)
to any points P = (x(t),y(t)) and Q = (x(t+h), y(t+h)) on the curve, respectively,

216
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should reduce to the length of the straight line segment joining P and () in the
limit ~ — 0 (in which case Q — P).

Yy s(t+h) Q= (x(t+h),y(t+h))
s(t :yﬁ+h)MUS®):L
P = (a(t),y(t) s !
x(t+ h) — x(t)
s(a) =0
a b L

Upon dividing the numerator and denominator on the left-hand side of Eq. (12.1)
by h we see that
lim s(t+h) — s(t)
h—0+

i [N gy [t

This gives us a formula for the derivative of s(t) for every t € [a, b],

s'(t) = V' ()] + [y ()] (12.2)
Upon integrating this result from a to b, we find an expression for the arc length
L = s(b) of a curve (z(t),y(t)) on [a,b]. Since s(a) = 0, we have

Mﬁw@—d®=/5@ﬁ=/v%%W+WW”t

=1.

Remark: One can think of each point on the curve (z(t),y(t)) as the position of a
point in R? at each time ¢. The integrand \/[2/()]? + [v/(¢)]? is just the magnitude
|v| of the wvelocity vector v = (2/(t),y'(t)). The arc length, being the integral of
the speed |v| with respect to time, is then seen to be the distance travelled by the
point (z(t),y(t)) over the time interval [a, b].

Remark: An easy way to remember the arc-length formula is to multiply Eq. (12.2)
formally by dt and square the result:

ds? = da® + dy>.
This can be thought of as a statement of Pythagoras’ Theorem for differentials.

The arc length can then be computed by integrating ds between t = a and t = b,
remembering that dz = 2/(t) dt and dy = y/(t) dt.
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e A circle of radius » > 0 centered on the origin can be described either by the
equation 2% + y* = 72 or in parametric form as (r cost, rsint) for ¢ € [0,27]. The
circumference of the circle is then given by

27
/\/ t)]2dt = /\/TQSlnt+r2c082tdt /rdt:27r7“.
0

Remark: If the curve (x(t),y(t)) for t € [a,b] can be described by a differentiable
function y = , then

s—/J () e [ () e [ e

e We could also compute the circumference of a circle as twice the arc length of the

function f(z) = vr?2 — 22 on [—

W e Oy
- /\/:dx‘””/ Nr=h

=4r / du = 4rfarcsin )}, = 27r,
0 —u?

where we have used the substitution u = x/r.

Remark: Of course, we can also express arc length as an integral in y:

b dz\? dy dx
_ bt -7 1
S /a \/ ( dt) + dt dt = / dy —i— dy.

e Find the arc length L of the parabola y* = x between (0,0) and (1, 1).

Since dx/dy = 2y, we know that L = fol V(2y)?2 + 1dy. Let 2y = tan6, so that
2dy = sec?0df. Then

1
/\/4y2+1dy:§/sec 0df = — (sec9tan9—i—log\sec9+tan9|)

using a result from page 137. Thus

1 L1
= Z[Qy\/élgﬁ +1 —l—log‘\/ély? +1 +2yHO = 1[2\/5—1—105:{ (\/5—1—2)}
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Problem 12.1: A quadratic Bezier approximation to a quarter unit circle is described
by the curve z(t) = 1 — t? and y(t) = 2t — t?, with ¢ € [0,1]. Show that the arc
length of this curve is 1+log(1++/2)/v/2. Hint: Recall that sinh ™' 1 = log(1++/2).

Problem 12.2: A wheel of radius 1 is initially centered at (0,0). The point on its
surface at (1,0) is marked with a dot. The wheel then rolls along the line y = —1
one complete rotation.

The position of the marked point at any time ¢ € [0, 27] is given by the parametric
equations z(t) =t + cost, y(t) = —sint. Find the arc length L of the path traced
out by the point (indicated above by the dotted curve).

Hint: Try multiplying the integrand by \/:m Be careful about signs when

simplifying square roots!

27 27
L= Va'2(t) +y'2(t) dt = V(1 —sint)? + cos2 t dt
0

0

27 27 27 . .
1 —sinty/1 t
= \/1—2sint+sin2t+0082tdt—\/5/ V1 —sintdt = V2 4 sinfvl +sin dt

0 0 v14sint
2m V1—sin"t sin? 2 _cost| 37/2 |cost
V1 +sint V1 +sint —r/2 V1+sint
t 5”/2 —cost
— 2 8 gy \@/ LY
—n/2 V1+sint 2 V1+sint

3m/2

—2va[vidsmd] " - 2va[ViTsin

:m[ﬂ_o}_m[o_ﬁ}:s.

/2


https://www.math.ualberta.ca/~bowman/m101/fig/wheel.mp4
https://www.math.ualberta.ca/~bowman/m101/fig/wheel.mp4
https://www.math.ualberta.ca/~bowman/m101/fig/wheel.mp4
https://www.math.ualberta.ca/~bowman/m101/fig/wheel.mp4
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12.2 Arc Length in Polar Coordinates

Q. How can we, using polar coordinates, find the arc length of a curve r = r(6) for
0 € [a,b]?

A. Use the fact that 2(0) = r(6) cos# and y(6) = r(#) sin 6:

/ds_/m_w (Y

/ V[r'(0) cos 8 — r(6) sin 0]2 + [r'(0) sin 6 + r(6) cos 0]2 d

= / V2 +r2df.

e The circumference of a circle described in polar coordinates as r(f) = a is thus seen

to be fozﬂ \/?d& = 27a.

e Consider the circle of radius a centered at (a,0) described in polar coordinates as
r() = 2acosf. Recall that as 6 varies from 0 to 27, the point (r,#) moves twice
around the circle. Therefore, in order to compute the arc length of this curve, we
should only integrate from 6 = 0 to 6 =

/ Va2 sin? 0 + 4a? cos? 0 df = 7(2a) = 27a.
0

Problem 12.3: Find the length of the cardioid 7(6) = 1 4 cos 6.

Problem 12.4: Using the polar coordinates (r cos,rsin ), consider the curve r =
() = e~ for 6 € [0, 00), where a > 0.
(a) Sketch the graph of this curve for a = 5=
(b) Show that the total arc length L = [ +/r> +12df of this curve is finite.
Evaluate L in terms of a.

Problem 12.5: In polar coordinates, (z,y) = (rcosf,rsinf), consider the curve
1

r(0) = 5o for 6 € [0, 00).
(a) Sketch this curve on an zy graph.
Y
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(b) Express the arc length of this curve as an improper integral.
Since 7/(0) = —1/(1 + 6)?,

o 1 1 < 1 1 <1 /1
= | \=+—du= [ =/ +1du.
/0 \/(1+9)4 + (1407 do /1 A —|—u2 du /1 Nz + 1du

(¢) Does this curve have finite length? Justify your answer.
No, the integral diverges:

0<-< — +1
u

1
U

SR

oo
1
and / — du diverges, so we know from the Comparison Test that
1

u
<1 1
/ “\/ 5 + 1du
1 u u

also diverges.

12.3 Arc Length in Three Dimensions

In three dimensions, the arc length formula generalizes to

/ VEOE T OP T FOPd,

which can be thought of as the time integral of the speed of the point 7(t):

/ab (1) dt.

e The arc length of the helix (cost,sint,t) for t € [0, 27] is given by

2m 2m
/ V(—sint)2 4 (cost)? + 12dt = / V2dt = 2v/2r.
0 0

Remark: It is often convenient to reparametrize a curve by its arc length, which is
a natural property of the curve that does not depend on a particular coordinate
system. In the above example, we see that the arc length s at parameter value t is
given by

SZ/Otmt:m

s s s
If we change variables from t to s, we can then express the helix as (cos —,sin —, —>

V2 22
for s € [0,2v/27].
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12.4 Surface Area of Revolution

We have already discussed methods for finding the volume of an object that results
when we rotate a smooth curve about an axis. We now consider how to find the
surface area of such an object.

e If we revolve a line segment L about an axis parallel to itself, we obtain a cylinder.
If we cut this cylinder along L and unfold it, we see immediately that its surface
area is given by the product of its circumference 27 and length L: A = 27rL.

2rr

ar
|
|
|
|

In three dimensions, the green shaded region can be wrapped into a cylinder:

e Similarly, the surface area of a cone of slant height ¢ and radius r is given by

A= <2ﬂ) wf?  =mrd.
2l ~~
—— area of

fraction circle of
of circle radius £


https://www.math.ualberta.ca/~bowman/m101/fig/sacylinder3D.html
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27r |

In three dimensions, the two blue lines in the above figure can be joined by wrapping
the green shaded region into a cone:

e A conical band (frustum) is obtained by removing from a large cone of radius r;
and slant height ¢, a smaller cone of radius ry < r; and slant height ¢ with the
same axis of symmetry,

T1

such that (by similar triangles)

h_b6

r T


https://www.math.ualberta.ca/~bowman/m101/fig/sacone3D.html
https://www.math.ualberta.ca/~bowman/m101/fig/frustum3D.html
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The surface area of a conical band may be computed as the difference of the
respective surface areas A; and A, of the large and small cones. We may express this
area as

A = Al — AQ = 7T7’1€1 — 7T7“2£2 = 7T<T‘1£1 — 7”262) = 7T(7”1 +T2)<£1 — gg) = 27T7”£

since r1ly — rol; = 0, where r = (11 + 73)/2 is the mean radius and ¢ = ¢; — {5 is the
length of the sloped edge of the band.

Remark: Thus, the surface area generated by rotating a straight line segment of
length ¢ about an axis a mean distance r away is just 2zr/.

We can now calculate the surface area of the object formed by rotating any smooth
curve about an axis.

Definition: The surface area of the object formed by rotating the smooth curve
(x(t),y(t)) on [a, b] is the unique differentiable function A(t) that satisfies A(a) =0
and the property that

A(t+h) — A(t)

—1,
) VECT ) 2P+ Wl ) —yOF

lim
he0t <r(t) + g(t + h)

for all t € [a,b), where r(t) is the distance of (z(t),y(t)) from the axis of rotation.

Hence

A'(t) = 2mr()\/ [/ (1)) + [y (1)),
so that

A(b) = A(b) — Ala) = 27T/ r(t)V [ (0] + [y ()] dt.

Remark: An easy way to remember this result is to integrate the product of the
circumference 271 (associated with a complete revolution of a point on the curve
about the axis) and the infinitesimal arc length ds = \/dz? + dy?.

e The area generated by revolving the curve y = f(z) for x € [a, b] about the = axis is
b
27r/ ly| ds = 27r/ |f ()] 1+ [f(x)]?de.

e The area generated by revolving the curve y = f(z) for x € [a, b] about the y axis is

zw/m ds:27r/ab|x|\/Wda:.
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e The surface area of a sphere of radius a can be computed by revolving the curve
y = va? — a2 for x € [—a,a] about the x axis. Since dy/dr = —x/v/a? — 22, the

surface area is seen to be

a 2 a
27r/yds:27r/_ay\/1+ﬁd:c:%r/_a\/a?—ﬁ(\/ﬁ) dr = 4ma®.

e Alternatively, the surface area of a sphere of radius a can be computed using the
parametric representation (acost,asint) of a half circle, with ¢ € [0,7]. If we
rotate this curve about the z axis, the surface area is seen to be

27r/yds = 27r/ asintv/a? sin®t + a2 cos? t dt = 27ra2/ sint dt = 2ra®[— cost]y = 4ma®.
0 0

e The surface area generated by rotating the section of the parabola y = 22 from
(1,1) to (2,4) about the y axis can be computed from the formula 27 [z ds =

21 [(x\/da? + dy*:

2 d 2 2
27r/ x“1+(£) dx:27r/ oV 1+ 422 dx
1 1
. 2 9 %1 2_7T 3 3

1

12.5 Curvature

Remark: If we parametrize a curve with respect to arc length s, the derivative T"(s)
provides us with a convenient measure, independent of parametrization, of how
quickly the curve changes direction.

Definition: The curvature k of a curve with unit tangent vector T parametrized by
arc length s is given by
ar

" las

Remark: Since the arc length up to a point r(¢) on a curve is given by

t
s= [ Wl
0

we see that ds/dt = |r'(t)|. This allows us to express curvature in terms of an
arbitrary parametrization r(t):

_ ‘dT/dt’ ()]

ds/dt | |r'(t)|
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e The curvature of a straight line is zero (since the tangent vector is constant).

e If we parametrize a circle of radius a as r(t) = acosti + asintj, we find 7'(t) =
—asintt + acosty, so that

"(t —asinte ty
= () = asmZ+acosjz—sinti+costj.
[r'(1)] a

T(t)
The rate of change in the tangent vector,
T'(t) = — costi —sinty,
can then be used to find the curvature:

7))
/(1)

We thus see that small circles have large curvature and large circles have small
curvature.

K

a .

Remark: A more convenient expression for curvature can be obtained by noting that

ds
"=1|¢|T = —T
so that ,
oSS g

T @
Then since TXT =0, T-T' =0, and |T'| = 1, we find

ds d’s ds ds\? 9
/ n — _T _T _T/ — - T T/ — / T/ .
Xt =% X(dt2 M7 ) (dt) % T
Thus
B |T/| B |,r,/><,,,//|
| .

e To find the curvature of the twisted cubic r(t) = (¢,¢2,3), first compute
r'(t) = (1,2t,3t%),

and
r"(t) = (0,2, 6t),
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from which we see that |7/(t)|= V1 + 4t2 + 9t*. Also,

i j k
r(t)xr"(t) = |1 2t 3t*| = 6t% — 6tj + 2k,
0 2 6t
so that
|7/ () x 7" ()] = V36t* + 3612 + 4 = 2V/9t4 + 9¢2 + 1.
Thus

t) [P’ xr”|  2v/9t* + 92 + 1
K = = .
P (L 482+ 984

Problem 12.6:
(a) Show that the curve

r(t) = (2+\/§cost,1—sint,3+sint>, teR

lies at the intersection of a sphere and a plane.
Let © =2+ /2cost, y = 1 —sint, z = 3 +sint. Since

(x—2)% 4 (y— 1)+ (2 — 3)% = 2cos’ t + sin’t + sin®t = 2

we conclude that the curve lies on the sphere of radius v/2 centered at (2, 1,3). Also, since
y+2z=1-—sint+ 3 +sint = 4 we conclude that the curve lies in the plane y + 2z = 4. The
curve therefore lies at the intersection of a sphere and a plane, which is a circle. Notice
that the center of the sphere is on this plane and hence the curve is actually a great circle
on the sphere, having the same center and radius.

(b) Find the curvature at an arbitrary point on the curve.

Since the curvature at every point of a circle of radius R is 1/R, we conclude that the
curvature of the curve is 1/v/2.

Alternatively, we can find the curvature of the curve directly from the formula

B |’ xr”|
v
Since
r'(t) = (—\/§sint, —cost, cos t>
and
r(t) = (—\/icost,sint, —sint),
we find that
7 7 k
r'xr” = | —\/2sint —cost cost |=0i— \/ij —V2k.
—V2cost  sint —sint
Hence
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12.6 The Normal and Binormal Vectors

In computer graphics, it is often convenient to represent a curve using a local coordi-
nate system that is aligned with and twists with the curve. One obvious candidate for

one of the component vectors of such a coordinate system is the unit tangent vector
!/

r
T = —. We have already seen that the vector T” is perpendicular to T'. A good

|’
choice for the second component vector is therefore the unit normal
T/
N = .
|T"|

To find a third such vector, we simply take the cross product of T' and IN. This is

known as the binormal vector
B=TxN.

Notice that since T' and IN are unit vectors that are perpendicular to each other, B
is already a unit vector. It is perpendicular to both T and IN.

Remark: The plane spanned by T and N is called the osculating plane; this is the
plane that comes closest to containing the portion of the curve near P. The circle
of radius 1/k that lies in the osculating plane, has the same tangent as the curve at
P, and lies in the direction of N is called the osculating circle or circle of curvature
to the curve at P. It is the circle that at P has the same tangent, normal, and
curvature as the curve itself. The radius 1/k is called the radius of curvature.


https://www.math.ualberta.ca/~bowman/m101/fig/frenet.html
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Remark: The plane spanned by N and B at a point P on a curve is called the
normal plane; this is the set of all vectors that are perpendicular to the tangent
vector T'.

Problem 12.7: Find the equations of the osculating and normal planes of the helix
r(t) = (cost,sint,t) at the point (0,1,7/2).

First note that the point (0,1, 7/2) corresponds to the parameter value t = /2. Since

r'(t) = (—sint,cost, 1)

has magnitude \/(—sin#)2 + cos?t + 1 = /2, the tangent vector is

r'(t) 1 ,
T(t) = = —(—sint,cost,1).
V2
Then 1
T'(t) = —(—cost, —sint, 0).
(t) \/5( )
At t = 7/2 we thus find that T'(7/2) = %(—1,0, 1) and T'(m/2) = —5(0,~1,0). The unit
normal vector at t = 7/2 is thus
T'(r/2)
N(n/2) = ——-— =(0,-1,0).
T"(m/2)|

We can then compute the binormal vector

1 L j k 1
B(r/2) = T(r/2)xN(r/2) = =1 0 1= —=(1,0,1).
0O -1 0

The osculating plane spanned by T" and IN has normal B, which is parallel to (1,0, 1),
and contains (0,1, 7/2):
x4+ (z—m/2) =0.
The normal plane spanned by N and B has normal T', which is parallel to (—1,0, 1),
and contains (0,1, 7/2):
—x+ (z—7/2)=0.

Remark: It is possible to find B directly from r and its derivatives, without first
computing T and IN. From

)
TO = e
we see that ”(t) .
TO= 0 T O
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Since T
N =—,
7|
we see that the direction of B = T'X NN is therefore the same as the direction of

' xr”,

on noting that ' X7’ = 0.

e In Problem 12.7, the direction of B can alternatively be computed by evaluating
r'(t) = (—sint,cost, 1) and 7"(t) = (— cost, —sint,0) at t = 7/2. We find

i j k
r(r/2)xr"(7/2)=|-1 0 1|=(1,0,1).
0 -1 0



(—00,a), 8 arcsin, 61, 64
(—o0,al, 8 Arctan, 63
(a,0), 8 arctan, 62
(a,b), 7 area, 95
(a,b], 7 average velocity, 45
1-1, 61
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cos™t, 64 circle of curvature, 228
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sin~!, 61 closed, 7
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b*, 23 composition, 12
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Absolute Convergence, 177 concave down, 82
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affine, 46 continuous, 40
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converges, 152, 155, 167
convex, 82

cos, 14

cosh, 71

cot, 14

coth, 71
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cross sections, 117

csc, 14

csch, 71

cubic Bézier curve, 195
curvature, 225

cusp, 205

cylinder, 209
cylindrical coordinates, 201

decreasing, 13, 33
definite integral, 96, 101
degree, 12
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derivative, 45
Derivative Notation, 49
differentiable, 45
direction field, 162
directrix, 214
discontinuous, 40
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divergent, 167
diverges, 30, 152, 155
domain, 11
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elliptic paraboloid, 212, 214
equation of a plane, 207
Euler’s, 163

even, 12

expansion point, 181
Extrema, 76

Extreme Value Theorem, 75
extremum, 75

family, 101

family of solutions, 160
Fibonacci, 29

First Convexity Test, 83
First Derivative Test, 80

first-order linear differential equation, 160

focus, 214
frustum, 223
FTC, 100
function, 11

Fundamental Theorem of Calculus, 100

geometric series, 167
global extrema, 76
global maximum, 75
global minimum, 75
graph, 216

great circle, 227
growth rate, 160

harmonic series, 168
horizontal line test, 61
Hyperbolic functions, 71
hyperbolic paraboloid, 212
hyperboloid of one sheet, 211
hyperboloid of two sheets, 211

implicit differentiation, 59
implicit equation, 59
improper integral, 152, 158
increasing, 13, 33
indefinite integral, 101
infinite series, 167
inflection point, 82

initial condition, 160
initial-value problem, 161
instantaneous velocity, 45
integrable, 96

Integral Test, 170
integrating factor, 164
integration by parts, 128
interior local extremum, 75, 76
interior local maximum, 75
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interior local minimum, 75
interior point, 40
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linear, 46

linear differential equation, 164
linear interpolation, 82
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Maclaurin Series, 188
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Mean Value Theorem, 78
method of cross sections, 117
method of cylindrical shells, 124
Midpoint Rule, 111

monotone, 33

MVT, 78
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Newton’s method, 92
Newton-Raphson, 92
node, 195
noninvertible, 61
nonlinear, 46
normal, 207

normal plane, 229

odd, 12

one-to-one, 61

open, 7

osculating circle, 228

osculating plane, 228

parabolic cylinder, 209

parallel, 206

parameter, 216

parametric equation of a line, 206
parametric equation of a plane, 209
parametric form, 195

parametric representation, 216
partial fraction decomposition, 142
partial sum, 167

path length, 216

piecewise, 13

Piecewise Integration, 97

plane, 207
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point-direction parametric equation of a

line, 206
Polar coordinates, 196
Polynomials, 12
postcontrol point, 195
power series, 181
precontrol point, 195
principal branch, 63
proper form, 142
Pythagoras’ Theorem, 15

quadric surface, 210

radians, 16

Radius of Convergence, 182
radius of convergence, 182
radius of curvature, 228
range, 11

Ratio Comparison Test, 178
Ratio Test, 179

Rational functions, 12, 141
reduction formula, 132
remainder, 172, 186
Remainder Estimate, 172
Riemann Integral, 96
Riemann sum, 94

right circular cone, 214
right Riemann sum, 95
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Rolle’s Theorem, 77
Root Test, 180

sample points, 95

sec, 14

secant line, 44

sech, 71

Second Convexity Test, 84
Second Derivative Test, 81
separable, 163

sequence, 29

shells, 123

Simpson’s Rule, 111

sin, 14

sinh, 71

skew, 206

slant asymptote, 90
slope, 45

smooth, 205

smooth curve, 216

space curve, 204

speed, 217

spherical coordinates, 202
Squeeze Theorem, 33

Squeeze Theorem for Functions, 39

step size, 163

strictly decreasing, 13
strictly increasing, 13
Substitution Rule, 104
sufficient, 76
Summation Notation, 26
surface area, 224

Tan, 63

tan, 14

tangent line, 44

tanh, 71

Taylor expansion, 186
Taylor Series, 188
Taylor’s inequality, 187
Taylor’s Theorem, 186
Telescoping sum, 28
trace, 214

traces, 210

transcendental functions, 151

Trapezoidal Rule, 109
Triangle Inequality, 9
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Triangle Inequality for Integrals, 97

Trigonometric functions, 14

unit circle, 15
unit normal, 228
unit tangent vector, 205

vanish, 78

vector function, 203
vector-valued function, 203
velocity, 217

vertical line test, 11
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